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EXECUTIVE SUMMARY

‘ ' . Turkey Point Nuclear Power Station Units 3 & 4
NRC Exammat:on Report No. 50—250/99-301 and 50-250/99-301

During the period of August 30 through September 16, 1999, NRC examiners conducted an
announced operator licensing initial examination in accordance with the guidance of
Examination Standards, (ES) NUREG-1021, Revision 8: This examination lmplemented the
operator licensing requirements of 10 CFR §55.41, §55.43, and §55.45.

Two Senior Reactor Operator (SRO) and five Reactor Operator (RO) applicants received written
examinations and operating tests. The written examinations were administered by the NRC
and the licensee on August 30 1999. The operating tests were administered by the NRC the

week of September 13, 1999.

Operations

. The final submitted written examinations and operating tests met the requirements of
NUREG-1021, Revision 8. (Section 05.1)

« . Allseven of the applicants passed the examination. The examiner identified six
questions where the applicants exhibited knowledge deficiencies. (Section 05.1)

. Deficiencies on the operating test were noted in four areas. (Section 05.1)

‘ . - The examiner identified inconsistent use of procedures. (Section 08.1)




Report Details

Summary of Plant Status

During the period of the examinations both units remained at 100 percent power.
L. Operations
05 Operator Training and Qualifications

"05.1 Initial Licensing Examinations
2\

a. Scope

NRC examiners conducted regular, announced operator licensing initial examinations
during the period of August 30 through September 16, 1999. NRC examiners
administered examinations developed by the licensee's training department, under the

- requirements of an NRC security agreement, in accordance with the guidelines of the
Examination Standards (ES), NUREG-1021, Revision 8. Two Senior Reactor Operator
(SRO) instant and five Reactor Operator (RO) applicants received written examinations
and operating tests.

b.  Observations and Findings

The licensee developed the SRO and RO written examinations, one Job Performance -
Measure (JPM) set, three dynamic simulator scenarios, and one spare scenario. All
materials were submitted to the NRC on schedule. NRC examiners reviewed, modified
as necessary, and approved the examinations prior to administration. The NRC
conducted an on-site preparation visit during the week of August 30, 1999, to validate
examination materials and familiarize themselves with the details of the examination.

Q) Written Examinations Development

The examinations were developed in accordance with NUREG 1021, Revision 8.

(2) . Operating Test Development

The NRC reviewed two walkthrough examination sets submitted by the licensee.
The licensee elected to use Revision 8 of NUREG-1021 for their examination.
Revision 8 removed the requirement for JPM questions. The NRC selected
JPMs from both sets to make one. This set met the guidelines of NUREG-1021.

The NRC conducted a review and validation of the three simulator scenarios
submitted by the licensee. The scenarios met the guidelines of NUREG-1021.






Examination Results

- The NRC and the licensee training department personnel administered the
written examinations on August 30, 1999, in accordance with NUREG-1021,
Revision 8. The examiners reviewed the results of the written éxaminations and
found that all seven applicants passed The examiners concluded that no
significant generic training deficiencies existed. ‘The licensee conducted a post-
examination item analysis of the SRO and RO written examinations. This
analysis identified four questions where both SRO and RO applicants exhibited .
knowledge deficiencies. The analysis also identified one other SRO specific and
one other RO specific knowledge deficiency. The licensee submitted no post-
examination comments. The table below lists the questions, topics and
subsequent miss rate. .

Question # Miss Rate Topic
(RO/SRO/Comb) .
RO#12/SRO#19 4 /2 [6 Preferred extinguishing agent for
. energized electrical without CO2
available
RO#31/SRO#36 2 /11 /3 ~ Minimum actions to reestablish feed

flow using the standby Steam
Generator Feed Pump (SGFP) with
no Main Feed (MF) or Auxiliary Feed
Water (AFW) pumps

RO#52/SRO#56 1 /2 /3 Effect on steam flow and flow control
) valve if controlling Steam Generator
(SG) pressure transmitter fails low

RO#69/SRO#73 2 11 /3 Result or effect seen if during
’ . ' refueling operations a cavity seal

failure occurred

RO#28 3/ /0 Expected response of R-15 and R-
19 radiation monitors from a SG tube
leak after the leaking SG had been

» _isolated

SRO# 20 072 /0 Required identification of energized
480 volt load centers following
control room evacuation

The examiners identified several deficiencies in applicant performance during the
operating examination. Details of the deficiencies are described in each
individual's examination report, Form ES-303-1, "Operator Licensing Examination
Report." Copies of the evaluations were forwarded under separate
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. , i correspondence to the Site Training Manager.' The licensee should evaluate the
. deficiencies and provide appropriate remedxal training for those operators, as

necessary
In general, these deficiencies included the following:

‘- Several applicants had difficulty in adjusting the “High Flux At Shuddown”
alarm associated with the Nuclear Instrumentation system.

- Several applicants had difficulty identifying all of the valves necessary to
establish an acceptable clearance boundary.

- During a loss of heat sink scenario, several applicants chose to rely on
~ the pressurizer Power Operated Relief Valves (PORVSs) as the accepted
bleed path instead of the reactor head vents when PORV/block valve
position was unknown.’ This was inconsistent with procedure 3-EOP-FR-
H.1, Loss of Secondary Heat Sink, Step 18.

- Several applicants failed to diagnose the failure of the turbine runback in a
timely manner. Subsequently, the SG levels decreased to the low level
setpoint requiring a reactor trip.

¢. Conclusion
. All of the applicants passed the examination. The NRC did not identify any significant

generic training deficiencies. However, the NRC did identify six written and four
Performance deficiencies during the exam.

08 Procedures

" 08.1 Quality of Procedures and Procedure usage

“The examiner identified inconsistent use of procedures. Examples included:

- the early trip of the Reactor Coolant Pump (RCP) while preforming JPM B.1.d, .
Respond to Low Pressurizer Pressure.,

- obtaining a key to the Heating, Ventilating and Air Conditioning ( HVAC) key lock
" . test switch during JPM B.1.e, Respond to Brocess Radiation Monitor Alarm, and
trying to manipulate dampers. This was not in accordance with the
Administration Procedure for procedure usage.

- the failure to consistently use Annunciator Response Procedures and Operating
Procedures. When they were used, the use was not always thorough and
detailed. This resulted in some missed procedure steps and actions.

These issues were discussed with the facility following the examination.




X1.

V. Management Meetings

Exit Meeting Summary
At the conclusion of the site visit, the examiners met with representatives of the plant

staff listed on the following page to discuss the results of the examinations and other
issues. No proprietary material provided was provided.

i\




5
PARTIAL LIST OF PERSONS CONTACTED

Licensee:

*R. Bretton, Operations Continuing Training Supervisor

B. Burrows, Assistant Training Manager -

*P. Finegan, Operations Training Supervisor

J. Ferguson, Nuclear Information Systems

S. Franzone, Licensing Manager

*O. Haneil, Licensing Engineer
*D. Jerigan, Plant General Manager
*T. Jones, Operations Manager .
*M. Lacal, Training Manager
*G. Laughlin, Supervisor Initial License Training

W. Prevatt, Operations Supervisor

R. Rose, Maintenance Manager .
C. Rossi, QA Supervisor

D. Tomaszewski, Engineering Manager

NRC:

*C. Patterson, Senior Resident Inspector, Turkéy Point
R. Reyes, Resident Inspector, Turkey Point

* Attended exit interview

~

v . ITEMS OPENED, CLOSED, AND DISCUSSED
Opened:

None
' Closed:
None

Discussed:

None .







‘ _ SIMULATION FACILITY REPORT

Facility Licensee: Florida Power and Light Corporation - Turkey Point Nuclear Station Units
3&4 - ; , )

Facility Docket Nos.: 50-250 and 50-251
Operating Tests Administered on: September 13 - 16, 1999

This form is to be used only to report observations. These observations do not constitute audit
or inspection findings and are not, without further verification and review, indicative of
noncompliance with 10 CFR 55.45(b). These observations do not affect NRC certification or
approval of the simulation facility other than to provide information that may be used in future
evaluations. No licensee action is required in response to these observations.

While conducting the simulator portion of the operating tests, no fidelity or configuration control
items were identified. ;
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U.S. Nuclear Regulatory Commission
Site-Specific
Written Examination

Applicant Information

Name:

Region: 1]

Date: August 30, 1999

Facility/Unit: FPL/TURKEY POINT/384

License Level: RO

Reactor Type: W

Start Time:

Finish Time:

Instructions

Use the answer sheets provided to document your answers. Staple this cover sheet on top
of the answer sheets. The passing grade requires a final grade of at least 80.00 percent.
Examination papers will be collected five hours after the examination starts.

Applicant Certification

All work done on this examination is my own. | have neither given nor received aid.

1

Applicant's Signature

Results -
Examination Value .Points
Applicant's Score Points
Applicant's Grade Percent







‘ ' QUESTION: 001

The following conditions exist on Unit 3:

- The operators are responding to a misaligned D Bank, Group 2, control
rod using 3-ONOP-28.1 “RCC Misalignment.”

- The appropriate lift coil disconnect switches have been placed to the
disconnect position.

Which ONE of the following Power Cabinets will be the source of the Urgent Failure
alarm that occurs when the operator initiates rod motion?

a. 1AC
b. 1BD
c. 2AC

d. 2BD







‘ ~ QUESTION: 002

The following conditions exist on Unit 3.

-+ The “POWER BELOW P-8" status lamp is NOT lit.

- The 3A RCP experiences a sheared shaft.
Which ONE of the following correctly describes the applicable reactor trip logic?
The reactor will:

a. trip due to a single RCS loop low flow signal.

b. trip due to a single RCP breaker open signal.

c. not trip because two RCS loops must have low flow signals.

not trip because two RCPs must have breaker open signals.




‘ QUESTION: 003

The following conditions exist on Unit 4:

Operators are performing ES-O.Z, “N-atural Circulation Cooldown.”
All systems are operable except the RCPs and Channel A of QSPDS.

The NPS determines a cooldown rate in excess of 25°F/hr is required.

Which ONE of the following describes the correct operator action?

a.

Increase the cooldown rate to a rate not to exceed 60°F/hr and remain in
ES-0.2. '

Increase the cooldown rate to a rate not to exceed 100°F/hr and remain in
ES-0.2. ’

Transition to ES-0.3, “Natural Circulation Cooldown with Steam Void in
Vessel (With RVLMS).”

Transition to ES-0.4, “Natural Circulation Cooldown with Steam Void in
Vessel (Without RVLMS).”




‘ QUESTION: 004

The following event occurs while Unit 4 is'in Mode 3:
- RCS Tavgis 520°F.
- Both NIS Source Ranges indicate an unexplained increase in count rate.

- The RCO initiates emergency boration per ONOP-046.1 “Eme'rgency
Boration.”

|

; - All equipment functions as designed.

|

| Which ONE of the following is correct for emergency boration termination?
|

Emergency boration may be terminated when:

a. Tavg is greater than 525° F.

b. Source Range count rates are stable or decreasing.
. ) S a minimum of 9 minutes has passed since boration initiation.
d. a minimum of 39 minutes has passed since boration initiation.




QUESTION: 005

A total loss of CCW occurs on Unit 4 while at 100% power.

Which ONE of the following is correct?

Damage will occur quickest to the Charging pump:
a. oil pump with the Charging pump run at minimum speed.
b. oil pump with the Charging pump run at maximum speed.

c. fluid drive coupling with the Charging pump run at minimum speed.

d. fluid drive coupling with the Charging pump run at maximum speed.







QUESTION: 006

Unit 3 is in Mode 1 when operators responded to PRZ pressure transmitter, PT-445,

failed high.

The following stable conditions now exist:

- ReactorPower . 80%

- Tavg 572 °F

- PRZ Pressure 2150 psig
- PRZ Level 48%

Which ONE of the following is the operator response required by Technical
Specifications? )

a. Restore PRZ level to greater than 48%.
b. Restore PRZ pressure to greater than 2200 psig.

c. Reduce Tavg to less than 570°F.

d. Reduce Reactc;r Power to less than 75%.




QUESTION: 007
The following conditions exist on Unit 3:

- The unit is at 2% power. _

- All MSIVs are closed.

- A steam line break occ;xrs on the 3‘A S/G at the safety header.
Which ONE of the following describes the plant response given these conditions?
SI will occur when:

a. Tavg decreases to 543°F.

‘b. containment pressure increases to 4 psig.

C. 3A S/G pressure decreases to 485 psig.

e

3A S/G pressure decreases to 614 psig.







QUESTION: 008

Unit 4 operators have just transitioned to FR-P.1, “Response to Imminent Pressurized
Thermal Shock Condition.”

The following conditions exist:
- AFW is not available.

- The “A” Standby Feedwater Pump is being used to maintain S/G
inventory.

Which ONE of the following indications should be used to 06qu feed water flow?
Ijse changes in:

a. RCS presme.

b. RCS temperature.

c. PRZ level.

d. S/G pressure.




‘ QUESTION: 009

The following conditions exist on Unit 3:

The operators have completed the IOAs of ONOP- 014 “Main Condenser
Loss of Vacuum.”

The unit was initially at 750 MWe and 26" vacuum with vacuum slowly
decreasing.

The unit is now at 650 MWe and 23” vacuum with vacuum slowly
decreasing.

Which ONE of the following is the required operator action?

a.

Continue reducing MWe until vacuum stabilizes at greater than or equal to
20.0” vacuum,

Continue reducing MWe until vacuum stabilizes at greater than or equal to
22" vacuum.

Stabilize the plant at the present power level and investiéate the cause of
the low vacuum condition.

Trip the reactor and turbine arid perform the actions of E-0, “Reactor Trip
or Safety Injection.”




QUESTION: 010

Unit 3 experienced a Loss of All AC Power simultaneous with a complete loss of

Instrument Air.
Operators have restored power to and started the 3A Charging pump.
Which ONE of the following correctly describes the effect on CVCS?

The letdown flowpath:
a. remains open and the charging pump speed goes to minimum.
b. remains open and the charging pump speed goes to maximum.
c. isolates and the charging pump speed goes to minimum.
d. isolates and the charging pump speed goes to‘maximum.

10




‘ ‘ QUESTION: 011

Unit 3 is in Mode 3 with the following conditions:

- A loss of a 120V Vital Instrument Panel has caused VCT level indicator
LI-3-115 to indicate zero level.

- Annunciator A 4/6 “VCT HI/LO LEVEL” is in alarm.

Which ONE of the following is correct for the given conditions?

VCT Auto Makeup:
a. ' initiates and charging pump suction remains aligned to the VCT.
b. initiates and charging pump suction auto swaps to the RWST.

c. is disabled and charging pump suction remains aligned to the VCT.

d. is disabled and charging pump suction auto swaps to the RWST.




QUESTION: 012

The fire team is ‘fighting a class C fire in an energized 480 volt Load Center. All
available CO; extinguishers have been expended and the fire is still not under control.

Which ONE of the following identifies the preferred fire fighting equxpment that should
be used in this situation?

a. Fire hoses with fog nozzles
b. Portable H;O extinguishers

c. | Dry Chemical fire extinguishers

d. Portable Halon fire extinguishers




‘ QUESTION: 013

l
|
Which ONE of the following is an indication or control that is on the Unit 3 Alternate
Shutdown Panel?
|
l

a. 3A EDG voltage indicator
b. RCS Loop Flow indicator
c. “C” AFW pump T&T valve control switch

d. 3A Charéing pump control switch

13







QUESTION: 014

Unit 3 operators are performing step 14 of E-0, “Reactor Trip or Safety Injection” to
determine if Containment Spray is required. Containment pressure is 22 psig.

Which ONE of the following states the reason for verifying Phase B Isolation has
occurred?

To ensure:
a. the MSIVs are closed due to the high Containment pressure.
b. the RCP seals and motors do not overheat.

C. that potential release paths from the containment are isolated.

d. system alignment is correct for containment spray operation.







‘ QUESTION: 015

Operators are responding to an inadequate core cooling condition using FR-C.1,
“Response to Inadequate Core Cooling.”

Which ONE of the following is correct regarding RCP operation?
Ifan RCP is:
a, initially running, it should be left running until it trips by itself.

b. initially running, it should be left running until #1 seal delta P trip criteria
is met.

c. not running, it should be left off until 6% [32%] level is attained in its
associated S/G.

d. not running, it should be left off until 6% [32%] level is attained in any
S/G. |

15




‘ QUESTION: 016

Operators are perfonhing 3-ONOP-041.4, “Excessive Reactor Coolant System Activity,”
and have just reduced Tavg to less than 500°F as directed by the procedure.

Which ONE of the following describes the basis for reducing Tavg to less than 500°F?

a. To block SI in preparation for a controlled cooldown.

b. To allow closing the MSIVs in preparation for a controlled cooldown.

c. 'i‘o prevent the release of activity in the event of a main steam l;ne break
upstream of the MSIVs,

d. To ensure the saturation pressure of the RCS is below the lift pressure of

the atmospheric relief valves.







‘ QUESTION: 017

The following conditions exist on Unit 3:
- The Rod Control System is in Manual.
- Control Bank C is at 225 steps.
- Control Bank D is at 97 steps.

The following event occurs:

- A Rod Control System malfunction causes contmuous rod withdrawal for
10 steps. Rod motion then stops.

Which ONE of the following identifies what the RPIs for control banks C and D should

indicate?
a. Bank C - 225 Bank D - 97
b. Bank C-230 Bank D -97
‘ C. Bank C -230 i Bank D - 107

d.  BankC-235 Bank D - 107 -




‘ QUESTION: 018

The following conditions exist on Unit 3:
- The unit is at 100% power
- A power supply failure in rod control Power Cabinet 1AC results in one
dropped rod in Control Bank A Group 1 and one dropped rod in Control
Bank C Group 1. .
Which ONE of the following actions is correct?
a. Manually runback the turbine.

b. Verify automatic turbine runback.

c. Enter ONOP-28.3 “Dropped RCC” and retrieve both dropped rods.

d. Trip the Reactor and go to E-0 “Reactor Trip Or Safety Injection.”




[




‘ " QUESTION: 019

The following conditior}s exist on Unit 4:
- | Low PRZ pressure SI has occurred.
- All 4 HHSI pumps are running,
. PRZ level is increasing.
- RCS pressure is 1450 psig and decreasing.
- HHSI cold leg flow indication (FI-943) is zero.
- PRT pressure and level are increasing,.

Which ONE of the following describes the events that could have caused these
conditions?

a. A PRZ PORY is open and the HHSI isolation valves, MOV-843A and
MOV-843B, failed to open.

. b.  APRZPORV is open and the HHSI line downstream of the HESI
isolation valves, MOV-843A and MOV-843B, has sheared.

c. A PRZ Spray valve is open and the HHSI isolation valves, MOV-843A
- and MOV-843B, failed to open.

1

d. A PRZ Spray valve is open and the HHSI line downstream of the HHSI
pumps has sheared. .







QUESTION: 020
Unit 3 operators are responding to a small break LOCA.
The following conditions exist:

RCS pressure is 1500 psig.

CET subcooling is 3'8°F.

Containment tempefature is 160°F.

- Containment pressure is 10 psig'.

. Which ONE of the following top border (border targets) should be lit on the

SPDS/ERDADS screens?
a. TRIP RCPs
b. PA

MSL ISOL

o

d.  ADV CNTNMT
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QUESTION: 021

A large break LOCA occurred while Unit 4 was operating at 100% power. The operators
are responding per E-0, “Reactor Trip or Safety Injection”.

Which ONE of the following describes why the RCO verifies the Feedwater Isolation
signal closed the Main and Bypass FW Control valves in step 5 of E-0?

a.

b.

To ensure theﬂsubsequent availability of AFW flowpaths.

To ensure the subsequent availability of secondary heat sink water
sources.

To minimize the potential for RCS cooldown due to S/G overfill.

To minimize the potential for containment overpressurization from
feedwater addition,







QUESTION: 022

Unit 3 operators are performing Step 16 of EOP-ES-1.2 “Post LOCA Cooldown and
Depressurization.”

The following conditions exist:

One Unit 3 HHSI pump is running.

One RHR pump is running.

Two Charging pumps are running at maximum flow.
Containment temperature is 178°F.

CET subcooling is 68°F

RCS Thot temperatures are 320°F.

RCS pressure is 260 psig.

No RCPs are available.

PRZ level is stable at 30%.

Which ONE of the following describes the operating HHSI/RHR pump configuration
when the operators isolate the accumulators?

a.

b.

Zero HHSI pumps, Zero RHR pumps.’
Zero HHSI pumps, One RHR pump.

One HHSI immp, Zero RHR pumps.

Ohe HHSI pump, One RHR pump.







‘ QUESTION: 023

Which ONE of the following describes a condition that would pfevent successful
transition to Cold Leg recirculation?

a.

Only one of the RHR Pump Suction Stop valves, MOV-750 or
MOV-751 can be energized.

Only one of the RHR Suction from RWST valves, MOV-862A or
MOV-862B can be energized.

Containment Recirculation Sump Isolation valves MOV-860A and

MOV-860B will not open.

Containment Recirculation Sump Isolation valves MOV-860A and
MOV-861A will not open.
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QUESTION: 024

The following conditions exist on Unit 3:

The operators are performing ES-1.1, “SI Termination.”

While preparing to re-establish RCP seal return flow they verify that RCS
pressure is 100 psi greater than VCT pressure.

Which ONE of the following describes the basis for the 100 psi requirement?

Less than 100 psi differential pressure could result in:

a.

b.

damage to the VCT.
damage to the PRT.
cocked RCP seals.

debris in the RCP seals.




QUESTION: 025
Unit 4 is in Mode 5 and all loops are filled."
The following equipment is out of service:
- RHR Loop A
- 4C ICW pump
- 4C CCW pump-

Which ONE of the following will result in a loss of RHR required capability per
3-0OP-050, “Residual Heat Removal System?”

A failure of the:
a. 4A EDG.
b. 4B CCW H/X.
C. 4A CCW pump.

4, 4BICW pump
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QUESTION: 026

With Unit 4 stable at 2% power, the RCO observes that the Reactor Trip Breakers have
‘no red or green indicating lights lit on the console or on VPB,

Which ONE of the following correctly describes an event that could have caused this
condition? .

a. SR NIS N-31 Instrument Power fuse has blown.
b. SR NIS'N-32 Control Power fuse has blown.

C. IR NIS N-35 Instrument Power fuse has blown.

d. PR NIS N-41 Control Power fuse has Blown.




. QUESTION: 027

The following conditions exist on Unit 3:
- Reactor power is 22% with operators performing a plant startup.
- NIS Intermediate range channel N-36 fails high.

Which ONE of the following is the correct operator response?
a. Enter E-0, “Reatétor Trip or Safety Injection.”

b. Place the N-36 LEVEL TRIP switch in BYPASS and continue the power
ascension. “

c. Place the N-36 LEVEL TRIP switch in BYPASS and reduce power below
+  permissive P-6.

d. Place the N-36 LEVEL TRIP switch in BYPASS and reduce power below
permissive P-10.







‘ QUESTION: 028

Unit 3 operators have responded to a Steam Generator Tube Leak on the 3A S/G using
3-ONOP-067, “Radioactive Effluent Release.” .

- PRMS R-15, Condenser Air Ejector, reading was increasing while in
Mode 1 and has alarmed.

- PRMS R-19, Blowdown Radiation, reading was increasing while in
Mode 1 but has not alarmed.’

- The unit is currently in Mode 3 and Attachment 3, “Steam Generator
Isolation Checklist / Steam Generator A Isolation,” is complete.

Which ONE of the following describes the expected response of R-15 and R-19 after

performing Attachment 37
R-15 R-19
a Decreasing Decreasing
b. Decreasing Stable
. c. Stable Decreasing

d.  Stable Stable







‘ QUESTION: 029

Unit 4 experienced a SGTR while at 100% power.

Which ONE of the following Control Room indications does E-3, “Steam Generator
Tube Rupture,” use to identify which S/G is ruptured?

a. PRMS R-15, Condenser Air Ejector.
b. PRMS R-19, Steam Generator Blowdown.
c. Unexpected increase in any S/G NR level.

d. Unexpected S/G steam flow mismatch.
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QUESTION: 030

. Which ONE of the foilgwing describes the basis for verifying AFW flow is greater than
390 gpm following a loss of main feedwater event?

390 gpm is the minimum AFW flow required in the event:
a. an ATWS occurs.
b. only one AFW pump‘is running.
c. any S/G level is below 6% NR.
d. all S/G levels are below 6% NR.







‘ QUESTION: 031

Unit 3 operators have entered FR-H.1 “Response to Loss of Secondary Heat Sink.”

The following conditions exist:
- No Main Feedwater Pumps are ava&lable.
- No Auxiliary Feedwater Pumps are available.
- The RCPs are off.

- Annunciator E 2/6 “HI-HI SG LVL TURBINE TRIP/FEEDWATER
ISOLATION is in alarm. ’

- The operators are preparing to re-establish feedwater using a Standby
Steam Generator Feedwater Pump.

Which ONE of the following describes the minimum Control Room action(s) required to
re-establish feed flow to the S/Gs?

|

i

|

. Reset:

1 a. SI
|

b. i’hase A
c. Feedwater Isolation

d. SI and Feedwater Isolation
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QUESTION: 032

Unit 3 operators have initiated an RCS cooldown while responding to a faulted/ruptured
S/G per ECA-3.2, “SGTR With Loss of Reactor Coolant-Saturated Recovery Desired.”

Which ONE of the following identifies the limitations on the cooldown rate and the
reason for initiating the cooldown?

COOLDOWN RATE REASON/BASIS
a 50°F/hr Minimize radioactive release.
b. 50°F/hr Prevent S/G overfill
c. 100°F/Hr Minimize radioactive release

d. 100°F/Hr Prevent S/G overfill




QUESTION: 033

Which ONE of the following describes the Immediate Operator Action(s) of
0-ONOP-066, “High Area Radiation Monitoring System Alarm,” in the event
Annunciator X 4/1, ARMS HI RADIATION, alarms?

Identify the alarming channel(s) at the ARMS panel and then:

a.

b.

announce the alarm over the plant page system.
notify Security to restrict entry to the affected areas.

press the ALARM ACK pushbutton on the ARMS control panel.

cross-check the alarming ARMS channel(s) with PRMS channel(s) in the
affected area.



QUESTION: 034

Unit 4 is at 100% power with all systems operating in automatic and all switches in their
normal positions.

PRZ level transmitter LT-459 fails low.
_ Which ONE of the following describes the plant response?

a. Charging flow will decrease.
Letdown will isolate.

b. Charging flow will decrease.
Letdown will remain in service.

c. Charging flow will increase.
Letdown will isolate.

d. Charging flow will increase.
Letdown will remain in service.




QUESTION: 035
The following conditions exist with Unit 3 at 100% power and all sy;stems operable:
- 3D 4KV Bus is al.igned to 3A 4KV Bus.
- 3B and 3C ICW Pumps are running.
The following events occur: ‘
- A loss of offsite power (LOOP) occurs on Unit 3.
- The 3B EDG fails to start.

Which ONE of the following describes the ICW pump configuration when sequencing is
complete (assume no operator response)?

a. No ICW pumps will be running.
b. Only the 3A ICW pump will be running.
c. Only the 3C ICW pump will be running.

d. The 3A and 3C ICW pumps will be running.







Unit 4 operators have entered 0-ONOP-13, “Loss of Instrument Air” in response to
Annunciator I 6/1, INST AIR SYSTEM HI TEMP/LO PRESS.

‘ QUESTION: 036
The following conditions exist:
- All available air compressors are running.
- Instrument Air pressure indicator, PI-4-1444, is 60 psig and stable.
Which ONE o-fthe following identifies the equipment that will be affected?
Unit 4: .
a. MSIVs will fail closed.
b. Feedwater Reg Valves will fail closed.

c. EDG Fuel Oil Transfer capability will be lost.

d. Train 1 AFW FCV automatic operation will be lost.




QUESTION: 037
The following conditions exist on Unf't 3:
- Reactor Trip Breaker A has failed in the closed position.
- Both MG sets input and output breakers have been opened.

* Which ONE of the following describes the effect on the Control Rod System Logic and
Power cabinets’ control power?

Control power has:
a. automatically swapped to the 3B MCC.
b. automatically swapped to its backup CVT.

c. been lost and can be manually swapped to the 3B MCC.

d. been lost and cannot be restored until the Reactor Trip Breaker is opened.




QUESTION: 038
Unit 3 is stable at 75% power with all systems in automatic and Tavg matched with Tref.
The following events occur:

- 3A Steam Generator Feed pump breaker trips open.

- Generator load has stabilized following the turbine runback.

The RCO observes the following indications:

- Tavg: 555°F and decreasing
- Tref 559°F and stable
- Control Rods Inserting

Which ONE of the following describes the correct immediate operator action?

a. Maintain rods in AUTO and if rods continue to insert, adjust turbine load
to match Tavg to Tref.

b. Maintain rods in AUTO and if rods continue to insert, adjust boron
concentration to match Tavg to Tref.

c.  Place rodsin MANUAL and if rods contmue to insert, adjust turbine load
to match Tavg to Tref. =~

d. Place rods in MANUAL and if rods continue to insert, adjust boron
' concentration to match Tavg to Tref.

38



‘ QUESTION: 039

Which ONE of the following identifies the containment isolation signal that requires
stopping all RCPs and the reason the RCPs are stopped?

a.

Phase “A”  MOV-626, RCP Thermal Barrier CCW Outlet, is closed
resulting in a loss of RCP seal package cooling.

Phase “A”  MOV-1417, CCW to Normal Containment Coolers, and
MOV 1418, CCW from Normal Containment Coolers, are closed resulting
in a loss of RCP stator winding cooling.

Phase “B” MOV-6386, Excess L/D and RCP Seal Return, is closed
resulting in a loss of RCP seal package cooling.

Phase “B” MOVs 716A and 716B, RCP CCW Inlet valves, and MOV-
730, RCP Bearing CCW Outlet valve are closed resulting in a loss of RCP
motor bearing cooling.







QUESTION: 040

The following plant conditions exist:
- Containment Phase “A” isolation has occurred.
- The isolation signal has not yet been reset.

Which ONE of the following describes the effect this condition will have on RCP
Number 1 seal leak off flow? '

Number 1 seal leak off flow will;
a. decrease because VCT level has increased.

b. decrease because the backpressure has increased.

C. g0 to zero because RCP Seal ﬂRetixrn to VCT valve, MOV-381, is closed.

d. 8o to zero because #1 Seal Leakoff Isolation valves, 303A, 303B, and
303C are closed.
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QUESTION: 041

- Unit 3 is in a water solid condition when an RCS pressure transient closes Loop 3C RHR
Pump Suction Stop valves, MOV-750 and MOV-751.

MOV-750 and MOV-751 cannot be reopened.

Which ONE of the following describes the effect this event will have on the CVCS
system after the operators have performed the Immediate Operator Actions of the
applicable ONOP?

CVCS letdown line pressure upstream of PCV-145, Low Pressure Letdown Control
valve, will:

a. decrease. PCV-145 will open.
b. decrease. PCV-145 will close.
c increase. PCV-145 will open.

d. increase. PCV-145 will close.
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. QUESTION: 042

A reactor startup is being performed on Unit 3. The following condi“tions apply:
- The ECC estimated critical rod height is D bank at 110 steps.
- The initial highest source range count rate was N-31 at 250 cps.
- The current N-31 count rate i.s 1000 cps.

- Based on the current N-31 count rate, the 1/M plot predicts criticality at
D bank, 180 steps.

- Integrated rod worth for D-110 is 490 pcm.
- Integrated rod worth for D-180 is 160 pcm.
Which ONE of the following is the correct operator response?

a. Do not continue the reactor startup. Obtain permission from the NPS to
continue.

. ‘ b. Do not continue the reactor startup. Obtain permission form the Reactor
Supervisor to continue.

c. ‘Continue the reactor startup, If the prediction is still D-180 after the next
doubling, obtain permission from the NPS to continue.
\

d. Continue the reactor startup. If the prediction is still D-180 after the next
doubling, obtain permission from the Reactor Supervisor to continue.
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QUESTION: 043
Which ONE of the following describes the purpose of the interlocks between CVCS
Letdown Isolation valve, LCV-460, and the Letdown Orifice Isolation valves, 2004,
200B, & 200C?
The interlocks prevent damage to:

a. LCV-460 upon depressurization of the letdown line.

b. CV-200A, 200B, 200C upon depressurization of the letdown line.

c. the Regenerative Heat Exchanger upon subsequent repressurization of the
letdown line.

d. RV-203, Letdown Relief Valve, upon subsequent repressurization of the
letdown line.







' QUESTION: 044
The following conditions exist on Unit 3:
- Operator; are responding to a LOCA using the EOP Network.
. 3A Sequencer has failed to respond to the SI signal.
- SI has been reset.
- Following SI reset, Containment pressure exceeds 20 psig .

Which ONE of the following describes the response of the Containment Spray Pumps
(CSPs) and their discharge valves, MOV-880A and MOV-880B?

a. Neither CSP will automatically start.
Only MOV-880B will automatically open.

b. Neither CSP will automatically start.
Both MOVs will automatically open.

c. Only 3B CSP will automatically start.
Only MOV-880B will automatically open.

d. Only 3B CSP will automatically start.
Both MOVs will automatically open.







QUESTION: 045
The following conditions exist on Unit 3:
- Reactor power is stable at 10 amps.
- “PRZ Pressure Control Channel” PT-444 fails high.

Assuming no operator action, which ONE of the following describes the response of the
plant to this condition?

a. The reactor will trip when PRZ pressure increases to 2385 psig.
b. PRZ pressure will stabilize at approximately 2000 psig .
c. The reactor will trip when PRZ pressure decreases to 1835 psig.

d. SI actuation will occur when PRZ pressure decreases to 1730 psig.
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‘ | QUESTION: 046

Unit 3 is stable at 98% power. Reactor Engineering has performed QPTR calculations
using a full core flux map and core exit thermocouples. Both calculations reveal the
QPTR value is 1.03.
Which ONE of the following describes the required operator response?
Reduce NIS power to less than:

a. 97% within 2 hours.

b. 95% within 2 hours.

c. 91% within 2 hours.

d. 89% within 2 hours.




‘ ' QUESTION: 047

A Xenon oscillation caused the Axial Flux Difference (AI) meters to display the
following values while Unit 3 was at 80% power:

N-3-41 N-3-42 N-3-43 N-3-44
-14 -15 -20 =21

Which ONE of the following describes the required operator response?

a. Return at least one Al meter within the Operational Space within
15 minutes.

b. Return at least one Al meter within the Operational Space within
60 minutes.

c. Return at least two Al meters within the Operational Space within
15 minutes,

d. Return at least two Al meters within the Operational Space within
-+ 60 minutes. ’




QUESTION: 048

Unit 3 operators are responding to a spurious SI signal and are attempting to determine if

* SLtermination criteria are met. The ANPS directs the RCO to check subcooling on
QSPDS.

QSPDS displays the following:

SATURATION MARGIN

DEGF PSI
UPPER HEAD 48 * 633
RCS (MIN) 36 438
CET 28 ' 340

Assuming other SI Termination Criteria ;ue satisfied, which ONE of the following is
correct?

The RCO should declare SI Termination Criteria are:
a. not met after observing the RCS (MIN) value.
b. not met after observing the CET value.
c. met.after observing the RCS (M]N) value.

d.  met after observing the CET value.
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‘" QUESTION: 049

A large break LOCA occurs on Unit 3 while the 3B Sequencer is inoperable.

Which ONE of the following describes an effect on the Unit 3 containment?
Containment pressure will be higher because only the:

a. 3A ECC will autostart:

b. 3C ECC will autostart.

c. 3A and 3C ECCs will autostart.

d. 3B and 3C ECCs will autostart.
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QUESTION: 050

The following conditions exist on Unit 3 while at 100% power:
- The 3B ECC is out of service.
- A large break LOCA occurs.

- After verifying two ECCs are operating, one ECC trips due to overcurrent
and cannot be restarted.

Which ONE of the following identifies the maximum time allowed to restore a second
ECC to operation to ensure equipment environmental qualifications are maintained?

a. 8 hours
b. 10 hours
) c. 12 hours

d. 24 hours




QUESTION: 051

Unit 3 is operating at 70% power with all systems operable except the 3C Condensate
pump which has its breaker racked out.

The 3A Condensate pump breaker trips open.
_ Which ONE of the following describes the correct operator response?
Perform the actions of:

a. ONOP-089, “Turbine Runback.”

b. ONOP-100, “Fast Load Reduction.”

c. GOP-103, “Power Operation to Hot Standby.”

d. E-0, “Reactor Trip or Safety Injection.”




‘ QUESTION: 052

Unit 3 is operating at 100% power when the controlling S/G pressure transmitter fails low
on the 3A S/G.

4

Which ONE of the following describes the effect this will have on the controlling
indicated steam flow and the initial 3A FW Control Valve, FCV-478, response?

Indicated steam flow will:
a. decrease. The FCV will open.
b. decrease. The FCV will close.

c. increase. The FCV will open.

d. increase. The FCV will close.







‘ * QUESTION: 053

Unit 3 is operating at 100% power when valve CV-2011, “LP HEATERS BYPASS,”
fails open.

Which ONE of the following describes the effect on reactor power and the correct
operator response?

‘Reactor power will: ‘
a. increase. Borate the RCS.
" b.-  increase. Reduce turbine load.

c. decrease. Dilute the RCS.

d. decrease. Raise turbine load.







QUESTION: 054

With Unit 3 initially at 100% power and all systems in normal alignment, the 3C S/G
' experiences a main steam line break inside Containment.

Which ONE of the following describes the effect this accident will have on the AFW
system? ‘

a. Train 1 AFW will be lost until the operators open AFSS-3-007.
b. Train 1 AFW will be lost until the operators close AFSS-3-006.

c. Train 2 AFW will be lost until the operators open AFSS-3-007.

d. Train 2 AFW will be lost until the operators close AFSS-3-006.







‘ QUESTION: 055

Which ONE of the following would result in dual train AFW flow for both Units?

Bus Stripping on:

a. 3A 4KV Bus and 4A 4KV Bus.
b. 3A 4KV Bus and 4B 4KV Bus
c. 3B 4KV Bus and 4A 4KV Bus

d. 3B 4KV Bus and 4B 4KV Bus
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‘ QUESTION 056

Unit 3 operators have entered ES-1.1, “SI Termination,” and are preparing to start a Main
Feedwater pump and secure AFW.

The following conditions exist:
- “A” AFW pump is running,. -
T “B” and “C” AFW pumps are stopped and aligned for auto start.
- The NWE locally starts the 3A Main Feed pump.

- The BOP fails to “red flag” the 3A Main Feed pump control switch
semaphore.

Which ONE of the following describes the effect of the BOP’s failure to red flag the 3A
Main Feed pump control switch semaphore?

a. “B” and “C” AFW pumps will automatically start.
b. AFW pump automatic start capability will be degraded.
. ' c. The 3A Main Feed pump will not trip from an SI signal.

d. The 3A Main Feed pump will automatically trip in 50 seconds.

1
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QUESTION: 057

The following conditions exist on Unit 3:

The unit was at 100% power.
A spurious SI occurs.

The operators are responding per the EOP network and have just
transitioned to EOP-ES-1.1, “SI Termination.”

Annunciator A 7/1, PRT HI/LO LEVEL HI PRESS/TEMP, alarms.

Assuming all systems function as designed, which ONE of the following describes the
probable cause of this alarm?

a.

b.

APRZ PORY has lifted.
CVCS Low Pressure relief valve, RV-209, has lifted.

RHR Header to Loops relief valve, RV-706, has lifted.

RCP #1 Seal Leakoff relief valve, RV-382, has lifted.




QUESTION: 058

Operators are investigating an abnormal increase in countrate on PRMS radiation
monitor R-14, PLANT VENT, when they discover pressure in Gas Decay Tank (GDT)
#4 is decreasing.

No planned GDT releases are in progress and the Gas Decay Tank Discharge Valve,
RCV-014, is closed.

After verifying all valve alignments are correct, which ONE of the following describes
the correct operator response?

Direct the SNPO_to:

. a.

b.

transfer the contents of GDT #4 to another GDT.
verify both Auxiliary Building Exhaust fans are running.
stop all running Waste Gas compressors.

start an additional Waste Gas compressor.
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‘ QUESTION: 059

The Control Room Normal Air Intake radiation monitor, RAI-6642, alarms.

Which ONE of the following describes the damper response of the Control Building
Ventilation System?

a. Ventilation Inlet dampers, D-1A and D-1B - CLOSE.
East and West Inlet dampers, D-2 and D-3 - OPEN.
Control Room Recirc. dampers, D-11A and D-11B - OPEN.

b. Ventilation Inlet dampers, D-1A and D-1B - OPEN.
East and West Inlet dampers, D-2 and D-3 - CLOSE.
Control Room Recirc. dampers, D-11A and D-11B - OPEN.

c. Ventilation Inlet dampers, D-1A and D-1B - CLOSE.
East and West Inlet dampers, D-2 and D-3 - OPEN.
Control Room Recirc. dampers, D-11A and D-11B - CLOSE.

d. Ventilation Inlet dampers, D-1A and D-l“B - OPEN.
East and West Inlet dampers, D-2 and D-3 - CLOSE.
Control Room Recirc. dampers, D-11A and D-11B - CLOSE.




" QUESTION: 060

Unit 3 is at 50% power with the 3C.Charging pump out of service.
The RCO notes the following Control Room indications:
- Annunciator G 1/2, “CHARGING PUMP HI SPEED” alarms.

- The only running Charging pump (3A) is in Auto with 100% output
demanded.

- PRZ level is 33% and decreasing.
Which ONE of the following describes the required procedural response?

a. Isolate letdown. If PRZ level continues to decrease, then start the 3B
Charging pump and maximize charging flow.

b. Isolate letdown. If PRZ level continues to decrease, then trip the reactor
and turbine and transition to E-0, “Reactor Trip or Safety Injection.”

S Start the 3B Charging pump and maximize charging flow. IFPRZ level
. continues to decrease, then isolate letdown.

~ d. Start the 3B Charging pump and maximize charging flow. If PRZ level
continues to decrease, then trip the reactor and turbine and transition to
E-0, “Reactor Trip or Safety Injection.”

¢




" QUESTION: 061

Operators are responding to a large break LOCA. They are currently aligning the ECCS
system for Hot Leg recirculation. Step 10 of ES-1.4, “Transfer to Hot Leg
Recirculation,” directs the operators to start the second RHR pump.

Which ONE of the following describes why the operators are directed to start the second
RHR pump?

Starting the second RHR pump allows the operators to:
a. start a second HHSI pump to increase hot leg injection flow.

b. direct flow simultaneously to the cold legs and to the suction of the HHSI
pump.

c. align alternate hot leg recirculation using RHR Recirculation Isolation
valve, 741A.

d. align alternate hot leg recirculation usmg Alternate Low Head Injection
valve, MOV-872.







QUESTION: 062

Unit 3 is in Mode 5 when RCS loop pressure transmitter, PT-405, fails high.

Which ONE of the following identifies the effect of this failure on:

1) PRZPORYV —455C and PORYV - 456

"2) Loop 3C RHR Pump Suction Stop Valves, MOV-750 and MOV-751?

PORV-455C
a. OPENS
b. ~ OPENS
c. NONE

d. NONE

P

NONE
NONE
OPENS
OPENS

RV-456

MOV-750

NONE
CLOSES
NONE
CLOSES

MOV-751
CLOSES
NONE

CLOSES -

NONE
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‘ ' QUESTION: 063

During operation at reduced power the folloﬁng conditions exist: .
- Tavg is 560°F.
- PRZ level is 45%.
- PRZ pressure is 2230 p‘sig.
Which ONE of the following describes the PRZ heater status the RCO should verify?

a. Control Group - On.
Backup Groups - On.

b. ; Control Group —On.
Backup Groups - Off:

C. Control Group - Off.
Backup Groups — On.

|
|
|
|
|
|
| Tod. Control Group - Off.
|
|
|

‘ Backup Groups — Off.







‘ QUESTION: 064

Which ONE of the following would result in the OTAT reactor protection trip setpoint
being reduced? Consider each parameter independently.

a. AT increasing
b. Tavg increasing
c¢. = PRZ pressure increasing
. d. Reactor Power decreasing






‘ QUESTION: 065

Unit 3 is at 100% power and Annunciator B 9/3, SHUTDOWN ROD OFF
TOP/DEVIATION is not operational.

Which ONE of the following describes the action that operators must take at least once
every 4 hours?

Verify RPIs and Step Counters agree within:

a. 2 steps.
b. 12 steps.
c. 18 steps.

d. 24 steps.




Unit 3 is operating at 100% power with all systems in their normal configuration, when
the Tavg Median Signal Selector, TM-408, fails low.

‘ QUESTION: 066
|

} Which ONE of the following describes the plant response?

| .

| a. Control rods will not move. Charging pump speed will increase.

b. Control rods will not move. Charging pump speed will decrease.

c. Control Rods will step in. Charging pump speed will increase.

d. Control rods will step in. Charging pump speed will decrease.




QUESTION: 067

Unit 3 experienced a large break LOCA. Operators have responded with the EOP
network and have completed the actions of ES-1.3, “Transfer to Cold Leg Recirculation.”
Containment temperature has decreased to 140°F.

Which ONE of the following describes the correct Containment Spray Pump (CSP)
_ alignment?

a. ‘1 CSP running with its suction aligned directly to the Containment Recirc.
sump. :

b: 1 CSP running with its suction aligned to the Contamment Recirc. sump
via the RHR pump discharge.

c. 2 CSPs running with their suctions aligned directly to the Containment
Recirc. sump.

d. 2 CSPs runmng with their suctions aligned to the Contamment Recire.
sump via the RHR pump-discharge.







0 QUESTION: 068

A Containment Purge is in progress per 0-OP-053, “Containment Purge System.”

Which ONE of the following is the minimum number of Normal Containment Coolers
that must be in service to ensure proper operation of Containment Radiation Monitors,

R-11 and R-127
a. One
b. Two
c Three
d. Four
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. QUESTION: 069

The following refueling conditions exist on Unit 4:
- Core off-load is in progress.
- A reactor vessel refueling cavity seal failure occurs.

Assuming no operator action, which ONE of the following describes the effect on a fuel
assembly that is upright in the spent fuel pool upender?

The fuel assembly in the upender will be:
a. completely uncovered.
b. partially uncovered.

c. covered with a few inches of water above it.

d. covered with a few feet of water above it.







‘ QUESTION: 070

The follovging initial conditions existed on Unit 3
- Reactor power was 80% and stable.
- Tavg was equal to Tref.
- "All systems are in automatic.
A small steam leak then occurs on the main’steam header.

Which ONE of the following describes the actual reactor power and Tavg (prior to
operator action), and the proper operator response?

Rx Power Tavg rator Response
a. lower lower Reduce Turbine Load '
b. higher lOWCI" Reduce Turbine Load
‘ c. lower higher Insert Control Rods

d. higher higher Insert Control Rods




QUESTION: 071
The following conditions exist on Unit 3:
- The unit is in Mode 3 with Tavg at 545°F.

- The Steam Dump to Condenser (SDTC) system Mode Selector switch is
in the MAN position.

- PT-464, Steam Header Pressure, fails high.

Which ONE of the following describes the effect on the SDTC system?

‘a. Only 2 valves will open and will remain ogen.
b. Only 2 valves will open and then close when Tavg decreases to 543°F.
c. All 4 valves will open and will remain open.
d. All 4 valves will open and then close when Tavg decreases to 543°F.



‘ QUESTION: 072

Which ONE of the following identifies the first PRMS detector that should respond to a
SGTR and the effect on'the detector?

a.

. Condenser Air Ejector Monitor, R-15. R-15 will be automatically

isolated.

Condenser Air Ejector Monitor, R-15. R-15 will not be automatically
isolated. “

Steam Generator Blowdown Sample Monitor, R-19. R-19 will be
automatically isolated.

Steam Generator Blowdown Sample Monitor, R-19. R-19 will not be
automatically isolated.




‘ QUESTION: 073

Unit 3 is at 100% power with its Startup Transformer out of service when an automatic
reactor trip occurs.

- The 3A EDG starts and repowers the 3A 4KV Bus.
- The 3B EDG locks out and cannot be restarted.

The Unit 3 ANPS directs the BOP to use 3-ONOP-004.3, “Loss of 3B 4KV Bus,” to
restore power to the 3B 4KV Bus. ’

Which ONE of the following describes how power will be restored to the 3B 4KV Bus?
Power will be restored to the 3B 4KV Bus from the:

a. 3A 4KV Bus.

b. Unit 4 Startup Transformer.

c. 3C 4KV Bus.

d. Station Blackout Tie Line.




. ‘

QUESTION: 074

The following occurs while Unit 3 is in Mode 1:

DC Bus 3D23 loses power.

Which ONE of the following operator actions are correct?

- 8.

Shutdown the unit using GOP-103, “Power Operation to Hot Séandby.”
After the unit is stable in Mode 3, then perform ONOP-003.5, “Loss of
DC Buses 3D23 and 3D23A(3B).”

Shutdown the unit using GOP-103, “Power Operation to Hot Standby and
perform ONOP-003.5, “Loss of DC Buses 3D23 and D23A(3B) »
concurrently with the actions of GOP-103.

Verify the reactor is tripped using E-0, “Reactor Trip or Safety Injection.”
When the unit is stable, then perform ONOP-003.5, “Loss of DC Buses
3D23 and D23A(3B).” ‘

Verify the reactor is tripped using E-0, “Reactor Trip or Safety Injection,”
and perform ONOP-003.5, “Loss of DC Buses 3D23 and D23A(3B),”
concurrently with the Immediate Actions of E-0.







QUESTION: 075

Unit 3 is operating at"lpo% power with all systems in normal alignment. 3A EDG is
being run for surveillance purposes and is presently tied to the 3A 4KV Bus.

The following events occur:

A main generator lockout occurs.

Startup transformer breaker, 3AA05, fails to close and is mechanically
bound.

3A Reactor Coolant Pump breaker, EiAAOl, fails to automatically open.

*Which ONE of the following describes the required operator response?

a.

Manually open EDG breaker 3AA20, strip the 3A 4KV Bus using
3-ONOP-004.2, “Loss of 3A 4KV Bus,” and manually close breaker
3AA20.

Manually open EDG breaker 3AA20, strip the 3A 4KV Bus using
3-ONOP-004.2, “Loss of 3A 4KV Bus,” and verify breaker 3AA20
automatically closes.

Verify EDG breaker 3AA20 automatically opens, strip the 3A 4KV Bus
using 3-ONOP-004.2, “Loss of 3A 4KV Bus,” and manually close breaker
3AA20.

Verify EDG breaker 3AA20 automatically opens, strip the 3A 4KV Bus
using 3-ONOP-004.2, “Loss of 3A 4KV Bus,” and verify breaker 3AA20
automatically closes.
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QUESTION: 076

Unit 3 is at 100% power when PRMS R-3-20, Reactor Coolant Letdown, radiation
monitor alarms. HP investigates and surveys the area in the Pipe and Valve Room.

The HP Supervisor reports the presence of a Hot Spot that is reading 400 mr/hr at 2 feet
from the source. !

"Which ONE of the following 1dent1ﬁes the distance from the source at which the
measured dose rate will be 100 mr/hr?

a. 4 feet
b. 6 feet
c. 8 feet
d. 10 feet
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‘ QUESTION: 077

Unit 3 was operating at 100% power when the following events occurred:
| - " A Loss of Off Site Powe:i (Loop)
- The 3A1 Circulating Water Pump breaker did not open.
- All other systems responded as designed.

Which ONE of the following describes the effect on the 3A EDG breaker and 3A

Sequencer? » '
3A EDG Breaker 3A Sequencer
a. Remains OPEN Sequenc;,s
b. Remains OPEN Does Not Sequence
c. Automatically CLOSES Sequences

. Cd Automatically CLOSES . Does Not Sequence




‘ _ QUESTION: 078

Units 3 and 4 are at 100% power when the following events occur:

A loss of instrument air has occurred on both units.
3CM, 3CD, 4CM, and 4CD instrument air compressors are all inoperable.

The NPO has been directed to open the four inch Service Air Supply to
Unit 3/Unit 4 Tie Valve.

The NPO reports that the four inch Service Air Supply valve cannot be
opened.

Which ONE of the following describes the correct operator response?

Open the:
a.

b.

Service Air Supply valve from Units 1 & 2.
Instrument Air Supply valve from Units 1 & 2.

Breathing Air Supply cross-tie valve.

two inch Service Air Supply to Unit 3/Unit 4 tie valve.







‘ QUESTION: 079

Both units are at 100% power when a leak occurs in the Main Fire Loop. Loop pressure
decreases continuously.

Which ONE of the following identifies the first pump to auto start?
a. The standby Jockey.pump
b. The standby Service Water pump

c. The Electric Fire pump

d. The Diesel Engine Driven Fire pump







QUESTION: 080
The following conditions exist on Unit 3:
- The unit has been shut down at Beginning-Of-Life for equipment repairs.
- PRZ level is being maintained at 30%. |
- RCS temperature is 140°F. -
The following events occur 10 days after the shutdown:
- The running RHR pump trips and neither RHR pump can be restarted.
- Operators are unable to establish any other method of RCS cooling.

Which ONE of the following identifies the time closest to when the RCS will enter
Mode 4?

a. . 12 minutes
b. 35 minutes
c. 42 minutes

"d. 50 minutes




QUESTION: 081

Unit 4 is operafing at 100% power with all systems in automatic and all plant parameters

at their normal values. Pressurizer PORV, PCV-455C, fails partially open.

Which ONE of the following identifies the approximate maximum expected temperature

of the steam entering the PRT if the PRT pressure does not exceed 45 psig?
a.

b.

228°F

250°F
275°F

290°F
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‘ QUESTION: 082

Which ONE of the following describes the effect of a loss of instrument air on the ECC
CCW valves?

A loss of instrument air will cause the ECC:

a. outlet valves to fail open.
outlet bypass valves to fail open.

b. outlet valves to fail open.
outlet bypass valves to fail closed.

C. outlet valves to fail closed.
outlet bypass valves to fail open.

d. outlet valves to fail closed.
outlet bypass valves to fail closed.




QUESTION: 083

The 3A Emergency Containment Filter fan has been automatically started by the
sequencer.

Which ONE of the following conditions will automatically open the solenoid valves SV-
3-2905 and SV-3-2906 to supply water to the 3A ECF charcoal filters?

a. ~ Containment temperature greater than 180°F.
b. Containment pressure greater than 20 psig.
c. Charcoal filter temperature greater than 325°F.

d. Charcoal filter low air flow.
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QUESTION: 084
A reactor and turbine trip occurs on Unit 3 while at 25% power.

Which ONE of the following describes the response of the Steam Dump to Condenser
(SDTC) system?

a. Only 2 SDTC valves will arm.
The SDTC system will reduce Tavg to no-load Tavg

b. Only 2 SDTC valves will arm,
The SDTC system will reduce Tavg to within 5°F of Tref.

c. All 4 SDTC valves will arm.
The SDTC system will reduce Tavg to no-load Tavg.

d. All 4 SDTC valves will arm.
The SDTC system will reduce Tavg to within 5°F of Tref.




‘ QUESTION: 085

Unit 3 was at 80% power when the 3B Main Feed Pump breaker trips open.

Which ONE of the following describes the plant response?

a. A cyclic governor runback to 60% power will occur.
b. A cyclic governor runback to 45% power will occur.
c. A continuous load limit and governor runback to 60% power will occur.
d. A continuous load limit and governor runback to 45% power will occur.
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QUESTION: 086

Unit 3 was operating at 100% with all systems in normal alignment. An SI signal occurs.
All systems function as'designed.

After sequencing is complete, which ONE of the following describes the number of CCW
load(s) attached to the CCW System as it relates to the CCW “Rule of Five”?

a. One CCW load
b. Two CCW loads
C. Three dCW loads

d. Four CCW loads




‘ QUESTION: 087

Which ONE of the following is an interlock that must be satisfied to allow opening the
Containment personnel air lock outside door while in Mode 1?

a. The personnel airlock inside door equalizing valve must be open.

b. The personnel airlock outside door equalizing valve must be open.

c. Atmospheric pressure must be greater than 1.0 psig above airlock
pressure.

d. Containment pressure must be greater than 1.0 psig above airlock " |

pressure.




QUESTION: 088

Which ONE of the following individuals must be notified by the RCO with
Administrative Duties (3™ RCO) before leaving the Control Room?

a.
b.

C.

The RCO with Unit Duty
The NWE
The ANPS

The NPS







‘ QUESTION: 089

The following conditions exist on Unit 4:

- The operators are performing E-3, “Steam Generator Tube Rupture,” in
response to a SGTR in the 4A S/G. "

- The 4B 4KV Bus is de-energized.
- CVCS letdown has been re-established.
- éontainment conditions are normal.
- PRZ level is 30%.
- 4A S/G level is increasing.

Which ONE of the following RCO actions is correct?

a. Turn On PRZ Heaters.
c. Depressurize the RCS using Normal Spray.

d. Depressurize the RCS using Auxiliary Spray.

12

|
|
|
|
I b. Decrease RCS Charging Flow.
|
|
|
|







Which ONE of the following describes the purpose of the CCW System Head Tank?

‘ QUESTION: 090
|
|
|

a.

To preclude steam formation in the ECCs following a LOOP/ LOCA
inside containment.

To preclude in-leakage of radioactive fluids from the CVCS
Non-regenerative heat exchanger.

To ensure NPSH when 3 CCW pumps are running following sequencer
automatic start signals.

To ensure NPSH when the Unit 3 and Unit 4 CCW Systems are cross-tied
and only one CCW pump is operating.




QUESTION: 091

Which ONE of the following correctly identifies the location and the valve failure mode,
when isolating instrument air to FCV-3-114A, Primary Water to Blender valve?

LOCATION
a. BAST Room
b. BAST Room

c. Charging Pump Room

d. Charging Pump Room

FAIL MODE

Open
Closed
Open
Closed






QUESTION: 092
The following conditions exist on Unit 4:
- The unit is in Mode 3.
- The reactor trip Breakers are closed.
- RCS Tavg is 548°F.
- kCS pressure is 2235 psig.

- A dilution to obtain the calculated critical boron concentration is in
progress. :

Which ONE of the following is allowed per 4-GOP-301, “Hot Standby to Power

Operation™?

a. Testing of the AFW pumps

b. Stopping of an operating liCP

c Withdrawal of the Shutdown Rods

d. Energization of the PRZ backup heaters
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‘ QUESTION: 093

Which ONE of the following is correct for the Base Continuous Power Ratings for the
Unit 3 and Unit 4 Emergency Diesel Generators?

| Unit 3 EDGs Unit 4 EDGs
a. 2500KW 2874 KW
b. 2500 KW 2750 KW
c. 2874 KW 2750 KW
d. 2750 KW . 2500 KW






QUESTION: 094

Which ONE of the following exposures exceeds an FPL PTN guideline per 0-ADM-600,
“Radiation Protection Manual?”

a. 3 rems/yr Total Effective Dose Equivalent
b. 5 rems/yr Lens Dose Equivalent

c. 20 rems/yr Total Organ Dose Equivalent

d 20 rems/yr Shallow Dose Equivalent to the skin




‘ QUESTION: 095 : - 3

Which ONE of the following is correct when using a frisker for determining the
radioactivity of an object?

a. The selector switch must be on the X1 ( times one) scale and background
can be no greater than 300 cpm.

b. The selector switch must be on the times X100 (times 100) scale and
background can be no greater than 300 cpm.

_c . The selector switch must be on the X1 (times one) scale and background
must be no greater than 500 cpm.

background must be no greater than 500 cpm.

7
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d. The selector switch must be in the X100 (times 100) scale and




QUESTION: 096
The following conditions exist on Unit 3 while on RHR:

- RCS temperature is 300°F.

- RCS pressure momentarily spikes to 550 psig.
The RCO took the following actions:

- Verified the amber and blue lights for MOV-750 and MOV-751, Loop C
RHR Pump Suction Stop Valves, were lit.

- Depressed and released the override pushbuttons to open MOV-750 and
MOV-751.

- Determined that MOV-750 and MOV-751 continued to stroke closed.

Which ONE of the following describes why MOV-750 and MOV-751 continued to
stroke closed?

a. The OMS mode selector switches are in the “Normal” position.

b. The MOVs must stroke to the fully closed position before they will
reopen. :

c. RCS pressure was too high when the override pushbuttons were
depressed. ' .

4

d. The override pushbutto;xs need to be held in the depressed position until
the yellow lights go out.
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. QUESTION: 097

SI has occurred on Unit 3. After exiting E-0, “Reactor Trip of Safety Injection,” the
following conditions relative to the Critical Safety Functions are observed:

Subcriticality: NIS power ranges are all 2%.
NIS intermediate ranges’ SUR are both +0.2 DPM.
Core Cooling: Six highest CETs read 720°F.
Heat Sink: 3AS/G 3B S/G 3CS/G
NR level: 4% 5% 3%

AFW flow: 125 gpm 125 gpm 125 gpm

Containment: Containment pressure is 10 psig.
Containment Recirculation Sump level is 450 inches.
Containment conditions are not adverse.

All other status trees indicate only green or yellow paths.

Which ONE of the following identifies the first procedure to enter?

. a. FR-S.1, “Response to Nuclear Power Generation/ATWS”
" b FR-C.1, “Response to Inadequate Core Cooling”

c.  FR-H.], “Response to Loss of Secondary Heat Sink”

d. FR-Z.1, “Response to High Containment Pressure”







‘ QUESTION: 098

Which ONE of the following individuals may authorize de-escalation from a Site Area
Emergency E-Plan classification?

a. Plant Manager
b. Recovery Manager

c. Emergency Coordinator

d. Emergency Control Officer.







‘ QUESTION: 099

The following events occur on Unit 3:

|
|
|
- The unit experiences a spurious SI signal. ;
- Startup Transformer breaker 3AAO0S fails to close.

- All other systems respond as designed.

Which ONE of the following identifies the Sequencer Trouble annunciator(s) that will
alarm when the operators reset SI?

a. Sequencer 3A oilly.
b. Sequencer 3A and 3B only.
c. Sequencer 3B, 4A and 4B only.

d. Sequencer 3A, 3B, 4A and 4B.
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QUESTION: 100

Unit 3 operators are pErfoxming the Immediate Operator Actions of E-0 “Reactor Trip or
Safety Injection.” '

The following conditions exist:

3A 4KV bus is energized.

3B 4KV bus is de-energized.

3b 4KV bus is aligned to 3B 4KV bus.

- 3C ICW and 3C CCW pump breakers are open.
Which ONE of the following is the correct operator action?
Verify D bus lockout indicating light is:

a. flashing. Align D bus to A bus by openiné the B bus supply breakers,
then closing the A bus supply breakers.

b. flashing. Align D bus to A bus by closing the A bus breakers, then
opening the B bus breakers.

c. lit (not flashing). Align D bus to A bus by closing the A bus supply
breakers, then opening the B bus supply breakers.

d. lit (not flashing). Align D bus to A bus by opening the B bus supply
breakers, then closing the A bus supply breakers.

100



| Floriﬂa Power & Light Co.

Turkey Point Nuclear Plant

1999 NRC Written Examination

‘ Senior Reactor Opera_tbr (SRO) Exam

v

- August 30, 1999

DISTRIBTION CODE
/(/.«ML- — PPl 142







EXAMPLE: .
a S— €0z c©1: =22 £32 =4z =5= =6= =7= =8= a9:= « 02 2193 223 ©33 343 53 765 wwm 283 293 _a
S —  [cos c15e2s vor vas cs: ces c7o 6= ios wm’; S i it b o Lot S IEE N B
2 o— 80z c1= ©2= c£3> c4z= =5= 263 =7= <83 =z9=| ID. ::'; ::‘;'52::3: :::'_ : rin 2 =
g — €02 c©13-c23 £33 c£45 €63 £65 €73 £83 €92 N:’gggﬂ . . fg':‘::ffgf'fg}ale =5=~‘651‘ g
203 €1= c2= =8z c43 =5 26z ¢7: =8> cQ9= 203,513 :2: ———zaa : 73,685 292| W8 | 3 !
“ €02 €13 c22 €33 c42 €53 £63.c7= £85 €93 ~ 10z f32 233 24> e5: 6z 573 caz zos| NN | 3
- ) 4502 =12 €25 =282 =4z 25z c6c =75 85 9= Mf‘;K .
Z ~ " |=03 £12 £22 £33 c4> €53 €63 c7= c85 cg9s 1R PART 1
> NUMBER CODE 1D. NUMBER AT LEFT BY FILLING IN
£ T |0z == £2@ =37 c4z 583 <63 272 <8= c9=| HERE THE APPROPRIATE BOXES ACCORDING TO
§ cb THE EXAMPLE.
E - womm KEY
— | cA= zBz =ee =zD:= 51 wiw =Bz =C= zD= {
= 2 cA> tB:z =C:z wpw 52 <A smm cCa cD3 NAME: SRO ANSWER LEy ( PTN%
= 3 Az e~ zC: cD: §3 Az ePa =C:> zD:=
= L cA> cB> »@w cDs3 54 =As smre cCz cDz DEPT.: o _DEPT. SUPV.
= 5§ FAz =B:= =C: ~bw 55 =e =Bz =C> =D= )
= § cA3 * €C3 cD3 ' "56 cAz e~@e cC3 cDz DATE: 8’30 '97
— 7] =~ =83 cC> :=D:= Wy =B= zC:= cD>
—  § cA3 cBo ‘s cD3 ‘ g; cAs v cGs eDs exam TiTLe: /799 NRC. WR1T72EM EXAI
S— g cAz epe =C: <cD:= 50 =A: =Bz =@e D=
= 10 cA3 cB3 e®m cD3 60 cA= €B3 ':c_: K EXAMNO.:
= 1] cAz =Bz =@« cD= 6] == z=B> cC:z cD=
— 12 cA>_cB3_eew cD3 62 wwe cB3 cC3_cD> TOTAL POINTS: L00 -
T 13 A3 wlm cC= cD: 63 <Az cB= cC: wae | hereby certify that | will take the exam and abide
= 14 cAz =~B= =C: cD>3 64 =sA> cB= ®=@m cD> the rules of conduct provided by the proctor.
= 15 zAz =Bz tC: wem= 65 <Az e@& =C:= =D=
I = |6 = =Bz cC> cD> 66 <Az cBax =@= cD>
— 17 =Az =B: e@= :cD: 67 =A= cB:z me~ zD: Student's Signature Date
i —— |8 wac cBa cC3 =D> 68 cA> = c=C> D=
S ™= 1Q »dm cB:z eC> cD= 63 =4e =Bz z=C= cD=
20 :A:‘::B: wgm cD> 70 ase cB> :c::ﬁ::o: .
Pl cAz :=B: wie =D= 71 cAz =B« C= =D:=
=3 — 99 :A".::'.:B:xw-_eodt.:ua : 72 cAs -e-:c: cD>
3 — 23 cA> =B.,:;.'0", eD= 13 =A= _-e-“:cj. [LE
5 = 24 tA2-cB> cC3 mhe 74 cAz =B= cCz cD>
L e 25 cA> <B: 3@= cD: 75 =A> cB> =C: emm
- 26 *.:B: “c'éé.:o:: 76 =A> -e‘- :E::. :c“[)": .
— 21 'q-:‘ z2B= =C:s =D:= 71 =A= =Bz =@« cD:= .
= 28 cA2 w®e cCs cDa 18 =A3 cB3 cC2 wob . .
— 2 CAS B e@= D= 70 e B3 cos :o- Grader's Name:
- 30 :A; “icBa cC2 wim 80 =A> op :;c: :D:
=== 3] cA> s@x =C> <D= g1 cA= =B> cC:> amm Score:
—_ 32 §A=.. »iyes cCa D2 82 cA3 :"B:: ;:?é”:_b:
0 83 A3 B= =B« cD= 83 <Az =B= =@ =D: Frint Signature Date
%2 ™ 34 cAa-cBa cCo wpe 84 cAx €B> m@s cD3 .
If = 35 cAz B2 C: sem 85 <A= = cC> cDs QC Grader's Name:
2% = 36.:cA> cBz. sem cD> 86 cA= =Bz cC3 G-, .
52 = 37 wm= cB> =C2 cD= 87 cA:z =Bz s~@e zD> "
i . - . R Score:
§§ ~— 38 »m= cB= ,5C3 =D 88 ssm cBz cC> cDs3
5% -_— 30 s{\: -B- =C‘ pn 80 cAz =B:= =@« cD=
}° = 0 cA> -"’ =C= eD> G0 cA> cB3 cC> =ids Frnt Signature Dale
g_— | =A= -8- wge cD:= Q] cAz =Bz zC> e ]
Po— 42 :A: “wim cCa D> g2 A= cB> £Co eme RAR IE# )
£ == 43 cA> »m =C: =Dz 03 =A: «#w cC= =Dz
== LL cA3 cBa e@s D2 94 we =8> ;:c: eD>
I ore e vos oo 05 he <Be =tm <D, 0 TURKEY POINT PLANT
Q BTATeES mee eS| g cAS i ees ‘e @ NUCLEAR TRAINING
2 4] sA= =B:= a@» :D: G7 == cB: :c D> DEPAR.TMENT
g — 43 c‘::’ :é: !”C&Ca g 98 CA; cB> * :D: Fpl_
§ — 49 cAs v@® cC:z cD: Q0 sy zB> cC> =D= —_
E mm 50 c[.\':.:* cB> wea cD> 100 =A= 4@ cC> zD=2 B




1999 SRO ANSWER KEY g
0l-c 26-a 51-a 76-b
02-d 27-a 52-b 77-c
03-b 28-b 53-b 78-d
04-c 29-c 54-b 79-a
05-d 30-d 55-a 80-b
06-b 31-b . 56-b 81-d
07-a 32-b 57-a 82-c
08-c 33-¢c 58-b 83-c
09-b 34-d 59-¢ 84-c
10-c 35-d 60-d 85-b
11-c . 36-c 61-a 86-d
12-¢ 37-a 62-a 87-c _
13-b 38-a 63-d 88-a
14-b 39-d 64-c 89-c
15-d 40-b 65-b 90-d
16-a 41-c 66-c 91-d
17-¢ 42-b . 67-c 92-d
18-a 43-b 68-b 93-b
19-a 44-c 69-a 94-a
‘ \ 20-c 45-b 70-a 95-¢
21-c 46-c 71-b 96-d
22-c 47-c 72-b 97-a
23-c 48-d 73-b 98-c
24-d 49-b 74-b 99-a

25-¢ 50-c * 754 - . 100-b










U.S. Nuclear Regulatory Commission
Site-Specific
Written Examination

: Abplicant Information

Name: . Region: 1]
Date: August 30, 1999 Facility/Unit: FPL/TURKEY POINT/3&4
License Level: SRO Reactor Type: W
Start Time: Finish 'l”lm'e:
Instructions

Use the answer sheets provided to document your answers. Staple this cover sheet on top
of the answer sheets. The passing grade requires a final grade of at least 80.00 percent.
Examination papers will be collected five hours after the examination starts.

Applicant Certification

_ Allwork done on this examination is my own. | have neither given nor received aid.

Applicant's Signature

Results

Examination Value . ' Points

Applicant's Score Points

Applicant's Grade Percent




‘ " QUESTION: 001

The following conditions exist on Unit 3:
- 'l’he;, Rod Control System is in Manual.
- Control Bank C is.at 225 steps.
- Control Bank D is at 97 steps.

The following event occurs: |

- A Rod Control System malfunction causes continuous rod withdrawal for
10 steps. Rod motion then stops.

Which ONE of the following identifies what the RPIs for control banks C and D should

indicate?
a.  BankC-225 Bank D - 97
b.  Bank C—230 Bank D — 97
¢, BankC=-230 Bank D — 107
. d.  BankC-235 Bank D - 107







. QUESTION: 002

The following conditions exist on Unit 3:

- The unit is at 100% power

A power supply failure in rod control Power Cabinet 1AC results in one
dropped rod in Control Bank A Group 1 and one dropped rod in Control
Bank C Group 1.
Which ONE of the following actions is correct?

a. Manually runback the turbine.

b. Verify automatic turbine runback.

c. Enter ONOP-28.3 “Dropped RCC” and retrieve both dropped rods.

d. Trip the Reactor and go to E-0 “Reactor Trip Or Safety Injection.”




QUESTION: 003
The following conditions exist on Unit 3:

- The operators are responding to a misaligned D Bank, Group 2, control
rod using 3-ONOP-28.1 “RCC Misalignment.”

- The appropriate lift coil disconnect switches have been placed to the
disconnect position.

Which ONE of the following Power Cabinets will be the source of the Urgent Failure
alarm that occurs when the operator initiates rod motion?

a. 1AC
b. 1BD
c. 2AC
d. 2BD




‘ * QUESTION: 004

A large break LOCA occurred while Unit 4 was operating at 100% power. The operators
are responding per E-0, “Reactor Trip or Safety Injection”.

Which ONE of the following describes why the RCO verifies the Feedwater Isolation
signal closed the Main and Bypass FW Control valves in step 5 of E-0?

a. To ensure the subsequent availability of AFW flowpaths.

b. To ensure the subsequent availability of secondary heat sink water
sources.

c. To minimize the potential for RCS cooldown due to S/G overfill.

d. To minimize the potential for containment overpressurization from
feedwater addition.




QUESTION: 005

Operators are responding to a LOCA outside Containment using ECA-I.Z, “LOCA
Outside Containment.”

If unable to isolate the break, which ONE of the following identifies the procedure
ECA-1.2 will direct the operators to transition to?

a. E-1, “Loss of Reactor or Secondary Coolant”
b. ES-1.2, “ Post LOCA Cooldown and Depressurization”

c. ES-1.3, “Transfer to Cold Leg Recirculation”

d. ECA-1.1, “Loss of Emergency Coolant Recirculation”




‘ " QUESTION: 006

Unit 4 operators have just entered E-1 “Loss of Reactor or Secondary Coolant.”

The following conditions exist:

- RCS pressure: 1525 psig.
- RCS CET subcooling: 70°F.
- PRZ level: 15%.

- Containment temperature: ~ 165°F.
- S/GNR levels: - 4A 4B 4C
22% 0% 0%

Which ONE of the following is correct?

SI Termination Criteria is not met based on:

‘ a. PRZ level.

b. RCS pressure. "
c. * S/GNRlevels.

d.  RCS CET Subcooling. -







‘ ’ QUESTION: 007

The following conditions exist on Unit 3. -

- The “POWER BELOW P-8” status lamp is NOT lit.

- The 3A RCP experiences a sheared shaft.
Which ONE of the following correctly; describes the applicable reactor trip logic?
The reactor will:

a. trip due to a single RCS loop low flow signal.

b. trip due to a single RCP breaker open signal. _

c. not trip because two RCS loops must have low flow signals.

d. not trip because two RCPs must have breaker open signals.




' QUESTION: 008

The following conditions exist on Unit 4:
- Operators are performing ES-0.2, “Natural Circulation Cooldown.”
- All systems are operable except the RCPs and Channel A of QSPDS.
- The NPS determines a cooldown rate in excess of 25°F/hr is required.

Which ONE of the following describes the correct operator action?

-

. a. Increase the cooldown rate to a rate not to exceed 60°F/hr and remain in
 ES-0.2.
b. Increase the cooldown rate to a rate not to exceed 100°F/hr and remain in
ES-0.2.

c. Transition to ES-0.3, “Natural Circulation Cooldown with Steam Void in
Vessel (With RVLMS).”

d. Transition to ES-0.4, “Natural Circulation Cooldown with Steam Void in
' Vessel (Without RVLMS).”




Q QUESTION: 009

The following event occurs while Unit 4 is in Mode 3:
- RCS Tavg is 520°F.
- Both NIS Source Ranges indicate an unexplained increase in count rate.

- The RCO initiates emergency boration per ONOP-046.1 “Emergency
Boration.” .

- All equipment functions as designed.
Which ONE of the following is correct for emergency boration termination?
Emergency boration may be terminated when:

a. Tavg is greater than 525° F.

b. Source Range count rates are stable ‘or decreasing.

a minimum of 9 minutes has passed since boration initiation.

c
‘ d. a minimum of 39 minutes has passed since boration initiation.







QUESTION: 010

A total loss of CCW occurs on Unit 4 while at 100% power.
Which ONE of the following is correct?
Damage will occur quickest to the Charging pump:
a. oil pump with the Charging pump run at minimum speed.
b. oil pump with the Charging pump run at maximum speed.
c. fluid drive coupling with the Charging pump run at minimum spéed.

fluid drive coupling with the Charging pump run at maximum speed.






QUESTION: 011

With Unit 4 stable at 2% power, the RCO observes that the Reactor Trip Breakers have
no red or green indicating lights lit on the console or on VPB. *

Which ONE of the following correctly describes an event that could have caused this
condition?

a. SR NIS N-31 Instrument Power fuse has blown.
b. SR NIS N-32 Control Power fuse ha; blown.
. IR NIS N-35 Instrument Power fuse has blown.

d. PR NIS N-41 Control Power fuse has blown.
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QUESTION: 012
The following conditions exist on Unit 3:
- The unit is at 2% power.
- All MSIVs are closed.
- A steam line break occurs on the 3A S/G at the safety header.

Which ONE of the following describes the plant response given these conditions?

SI will occur when: .
a. Tavg decreases to 543°F.
b. containment pressure increases to 4 psig.

c. 3A S/G pressure decreases to 485 psig.

d. 3A S/G pressure decreases to 614 psig.




. QUESTION: 013

Unit 4 operators have just transitioned to FR-P.1, ‘“Response to Imminent Pressurized
Thermal Shock Condition.”

The following conditions exist:
- AFW is not available.

- The “A” Standby Feedwater Pump is being used to maintain S/G
inventory.

Which ONE of the following indications should be used to control feed water flow?
Use changes in:
a. RCS pressure.

b. RCS temperature.

c. PRZ level.

. d. S/G pressure.







QUESTION: 014

The following conditions exist on Unit 3:

The operators have completed the IOAs of ONOP- 014 “Main Condenser
Loss of Vacuum.”

The unit was initially at 750 MWe and 26” vacuum with vacuum slowly
decreasing. -

The unit is now at 650 MWe and 23” vacuum with vacuum slowly
decreasing.

Which ONE of the following is the required operator action?

a.

Continue reducing MWe until vacuum stabilizes at greater than or equal to
20.0” vacuum.

Continue reducing MWe until vacuum stabilizes at greater than or equal to
22” vacuum.

Stabilize the plant and continue to investigate the cause of the low vacuum
condition.

Trip the reactor and turbine and perform the actions of E-0, “Reactor Trip
or Safety Injection.” .
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QUESTION: 015

Unit 3 experienced a Loss of All AC Power simultaneous with a complete loss of

Instrument Air.
Operators have restored power to and started the 3A Charging pump.
Which ONE of the following correctly describes the effect on CVCS?

The letdown flowpath:
a. remains open and the charging pump speed goes to minimum.
b. remains open and the charging pump speed goes to maximum.
c. isolates and the charging pump speed goes to minimum.
d. isolates and the charging pump speed goes to maximum,
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Unit 3 is in Mode 3 with the following conditions:

‘ ‘ " QUESTION: 016
|
]
|
|

- A loss of a 120V Vital Instrument Panel has caused VCT level indicator
LI-3-115 to indicate zero level.

- Annunciator- A 4/6 “VCT HI/LO LEVEL” is in alarm.

Which ONE of the following is correct for the given conditions?

VCT Auto Makeup:
a. initiates and charging pump suction remains aligned to the VCT.
b. initiates and charging pump suction auto swaps to the RWST.

c. is disabled and charging pump suction remains aligned to the VCT.

d. is disabled and charging pump suction auto swaps to the RWST.




QUESTION: 017

Unit 3 operators have initiated an RCS cooldown while responding to a faulted/ruptured
S/G per ECA-3.2, “SGTR With Loss of Reactor Coolant-Saturated Recovery Desired.”

Which ONE of the following identifies the limitations on the cooldown rate and the
reason for initiating the cooldown?

COOLDOWN RATE * REASON/BASIS -

a. 50°F/hr " Minimize radioactive release
b. S50°F/hr Prevent S/G overfill
C. 100°F/Hr Minimize radioactive release

d. 100°F/Hr Prevent S/G overfill







‘ : QUESTION: 018

Unit 3 is at 100% power with the 3C ICW Pump out of service.

Which ONE of the following describes a situation that would result in a complete loss of
ICW flow to the unit? |

A grass influx that completely blocks-flow to the:
| a. 3A1 and 3A2 Intake Wells.
b. | 3B1 and 3B2 Intake Wells.
1 c. 3Al and 3B1 Intake Wells.

d. 3A2 and 3B2 Intake Wells.
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‘ " 'QUESTION: 019

The fire team is fighting a class C fire in an energized 480 volt Load Center. All
available CO; extinguishers have been expended and the fire is still not under control.

Which ONE of the following identifies the preferred fire fighting equipment that should
be used in this situation?

a. Fire hoses with fog nozzles
b. Portable H20 extinguishers
c. Dry Chemical fire extinguishers

d.  Portable Halon fire extinguishers
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‘ QUESTION: " 020

The following conditions exist:
- Unit 3 is in Mode 5.
- Unit 4 was initially at 100% power.

- The Control Room has been evacuated due to a fire in the Cable Spreading
Room. )

- Safe Shutdown conditions have been established on Unit 4.

Both Units are stable.

Which ONE of the following identifies the Unit 4 480V Load Centers that will be
energized at this time?

a. Only A and C Load Centers
b. A, C and H Load Centers

. c. Only B and D Load Centers
d. B, Dand HLoad Centers
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" QUESTION: 021

Which ONE of the following is an indication or control that is on the Unit 3 Alternate
Shutdown Panel?

a. 3A EDG voltage indicator

b. RCS Loop Flow indicator

d. 3A Charging pump control switch

|

| ]

| ‘ c. “C” AFW pump T&T valve control switch
|

|







o

‘ QUESTION: 022

~ Unit 3 operators are performing step 14 of E-0, “Reactor Trip or Safety Injection” to
determine if Containment Spray is required. Containment pressure is 22 psig.

Which ONE of the following states the reason for verifying Phase B Isolation has
occurred?

" To ensure;
a. éhe MSIVs are closed due to the high Containment pressure.
‘ - b. the RCP seals and motors do not overheat.
j c. that potential release paths from the containme:nt are isolated.

d. system alignment is correct for containment spray operation.
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‘ " QUESTION: 023

Operators are responding an inadequate core cooling condition using FR-C.1, “Response
to Inadequate Core Cooling.”.

Which ONE of the following is correct-regarding RCP operation?
Ifan RCP is:
a. initially running, it should be left running until it tr'ipS by itself.

b. initially running, it should be left running until #1 seal delta P trip criteria -
is met.

c. not running, it should be left off until 6% [32%] level is attained in its
associated S/G.

d. not running, it should be left off until 6% [32%] level is attained in any
S/G. |







QUESTION: 024

Operators are performing 3-0N0P-041.51, “Excessive Reactor Coolant System Activity,” |
and have just reduced Tavg to less than 500°F as directed by the procedure.

Which ONE of the following describes the basis for reducing Tavg to less than S00°F?

a. To block SI in preparation for a controlled cooldown.

b. To allow closing the MSIVs in preparation for a controlled cooldown.

c. To prevent the release of activity in the e;vent of a main steam line break
upstream of the MSIVs.

d. To ensure the saturation pressure of the RCS is below the lift pressure of

the atmospheric relief valves.



‘ QUESTION: 025

The following conditions exist on Unit 3:

The unit was initially at 100% power.
A reactor trip occurred.

All rods fully insert except Control Bank B Group 2 rods, which remain
fully withdrawn.

Reactor power is 2% and decreasing.

Intermediate range NIS channels N-35 and N-36 indicate
a SUR of -0.3 dpm. )

E-0, “Reactor Trip or Safety Injection” step 4 has been completed.‘

Which ONE of the following identifies the correct procedure use?

‘Remain in E-0 and emergency borate while performing E-0.

Transition to FR-S.2 ,“Response to Loss of Core Shutdown.”

Transition to ES-0.1, “Reactor Trip Response” and then emergency borate."

Transition to FR-S.1, “Response to Nuclear Power Generatio/ATWS.”




|
‘ "' QUESTION: 026

|
The following conditions exist on Unit 4:
- Low PRZ pressure SI has occurred.
- All 4 HHSI pumps are running.
- PRZ level is increasing.
- RCS pressure is 1450 psig and decreasing.
- HHSI cold leg flow indication (FI-943) is zero.
- PRT pressure and level are increasing.

Which ONE of the following describes the events that could have caused these
conditions?

a. A PRZ PORVY is open and the HHSI isolation valves, MOV-843A and
MOV-843B, failed to open.

b. A PRZ PORY is open and the HHSI line downstream of the HHSI
. isolation valves, MOV-843A and MOV-843B, has sheared.

C. A PRZ Spray valve is open and the HHSI isolation valves, MOV-843A
and MOV-843B, failed to open.

d. A PRZ Spray valve is open and the HHSI line downstream of the HHSI
pumps has sheared.




a.

QUESTION: 027

Unit 3 operators are responding to a LOCA and have transitioned to E-1when the STA
reports that RCS Cold Leg temperatures are 310°F.

Which ONE of the following describes the correct operator response?

Transition to FR-P.1, “Response to Imminent Pressurized Thermal Shock
Condition,” and perform the actions of FR-P-1 if RCS pressure is greater
than 250 psig.

Transition to FR-P.1, “Response to Imminent Pressurized Thermal Shock
Condition,” and perform the actions of FR-P-1 if RCS pressure is less than
250 psig.

Transition to FR-P.2, “Response to Anticipaied Pressurized Thermal
Shock Condition,” and perform the actions of FR-P-2 if RCS pressure is
greater than 250 psig.

Transition to FR-P.2, “Response to Anticipated Pressurized Thermal
Shock Condition,” and perform the actions of FR-P-2 if RCS pressure is
less than 250 psig.
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‘ QUESTION: 028

Unit 3 operators are performing Step 16 of EOP-ES-1.2 “Post LOCA Cooldown and
Depressurization.”

The following conditions exist:
- One Unit 3 HHSI pump is ru.nning.
- One RHR pump is running. .
- Two Charging pumps are running at maximum flow.
- Containment temperature is 178°F.
- CET subcooling is 68°F
- RCS Thot temperatures are 320°F.
- RCS pressure is 260 psig.
- No RCPs are available.
. - PRZ level is stable at 30%.

Which ONE of the following describes the operating HHSI/RHR pump configuration -
when the operators isolate the accumulators?

a. Zero HHSI pumps, Zero RHR pumps.
b. Zero HHSI pumps, One RHR pump.

c. One HHSI pump, Zero RHR‘pumps..

d. One HHSI puinp, One RHR pump.




‘ QUESTION: 029

Which ONE of the following describes a condition that would prevent successful
transition to Cold Leg recirculation?

a. Only one of the RHR Pump Suction Stop valves, MOV-750 or
MOV-751 can be energized.

b. Only one of the RHR Suction from RWST valves, MOV-862A or
MOV-862B can be energized.

c. Containment Recirculation Sump Isolation valves MOV-860A and
MOV-860B will not open.

d. Containment Recirculation Sump Isolation valves MOV-860A and
MOV-861A will not open.







QUESTION: 030
Utiit 4 is in Mode 5 and all loops are filled.
The following equipment is out of service:
- RHR Loop A
- 4CICW purﬁp
- 4C CCW pump

Which ONE of the following will result in a loss of RHR required capability per
3-0P-050, “Residual Heat Removal System?”

A failure of the:
a. 4A EDG.
b. 4B CCW H/X.

C. 4A CCW pump.

d. 4B ICW pump.







QUESTION: 031

Unit 3 is in Mode 1 when operators responded to PRZ pressure transmitter, P'i‘—445,
failed high.

The following stable conditions now exist:

- Reactor Power 80% -

- Tavg 572 °F

- PRZ Pressure 2150 psig
- PRZ Level 48%

Which ONE of the followmg is the operator response required by Technical
Specxﬁcatlons?

a. Restore PRZ level to greater than 48%.
b. Restore PRZ pressure to greater than 2200 psig.

c. Reduce Tavg to less than 570°F.

d. uReduce Reactor Power to less than 75%.







QUESTION: 032

The followiqg conditions exist on L'Init 3: ‘
- Reactor power is 22% with operators performing a plant startup. |
- NIS Intermediate range channel N-36 fails high.

Which ONE of the following is the correct operator response?
a. ‘Enter E-0, “Reactor Trip or Safety Injection.”

b. Place the N-36 LEVEL TRIP switch in BYPASS and continue the power
ascension.

c. Place the N-36 LEVEL TRIP switch in BYPASS and reduce power below
permissive P-6,

d. Place the N-36 LEVEL TRIP switch in BYPASS and reduce power below
permissive P-10.
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The following conditions exist:

" QUESTION: 033

Unit 3 is at 100% power.
PRMS Channel R-15 (Condenser Air Ejector monitor) has alarmed.
At 0800, 3C S/G tube leakage is calculated to be 110 GPD.

At 0900, 3C S/G tube leakage is calculated to be 160 GPD.

Which ONE of the following is the correct operator response?

a.

Increase S/G sampling frequency and return to procedure and step in
effect.

Place the unit in Mode 3 within 1 hour.

Place the unit in Mode 3 within 6 hours.

Trip the reactor and enter E-0 “Reactor Trip or Safety Injection.”




QUESTION: 034
The following has occurred on Unit 3:
- Operators are ;esponding to a SGTR.

- They are performing a cooldown in E-3, “Steam Generator Tube
Rupture,” to increase subcooling prior to RCS depressurization.

- The STA informs tlie crew that a Red Path exists on the Integrity Status
Tree. )

Which ONE of the following describes the correct operator response?

If the RCPs are:
a. running , then stop the cooldown, and continue performing E-3.
b. running, then continue the cooldown, and continue performing E-3.

c. not running, then stop the cooldo{m', and transition to FR-P.1.

d. not running, then continue the cooldown and continue pe:rforming E-3.




‘ QUESTION: 035

Which ONE of the following describes the basis for verifying AFW flow is greater than
390 gpm following a loss of main feedwater event?

390 gpm is the minimum AFW flow required in the event:
a. an ATWS occurs.
b. only one AFW pump is running.
c. any S/G level is below 6% NR.

d. all S/G levels are below 6% NR.
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‘ QUESTION: 036

Unit 3 operators have entered FR-H.1 “Response to Loss of Secondary Heat Sink.”
The following éonditions exist:

- No Main Feedwater Pumps are available.

- No Auxiliary Feedwater Pumps are available.

- The RCPs are off.

.- Annunciator E 2/6 “HI-HI SG LVL TURBINE TRIP/FEEDWATER
" ISOLATION is in alarm.

- The operators are preparing to re-establish feedwater using a Standby
Steam Generator Feedwater Pump.

Which ONE of the following describes the minimum Control Room action(s) required to
re-establish feed flow to the S/Gs?

Reset:
. a. SI |
' b.  PhaseA
C. Feedwater Isolation

d. SI and Feedwater Isolation




‘ ' QUESTION: 037

The following conditions exist on Unit 3:
- The unit has z; normal electrical lineup.
- 3C ICW pump is running.
- A loss of the normal DC control power supply to the 3D 4KV Bus occurs.

Which ONE of the following describes the indications that would now exist on VPA for
the 3C ICW pump? .

a. Red light on - Normal amps '
b. Green light on - No amps

c. Red and Green lights off - Normal amps

d. Red and Green lights off. - No amps







QUESTION: 038
Which ONE of the following describes the Immediate Operator Action(s) of
0-ONOP-066, “High Area Radiation Monitoring System Alarm,” in the event
Annunciator X 4/1, ARMS HI RADIATION, alarms?
Identify the alarming channel(s) at the ARMS panel and then:

a. announce the alarm over the plant page system.

b. notify Security to restrict entry to the affected areas.

c. press the ALARM ACK pushbutton on the ARMS control panel.

d. cross-check the alarming ARMS channel(s) with PRMS channel(s) in the
affected area.
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‘ QUESTION: 039

Unit 4 operators are responding to a LOCA and have entered E-1 “Loss of Reactor or
Secondary Coolant.” '

- The TSC is not yet operational.
- Containment temperature peaked at 200°F and has dropped to 170°F.

- ‘Containment radiation peaked at 1.3 x 10°R/hr and has dropped to
1.2 x 10° R/hr.

Which ONE of the following is correct?
Intact S/G levels should be maintained in the NR between:
a. 6% and 32%

b.  15% and 32%

c. 15% and 50%

. d.  32%and 50%







‘ QUESTION: 040

Unit 4 operators have e;lt-ered 0-ONOP-13, “Loss of Instrument Air” in response to
Annunciator I 6/1, INST AIR SYSTEM HI TEMP/LO PRESS.

The following conditions exist:
- All available air compressors are running.
- Instrument Air pressure indicator, PI-4-1444, is 60 psig and stable.
Which ONE of the following identifies the equipment that will be affected?
" Unit 4: ’ |
a. MSIVs will fail closed.
b. Feedwaier Reg Valves will fail closed.

c. EDG Fuel Oil Transfer capability will be lost.

d. ° Train 1 AFW FCV automatic operation will be lost.




QUESTION: 041

Unit 4 is at 100% power with all systems operating in automatic and all switches in their

normal positions.

PRZ level transmitter LT-459 fails low.

Which ONE of the following describes the plant response?

a.

Charging flow will decrease.
Letdown will isolate.

Charging flow will decrease.
Letdown will remain in service.

Charging flow will increase.
Letdown will isolate.

Charging flow will increase.
Letdown will remain in service.







QUESTION: 042
The following conditions exist with Unit 3 at 100% power and all systems operable:
- 3D 4KV Bus is aligned to 3A 4KV Bus.
- ?B and 3C ICW Pumps are running.
The following events occur: ‘
- A loss of offsite power (LOOP) occurs on Unit 3.
- The 3B EDG fails to start.

Which ONE of the following describes the ICW pump configuration when sequencing is
complete (assume no operator response)?

a. No ICW pumps will be running.
b. Only the 3A ICW pump will be running,
c. Only the 3C ICW pump will be running.

d. The 3A and 3C ICW pumps will be running.
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QUESTION: 043
Unit 4 operators are performing FR-H.2 “Response to S/G Overpressure.”

Current conditions are as follows:

4A S/G pressure is 1135 psig.

4A S/G level has risen to 60%.

RCS Thot temperatures are 520°F.

- All three RCPs are running,
Which ONE of the following describes how to correctly reduce pressure in the 4A S/G?
a. Stop the 4A RCP.
b. Dump steam from the 4A S/G.
c. Dump steam from the unaffected S/Gs.

d. Reduce 4A S/G inventory using the S/G blowdown system.




" QUESTION: 044
Unit 3 is stable at 75:/«: power with all systems in automatic and Tavg matched with Tref .
'fhe following events occur:

- .3A Steam Generator Feed pump breaker trips open.

- Generator load has stabilized follgwing the turbine runback.

The RCO observes the following indications:

- Tavg: 555°F and decreasing
- Tref 559°F and stable
- Control Rods Inserting

Which ONE of the following describes the correct immediate operator action?

a. Maintain rods in AUTO and if rods continue to insert, adjust turbine load
to match Tavg to Tref.

b. Maintain rods in AUTO and if rods continue to insert, adjust boron
concentration to match Tavg to Tref.

c. Place rods in MANUAL and if rods continue to insert, adjust turbine load
to match Tavg to Tref.

[

d. Place rods in MANUAL and if rods continue to insert, adjust boron
concentration to match Tavg to Tref.







QUES:I'ION: 045
The following plant conditions exist:
- Containment Phase “A” isolation has occurred.
- The isolation signal has not yet been reset.
Which ONE of .the following describes the effect this condition wiil have on RCP ‘
Number 1 seal leak off flow? |
Number 1 seal leak off flow will: ‘
a. decrease because VCT level has increased.
b. decrease because the backpressure has increased.

C. go to zero because RCP Seal Return to VCT valve, MOV-381, is closed.

d. g0 to zero because #1 Seal Leakoff Isolatiox; valves, 3034, 303B, and
303C are closed.
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. : QUESTION: 046

A reactor startup is being performed on Unit 3. The following conditions apply:

The ECC estimated critical rod height is D bank at 110 steps.
The initial highest source range count rate was N-31 at 250 cps.
The current N-31 count rate is 1000 cps.

Based on the current N-31 count rate, the 1/M plot predicts criticality at
D bank, 180 steps.

Integféted rod worth for D-110 is 490 pcm.

Integrated rod worth for D-180 is 160 pcm.

Which ONE of the following is the correct operator response?

a.

Do not continue the reactor startup, Obtain permission from the NPS to
continue,

Do not continue the reactor startup. Obtain permission form the Reactor
Supervisor to continue.

Continue the reactor startup. If the prediction is still D-180 after the next
doubling, obtain permission from the NPS to continue.

Continue the reactor startup. If the prediction is still D-180 after the next
doubling, obtain permission from the Reactor Supervisor to continue.

"
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QUESTION: 047
Which ONE of the following describes the purpose of the interlocks between CVCS
Letdown Isolation valve, LCV-460, and the Letdown Orifice Isolation valves, 2004,
200B, & 200C?
The interlocks prevent damage to:

a. LCV-460 upon depressurization of the letdown line.

b. CV-200A4, 200B, 200C upon depressurization of the letdown line.

c. the Regenerative Heat Exchanger upon subsequent repressurization of the
letdown line. .

d. RV-203, Letdown Relief Valve, upon subsequent repressurization of the
letdown line.






‘ QUESTION: 048

The following conditions exist on Unit 3:
- Reactor power is stable at 10 amps.
- “PRZ Pressure Control Channel” PT-444 fails high.

"Assuming no operator action, which ONE of the following descnbes the response of the
plant to this condition?

a. The reactor will trip when PRZ pressure increases to 2385 psig.
b. PRZ pressure will stabilize at approximately 2000 psig .

c. The reactor will trip when PRZ pressure decreases to 1835 psig.

d. SI actuation will occur when PRZ pressure decreases to 1730 psig.




‘ QUESTION: 049

Unit 3 is at 100% power and Annunciator B 9/3, SHUTDOWN ROD OFF
TOP/DEVIATION is not operational.

Which ONE of the following describes the action that operators must take at least once
every 4 hours?
|

Verify RPIs and Step Counters agree within:

a. 2 steps.
b. 12 steps.
c. 18 steps. .

d. 24 steps.




‘  QUESTION: 050

Unit 3 is stable at 98% power. Reactor Engineering has performed QPTR calculations
using a full core flux map and core exit thermocouples. Both calculations reveal the
QPTR value is 1.03.
Which ONE of the following describes the required operator response?
" Reduce NIS power to less than:
a. 97% within 2 hours.
b: 95% within 2 hours.

C. 91% within 2 hours.

d. 89% within 2 hours.




QUESTION: 051

A Xenon oscillation caused the Axial Flux Difference (AI) meters to display the
following values while Unit 3 was at 80% power:

N-3-41 N-3-42 N-3-43 N-3-44
-14 -15 -20 -21

.“Which ONE of the following describes the required operator response?

a. Return at least one AI meter within the Operational Space within
15 minutes.

b. Return at least one Al méter within the Operational Space within
60 minutes.

c. Return at least two Al meters within the Operational Space within
15 minutes.

d.”  Return at least two AI meters wnthm the Operatxonal Space within
60 minutes.

.

1




‘ QUESTION: 052

Ul;it 3 operators are responding to a spurious SI signal and are attempting to determine if
SI termination criteria are met. The ANPS directs the RCO to check subcooling on
QSPDS.

QSPDS displays the following:

SATURATION MARGIN

DEGF PSI
UPPER HEAD 48 633
RCS (MIN) 36 438
CET 28 340

Assuming other SI Termination Criteria are satisfied, which ONE of the following is
correct?

‘ The RCO should declare SI Termination Criteria are:
| a. not met after observing the RCS (MIN) value.
- . b. not met after observing the CET value.

|
| ‘ c. met after observing the RCS (MIN) value.
| o d met after observing the CET value.

52




QUESTION: 053
A large break LOCA occurs on Unit 3 while the 3B Sequencer is inoperable.
Which ONE of the following describes an effect on the Unit 3 containment?
Containment pressure will be higher because only the:
a. 3A ECC will autostart.
b. 3CECC will autostart.
e 3A and 3C ECCs will autostart.

3B and 3C ECCs will autostart.






. QUESTION: 054

Unit 3 experienced a large break LOCA. Operators have responded with the EOP
network and have completed the actions of ES-1.3, “Transfer to Cold Leg Recirculation.
Containment temperature has decreased to 140°F.

”

Which ONE of the following describes the correct Containment Spray Pump (CSP)

alignment?
a. 1 CSP running with its suction aligned directly to the Containment Recirc.
sump.
b. 1 CSP running with its suction aligned to the Containment Recirc. sump
via the RHR pump discharge. ,‘

c. 2 CSPs running with their suctions aligned du'ectly to the Containment
Recirc. sump.

d. 2 CSPs running with their suctions aligned to the Containment Recirc.
sump via the RHR pump discharge.




‘ QUESTION: 055

Unit 3 is operating at 70% power with all syétefns operable except the 3C Condensate
pump which has its breaker racked out.

The 3A Condensate pump breaker trips open.
Which ONE c;f the following describes the correct operator response?
Perform the actions of:

a. ONOP-089, “Turbine Runback.”

b. a ONOP-100, “Fast Load Reduction.”

c. GOP-103, “Power Operation to Hot Standby.”

d. E-0, “Reactor Trip or Safety Injection.”







‘ QUESTION: 056

Unit 3 is operating at 100% power when the controlling S/G pressure transmitter fails low
on the 3A S/G.

Which ONE of the following describes the effect this will have on the controlling
indicated steam flow and the initial 3A FW Control Valve, FCV-478, response?

Indicated steam flow will:
a. decrease. The FCV will open.
b. decrease. The FCV will close.

c.  increase. The FCV will open.

d. increase. The FCV will close.




QUESTION: 057

With Unit 3 initially at 100% power. and all systems in normal alignment, the 3C S/G
experiences a main steam line break inside Containment.

Which ONE of the following describes the effect this accident will have on the AFW
system? .

a. Train 1 AFW will be lost until the operators open AFSS-3-007.
b. Train 1 AFW will be lost until the operators close AFSS-3-006.

c. Train 2 AFW will be lost until the operators open AFSS-3-007.

d. Train 2 AFW will be lost until the operators close AFSS-3-006.




. .~ QUESTION 058

Unit 3 operators have entered ES-1.1, “SI Termination,” and are preparing to start a Main
Feedwater pump and secure AFW.

The following conditions exist:
- “A” AFW pump is running.
- “B” and “C* AFW pumps are stopped and aligned for auto start.
- The NWE locally starts the 3A Main Feed pump.

- The BOP fails to “red flag” the 3A Main Feed pump control switch
semaphore.

Which ONE of the following describes the effect of the BOP’s failure to red flag the 3A
Main Feed pump control switch semaphore?

a. “B” and “C” AFW pumps will automatically start.
b. AFW pump automatic start capability will be degraded.
. c.-  The 3A Main Feed pump will not trip from an SI signal.

d. The 3A Main Feed pump will automatically trip in 50 seconds.

58




. QUESTION: 059

The following occurs while Unit 3 is in Mode 1:
- DC Bus 3D23 loses power.
| Which ONE of the following operator actions are correct?

a.  Shutdown the unit using GOP-103, “Power Operation to Hot Standby.”
After the unit is stable in Mode 3, then perform ONOP-003.5, “Loss of
DC Buses 3D23 and 3D23A(3B).”

b. Shutdown the unit using GOP-103, “Power Operation to Hot Standby and
perform ONOP-003.5, “Loss of DC Buses 3D23 and D23A(3B),”
concurrently with the actions of GOP-103. *

c. Verify the reactor is tripped using E-0, “Reactor Trip or Safety Injection.”
When the unit is stable, then perform ONOP-003.5, “Loss of DC Buses
3D23 and D23A(3B).”

d. Verify the reactor is tripped using E-0, “Reactor Trip or Safety Injection,”
and perform ONOP-003.5, “Loss of DC Buses 3D23 and D23A(3B),”
concurrently with the Inmediate Actions of E-0.




. ‘

QUESTION: 060

The following conditions exist on Unit 3:
- The unit was at 100% power.
- A spurious SI occurs.

- The operators are responding per the EOP network and have ju:st
transitioned to EOP-ES-1.1, “SI Termination.”

- Annunciator A 7/1, PRT HI/LO LEVEL HI PRESS/TEMP, alarms.

Assuming all systems function as designed, which ONE of the following describes the
probable cause of this alarm? )

a. A PRZ PORY has lifted.

b. CVCS Low Pressure relief valve, RV-209, has lifted..
c. RHR Header to Loops relief valve, RV-706, has lifted.
d. RCP #1 Seal Lealéoﬁ' relief valve, RV-382, has lifted.
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' QUESTION: 061

Operators are investigating an abnormal increase in countrate on PRMS radiation
monitor R-14, PLANT VENT, when they discover pressure in Gas Decay Tank (GDT)
#4 is decreasing. )

No planned GDT releases are in progress and the Gas Decay Tank Diséharge Valve,
RCV-014, is closed.

AfteI: verifying all valve ali.gnments' are correct, which ONE of the following describes
the correct operator response?

Direct the SNPb to:
a. transfer the contents of GDT #4 to another GDT.
b. verify both Auxiliary Building Exhaust fans are running.
c. stop all running Waste Gas compressors.

d. start an additional Waste Gas compressor.
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QUESTION: 062
The Control Room Normal Air Intake radiation monitor, RAI-6642, alarms.

Which ONE of the following .descri,bes the damper response of the Control Building
Ventilation System?

a. Ventilation Inlet dampers, D-1A and D-1B - CLOSE.
East and West Inlet dampers, D-2 and D-3 - OPEN.
Control Room Recirc. dampers, D-11A and D-11B - OPEN.

b. Ventilation Inlet dampers, D-1A and D-1B - OPEN.
East and West Inlet dampers, D-2 and D-3 - CLOSE.
Control Room Recirc. dampers, D-11A and D-11B - OPEN.

c. Ventilation Inlet dampers, D-1A and D-1B - CLOSE.
East and West Inlet dampers, D-2 and D-3 - OPEN.
Control Room Recirc. dampers, D-11A and D-11B - CLOSE.

d. Ventilation Inlet dampers, D-1A and D-1B - OPEN.
East and West Inlet dampers, D-2 and D-3 - CLOSE.
Control Room Recirc. dampers, D-11A and D-11B - CLOSE.




QUESTION: 063
The following conditions exist on Unit 3:
- The umt has been shut down at Beginning-Of-Life for equipment repairs.
- PRZ level is being maintained at 30%.
- RCS temperature is 14.0°F .
The following events occur 10 days after the shutdown:
- The running RHR pump trips and neither RHR pump can be restarted.
- Operators are unable to establish any other method of RCS cooling.

Which ONE of the following identifies the time closest to when the RCS will enter
Mode 4?

a. 12 minutes
b. 35 minutes
c. 42 minutes

d. 50 minutes




QUESTION: 064
A reactor and turbine trip occurs on Unit 3 while at 25% power.

Which ONE of the following describes the response of the Steam Dump to Condenser
(SDTC) system?

a. Only 2 SDTC valves will arm.
The SDTC system will reduce Tavg to no-load Tavg.

b. Only 2 SDTC valves will arm.
The SDTC system will reduce Tavg to within 5°F of Tref.

c. All 4 SDTC valves will arm,
The SDTC system will reduce Tavg to no-load Tavg

d. All 4 SDTC valves will arm,
The SDTC system will reduce Tavg to within 5°F of Tref.




‘ QUESTION: 065
Unit 3 was operating at 100% with all systems in normal alignment. An SI signal occurs.
All systems function as designed.

After sequencing is complete, which ONE of the following describes the number of CCW
load(s) attached to the CCW System as it relates to the CCW “Rule of Five”?

a. One CCW load
b. Two CCW loads
C. Three CCW loads

d. Four CCW loads .




‘ QUESTION: 066

The following conditions exist on Unit 3:
- The unit is in Mode 1.
- The operators have entered 0-ONOP-013 “Loss of Instrument Air.”
- Instrument air pressure is 70 psig and slowly decreasing.
- All available instrument air compressors are runnmg
Which ONE of the following would require the unit to be tripped?
Isolating Instrument Air to the:
a. Intake area.
b. Céntrol Room.
(2 Containment Building.

. d. Unit 3 Main Steam Platform.
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‘ QUESTION: 067

Unit 3 is at 50% power with the 3C Charging pump out of service.
The RCO notes the following Control Room indications:
- Annunciator G 1/2, “CHARGING PUMP HI SPEED” alarms.

- The only running Charging pump (3A) is in Auto with 100% output
demanded.

- PRZ level is 33% and decreasing.
Which ONE of the following describes the required procedural response?

a. Isolate letdown. IfPRZ level continues to decrease, then start the 3B
Charging pump and maximize charging flow.

b. Isolate letdown. IfPRZ level continues to decrease, then trip the reactor
and turbine and transition to E-0, “Reactor Trip or Safety Injection.”

c. Start the 3B Charging pump and maximize charging flow. IfPRZ level
. : continues to decrease, then isolate letdown. .

“d. Start the 3B Charging pump and maximize charging flow. -IfPRZ level
continues to decrease, then trip the reactor and turbine and-transition to
E-0, “Reactor Trip or Safety Injection.”




QUESTION: 068

~ Operators are responding to a large break LOCA. They are currently aligning the ECCS
system for Hot Leg recirculation. Step 10 of ES-1.4, “Transfer to Hot Leg
Recirculation,” directs the operators to start the second RHR pump.

Which ONE of the following describes why the operators are directed to start the second
RHR pump? '

Starting the second RHR pump allows the operators to:
a. start a second HHSI pump to increase hot leg injection flow.

b. direct flow simultaneously to the cold legs and to the suction of the HHSI

pump.
c. align alternate hot leg recirculation using RHR Recirculation Isolation
valve, 741A.
d. align alternate hot leg recirculation using Alternate Low Head Injection
valve, MOV-872.
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‘ QUESTION: 069
| Unit 3 is in Mode 5 when RCS loop pressure transmitter, PT-405, fails high.
| Which ONE of the following identifies the effect of this failure on:

|

|

1) PRZ PORYV -455C and PORV - 456
2) Loop 3C RHR Pump Suction Stop Valves, MOV-750 and MOV-751?

PORV-455C  PORV-456 MOV-750  MOV-751
a. OPENS NONE NONE CLOSES
b. OPENS NONE CLOSES  NONE
c. NONE OPENS NONE CLOSES

d. NONE OPENS CLOSES NONE




‘ QUESTION: 070

During operation at reduced power the following conditions exist:
- Tavg is 560°F.
- PRZ level is 45%.
- PRZ pressure is 2230 psig. .
Which ONE of the following describes the PRZ heater status the RCO should verify? ‘

a. Control Group - On.
Backup Groups - On.

b. Control Group —On.
Backup Groups - Off.

c. Control Group — Off.
Backup Groups — On.

d. Control Group - Off.
‘ Backup Groups — Off:




Q QUESTION: 071
Which ONE of the following would result in the OTAT reactor protection trip setpoint
being reduced? Consider each parameter independently.

a. AT increasing
b. Tavg increasing
c. PRZ pressure increasing

d. Reactor Power decreasing







QUESTION: 072

Unit 3 is operating at 100% power with all systems in their normal configuration, when
the Tavg Median Signal Selector, TM-408, fails low.

Which ONE of the following describes the plant response?
a. Control rods will not move. Charging pump speed will increase.
b. Control rods will not move. Charging pump speed will decrease.

c. Control Rods will step in. Charging pump speed will increase.

d. Control rods will step in. Charging pump speed will decrease.




‘ QUESTION: 073

The following refueling conditions exist on Unit 4:
- Core off-load is in progress.
- A reactor vessel refueling cavity seal failure occurs.

Assuming no operator action, which ONE of the following describes the effect on a fuel
assembly that is upright in the spent fuel pool upender?

The fuel assembly in the upender will be:
a. completely uncovered.
b. partially uncovered.
c. covered with a few inches of water above it.

d. covered with a few feet of water above it.

1

73







‘ - QUESTION: 074

The following initial conditions existed on_Unit 3:
- Reactor power was 80% and stable.
- Tavg was equal to Tref.
- All systems are in automatic.
A small steam leak then occurs on the main steam header.

Which ONE of the following describes the actual reactor power and Tavg (prior to
operator action), and the proper operator response?

Rx Power Tavg Operator Reggghse

a. lower lower Reduce Turbine Load

b. higher lower Reduce Turbine Load

c. lower higher Insert Control Rods
. d. higher higl‘xer Insert Control Rods
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QUESTION: 075

The following conditions exist on Unit 3:
- The unit is in Mode 3 with Tavg at 545°F.

- The Steam Dump to Condenser (SDTC) system Mode Selector switch is
in the MAN position.

- PT-464, Steam Header Pressure, fails high.

Which ONE of the following describes the effect on the SDTC system?

a. Only 2 valves will open and will remain open.

b. Only 2 valves will open and then close when Tavg decreases to 543°F.
c. All 4.valves will open and will remain open.

d. All 4 valves will open and then close when Tavg decreases to 543°F.
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QUESTION: 076

Which ONE of the following identifies the first PRMS detector that should respond to a
SGTR and the effect on the detector?

a. Condenser Air Ejector Monitor, R-15. R-15 will be automatically
isolated.

b. Condenser Air Ejector Monitor, R-15. R-15 will not be automatically
isolated. .

c. Steam Generator Blowdown Sample Monitor, R-19. R-19 will be
automatically isolated. )

d. Steam Generator Blowdown Sample Monitor, R-19. R-19 will not be
automatically isolated.




QUESTION: 077

Unit 3 is at 100% power with its Startup Transformer out of service when an automatic
reactor trip occurs.

- The 3A EDG starts and repowers the 3A 4KV Bus.
- The 3B EDG locks out and cannot be restarted.

The Unit 3 ANPS directs the BOP to use 3-ONOP-004.3, “Loss of 3B 4KV Bus,” to
restore power to the 3B 4KV Bus.

Which ONE of the following describes how power will be restored to the 3B 4KV Bus?
Power will be restored to the 3B 4KV Bus ﬁ'c;m the:

a. 3A 4KV Bus.

b. Unit 4 Startup Transformer.

[ 3C 4KV Bus.

d. Station Blackout 'i‘ie Line.




QUESTION: 078

Unit 3 is operating at 100% power with all systems in normal alignment. 3A EDG is
being run for surveillance purposes and is presently tied to the 3A 4KV Bus.

The following events occur:

A main generator lockout occurs.

Startup transformer breaker, 3AA0S, fails to close and is mechanically
bound.

3A Reactor Coolant Pump breaker, 3AA01, fails to automatically open.

Which ONE of the following describes the required operator response?

a.

Manually open EDG breaker 3AA20, strip the 3A 4KV Bus using
3-ONOP-004.2, “Loss of 3A 4KV Bus,” and manually close breaker
3AA20,

Manually open EDG breaker 3AA20, strip the 3A 4KV Bus using
3-ONOP-004.2, “Loss of 3A 4KV Bus,” and verify breaker 3AA20
automatically closes.

Verify EDG breaker 3AA20 automatically opens, strip the 3A 4KV Bus
using 3-ONOP-004.2, “Loss of 3A 4KV Bus,” and manually close breaker
3AA20.

Verify EDG breaker 3AA20 automatically opens, strip the 3A 4KV Bus
using 3-ONOP-004.2, “Loss of 3A 4KV Bus,” and verify breaker 3AA20
automatically closes.




QUESTION: 079

Unit 3 is at 100% power when PRMS R-3-20, Reactor Coolant Letdown, radiation
monitor alarms. HP investigates and surveys the area in the Pipe and Valve Room.

The HP Supervisor reports the presence of a Hot Spot that is reading 400 mr/hr at 2 feet
from the source.

" Which ONE of the following identifies the distance from the source at which the
measured dose rate will be 100 mr/hr?

a. 4 feet
b. 6 feet
c. 8 feet

10 feet






‘ QUESTION: 080

Unit 3 was operating at 100% power when the following events occurred:
- A Loss of Off Site Power (LOOP)
- The 3A1 Circulating Water Pump breaker did not open.
- All other systems responded as designe&.
Which ONE of the following describes the effect on the 3A EDG breaker and 3A

Sequencer? ’
3A EDG Breaker 3A Sequencer
a. Remains OPEN Sequences
b. Remains OPEiJ Does Not Sequence
C. Automatically CLOSES Sequences

d. Automatically CLOSES Does Not Sequence




‘ QUESTION: 081

Units 3 and 4 are at 100% power when the following events occur:
- A loss of instrument air has occurred on both units.
- 3CM, 3CD, 4CM, and 4CD instrument air compressors are all inoperable.

- The NPO has been directed to open the four inch Service Air Supply to
th 3/Unit 4 Tie Valve.

- The NPO reports that the four inch Service Air Supply valve cannot be
opened.

Which ONE of the following describes the correct operator résponse?
Open the:

a. Service Air Supply valve from Units 1 & 2.

b. Instrument Air Supply valve from Units 1 & 2.

. c. Breathing Air Supply cross-tie valve,
'd.  twoinch Service Air Supply to Unit 3/Unit 4 tie valve.

81




‘ QUESTION: 082

Both units are at 100% power when a leak occurs in the Main Fire Loop. Loop pressure
decreases continuously.

Which ONE of the following identifies the first pump to auto start?
.a. The standby Jockey pump
b. The standby Service Water pump

c. The Electric Fire pump

d. The Diesel Engine Driven Fire pump




QUESTION: 083
Unit 4 is at 100% power.

Which ONE of the following cénditions, per Tech. Specs., would require action to be
taken within one hour to prevent a plant shutdown?

a. RCS Tavg is 543°F.
b. RCS pressure boundary leakage is 1 gpm.
C. Containment pressure is 3.1 psig.

d. Containment temperature is 122°F.
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QUESTION: 084
A large break LOCA occurred on Unit 4.

In accordance with ODI-C0O-028, “Conduct of Crew Briefs,” Which ONE of the
following describes when a crew brief should be held during performance of the EOPs?

a. After Step 4 of E-0 is complete.
b. After Step 16 of E-0 i§ complete.

C. Upon transitioning from E-0.

d. Upon making the Emergency Classification. -







| ‘ ~ QUESTION: 085

Which ONE of the following identifies the minimum shift manning requirements with
one unit in Mode 1 and the other unit in Mode 5?

NPS SRO RO AO STA

a. 1 2 3 3 1

b. 1 1 3 3 1




aan




QUESTION: 086
Unit 4 is in Mode 3 and PRZ pressure is 2235 psig.

Which ONE of the following conditions results in HHSI Loop B hot leg check valve,
4-874B, having acceptable leakage in accordance with Tech. Specs.?

a.  The currently measured leakage is 5.5 gpm.

b. The previously measured leakage was 0.5 gpm and the currently measured

leakage is 3.0 gpm.

c. The previously measured leakage was 2.0 gpm and the currently measured
leakage is 3.7 gpm.

d. The previously measured leakage was 4.0 gpm and the currently measured

leakage is 4.4 gpm.







QUESTION: 087

Engineering is analyzing Spent Fuel Pool Heat Exchanger performance and requests the
Operations Department to swap to the low SFP pump suction, from the currently
configured high SFP pump suction as described in the FSAR.

Which ONE of the following describes the required action(s) to comply with
Engineering’s request?

a. A “One Time Only” approved OTSC is required.
b. Stationing an operator as a Human Clearance is required.

c. An approved Safety Evaluation and Temporary Procedure are required.

d. Operations Manager approval is required and the NRC Resident must be
on site,




‘ ’ QUESTION: 088

A Safety Evaluation has been performed ori a proposed plant change and the results
reveal that the margin of safety, as defined in the basis of Tech. Specs, will be reduced.

Which ONE of the following is correct régarding implementation of the proposed
change?

a. An Unreviewed Safety Question exists,
NRC authorization is required prior to implementation.

b. An Unreviewed Safety Question:exists.
NRC authorization is NOT required prior to implementation.

c. An Unreviewed Safety Question does NOT exist.
NRC authorization is required prior to implementation.

d. An Unreviewed Safety Question does NOT exist.
NRC authorization is NOT required prior to implementation.




‘ ' QUESTION: 089

Unit 3 is at 100% power.

Mechanical Maintenance is planﬁning to erect a scaffold over Redundant Safety Related
Equipment to perform trouble shooting activities.

Which ONE of the following identifies the hxghest level of approval required for the

w erection of this scaffolding?

i ,‘ a. ANPS

‘ b. NPS

| “ c. Operations Supervisor

d. Operations Manager
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‘ " QUESTION: 090

The following conditions exist:
- Unit 3 is in Mode 1.
- Unit 4 is in Mode 3.

Which ONE of the following correctly states the Condensate Storage Tanks system
minimum indicated volume required by Technical Specifications and its basis?

VOLUME BASIS
a. 210,000 gal. Provides sufficient volume to cooldown the RCS to

below 350°F within 15 hours.

b. 210,000 gal. Provides sufficient volume to maintain the RCS
at Hot Standby for approximately 23 hours.

c. 420,000 gal. " Provides sufficient volume to cooldown the RCS to
below 350°F within 15 hours.

* d. 420,000 gal. Provides sufficient volume to maintain the RCS
. at Hot Standby for approximately 23 hours.







" QUESTION: 091 ‘

A spent fuel assembly is suspended from the manipulator crane wher; a Refueling Cavity
seal failure occurs. .

\
l
Which ONE of the following describes the correct manipulator operator response? {
a. Insert the assembly into the upender and unlatch it. '
b. Insert the assembly into the upender and leave it latched. ‘
c. Return the assembly to the reactor core and unlatch it.

d. Return the assembly to the reactor core and leave it latched.
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‘ QUESTION: 092

Rod Control is i automatic with reactor and turbine power stable.

" Which ONE of the following rod control inputs will result in control rod speed of 40
steps per minute?

_Tavg greater than Tref by:
a.  275F
. b. 3.0°F

c.  3.25F

d. 4.0°F




QUESTION: 093
As the NPS you have been asked to approve the attached Liquid Release Permit.
Which ONE of the following identifies why you should not approve the permit?
a. The specific activity of the tank is too high.
b. The specific activity'is for the wrong tank.

c. The X C/EC limit has been exceeded.

d. The Administrative Release limit has been exceeded.




QUESTION: 094
Which ONE of the following conditions would prevent the use of the Post Accident
Containment Vent system to purge Containment atmosphere to the in-service Gas Decay
Tank (GDT), following a LOCA?

a. Containment pressure is 15 psig.

b. Containment temperature is 120°F.

c. In-service GDT Oxygen concentration is 1%.

d. In-service GDT Hydrogen concentration is 3%.
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The following conditions exist on Unit 3:

‘ ~ QUESTION: 095
|

- The ANPS is reading ECA-2.1, “Uncontrolled Depressurization of All
Steam Generators,” step 3, “Control Feed Flow to Minimize RCS
Cooldown.”
- 'I_‘he operator observes 3B S/G pressure is now increasing.
Which ONE of the following is the correct operator action?
a." Returnto step 1 of ECA-2.1.
b. Continue in ECA-2.1 from the present step.

c. Transition to E-2, “Faulted Steam Generator.”

Transition to E-1, “Loss of Reactor or Secondary Coolant.”







QUESTION: 096

Unit 4 is operating at 100% power with the 4A EDG out of service when the following
sequence of events occur:

- The operators respond to an ATWS using FR-S.1, “Response to Nuclear
Power Generation/ATWS.”

- The reactor trips due to a loss of off-site power.
- The 4B EDG locks out and cannot be restarted.
Which ONE of the following describes the correct operator response?

a. Complete the actions of FR-S.1 and then go to ECA-0.0, “Loss of All AC
Power.” Power will be restored to a 4KV bus using the appropriate ONOP
upon completion of ECA-0.0.

b. Complete the actions of FR-S.1 and then go to ECA-0.0, “Loss of All AC
Power.” Power will be restored to a 4KV bus using the appropriate ONOP
while performing the actions of ECA-0.0. :

c. Stop performance of FR-S.1 and immediately go to ECA-0.0, “Loss of All
AC Power.” Power will be restored to a 4KV bus using the appropriate
ONOP upon the completion of ECA~0.0.

d. Stop performance of FR-S.1 and immediately go to ECA-0.0, “Loss of All
AC Power.” Power will be restored to a 4KV bus using the appropnate
ONOP while performing the actions of ECA-0,0.




‘ QUESTION: 097

Unit 3 is at 100 % power when all Unit 3 annunciators are suddenly blacked out.
No reactor trip signals are generated and the plant remains at full power.

" Which ONE of the following describes the correct operator response?
a. Maintain the plant stable and dispatch an operator to DC Bus 3D01.
b. Maintain the plant stable and dispatch an operator to DC Bus 3D23.

c. Trip the reactor and turbine and dispatch an operator to DC Bus 3D01.

d. Trip the reactor and turbine and dispatch an operator to DC Bus 3D23.







QUESTION: 098

Which ONE of the following would require the Emergency Coordinator to direct
Chemistry personnel to perform 0-EPIP-20126, “Off-site Dose Calculations™?

a. A Site Area Emergency has been declared.
b. An Owner Controlled Area Evacuation has been implemented.
c. 'PRMS R-14, Plant Vent, has increased by a factor of 20.

d. Airborne radioactivity levels outside of plant buildings are 10% of DAC.






' QUESTION: 099

Which ONE of the following is the minimum PARs that shall be issued for a declared
General Emergency?

a. ' Shelter all people within a 2 mile radius from the plant and 5 miles in the
down wind sectors.

b. Shelter all people within a 2 mile radius from the plant and 10 miles in the
down wind sectors.

c. ' Evacuate all people within a 2 mile radius from the plant and shelter all
people between 2 and 5 miles in the down wind sectors.

d. Evacuate all people within a 2 mile radius from the plant and shelter all
people between 2 and 10 miles in the down wind sectors.




e anl

‘ .+ QUESTION: 100

Unit 3 was operating at 100% power when the reactor tripped. The RCO observes the
following Intermediate Range trace on NIS recorder NR-45:

N-35 Trace on NR-45
‘ [
w10 0 w0t T et 1wt ! P
Amps

‘ . Which ONE of the following statements is correct?

| a. N-35 is under compensated.
‘ The NIS Source Ranges will automatically energize.

b. N-35 is under compensated.
The NIS Source Ranges will not automatically energize.

c. N-35 is over compensated.
The NIS Source Ranges will automatically énergize.

d. N-35 is over comp'ensated.
The NIS Source Ranges will not automatically energize.

100
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February 17, 2000

NOTETO: NRC Document Control Desk
Mail Stop 0-5-D-24 .

FROM: Beverly Michael, Licensing élstant Operator Licensing and Human
. Performance Branch, Division of Reactor Safety, Reglon II .

SUBJECT: OPERATOR LICENSING EXAMINATIONS ADMINISTERED AT _
) TURKEY POINT NUCLEAR PLANT- DOCKET NOS 50-250 AND 50-251

. Operator Licensing Examrnatrons were admrnlstered at the referenced facility.- Attached ‘
+you will find'the following ‘information for processrng through NUDOCS and dlstrlbutlon o .
the NRC staff, rncludmg the.NRC PDR: . - y

. ltem #1 - ‘a) ' Facility submitted outline ‘and initial'exam submittal,
designated for distribution under RIDS Code A070.

b) As glven operatrng examination, desrgnated for drstnbutlon under
RIDS Code A070.

tem#2- |, Examlnatlon Report with the as given written examlnatron attached
** designated for distribution-under RIDS Code IE42. '

e _ Attachments:” As stated ,.
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Juno Beach, FL 33408-0420

SUBJECT: NRC EXAMINATION REPORT NOS. 50-250/99-301 AND 50-251/99-301

, D'eaer Plunkett' ' T .

On August 30, through September 16, 1999, the NRC administered examinations to employees
of your facility who had applied for licenses to operate the Turkey Point Nuclear Station. Atthe
conclusion of the examination, the examiners discussed the examination questions and -
prehmlnary f indings with those members of your staff ldentlf ed in the'enclosed report

The Srmulatlon Facility Report is included in thls report as Enclostire 2. A copy of the written
:examination question and answer keys, as noted in Enclosure 3, was provided to the members )
of your trarmng staff at the conclusion of the examination.’

All seven Senior Reactor Operator (SRO) and Reactor Operator (RO) applicants who received
written examinations and operating tests passed the examination, representing a 100 percent
pass rate Several applicants were identified as having some performance deficiencies during

" "the conduct of the Job Performance Measures (JPMs). The individual examination reports
should be reviewed to determine if adjustments to the training program as well as individual
remediation, are necessary.

: In accordance with 10 CFR 2 790 of the NRC' "Rules of Practice," a copy of thls letter and its ™"
enclosures will be placed in the NRC. Publlc Document Room )

..Should you have any questlons concemlng this letter please contact me at (404) 562-4638
Smcerely.

Original signed by -
Harold O. .Christensen
Harold O. Christensen, Chief
-Operator Licensing'and  °
Human Performance Branch
Division of Reactor Safety
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License Nos. DPR-31, DPR-41
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T - .. EXECUTNE SUMMARY

-

Turkey Point Nuclear Power Station Units 3 & 4
NRC Examlnatlon Report No. 50-250/99—301 and 50-250/99-301

During the period of August 30 through September 16, 1999, NRC examiners conducted an
announced operator licensing initial examination in accordance with the guidance of*
Examination Standards, (ES) NUREG-1021, Revision 8: This examination lmplemented the
operator licensing requirements of 10 CFR §55.41, '§55.43, and §55.45. .

Two Senior Reactor Operator (SRO) and five Reactor.Operator (RO) applicants received written
examinations and operating tests. The written examinations were administered by the NRC’
and the'licensee on August 30,1999. The operating tests were administered by the NRC the

~week of September 13, 1998.

Operations

. . The final submitted wntten examinations and operating tests met the requnrements of
NUREG-1021, Revision 8. (Sectron 05.1) .

. . Al seven of the appllcants passed the examination. The examiner ldentrf' ed six
questlons where the applicants exhibited knowledge deficiencies. (Sectlon 0s. 1)

) -_"- ) Defi cuencnes on the operatlng test were noted in four areas (Sectlon O5. 1)

. The examuner identified mconsnstent use of procedures. (Sectron 08.1)




L T Report Details

Summerv of Plant Status

During the period of the examinations both units remained at 100 percent power."

O5  Operator Training and Qualifications

.05.1. Initial Licensing Examinations’

-;\ )
-a. Scope - R e

NRC examiners conducted regular, announced operator licensing initial examinations
during the period of August 30 through September 16, 1999. NRC examiners .
.administered examinations developed by the licensee's training department, under the
requirements of an NRC security agreement, in accordance with the guidelines of the-
Examination Standards (ES), NUREG-1021, Revision 8. Two 'Senior Reactor’ OperatOr
(SRO) instant and five Reactor Operator (RO) appllcants received wrltten examinations-
and operatmg tests. . ° . .

.

. b. Obsemtlons and Findings

The licensee developed the SRO and RO written examinations, one Job Performance
Measure (JPM) set, three dynamic simulator scenarios, and one spare scenario. All
materials were submitted to the NRC on schedule. NRC-examiners reviewed, modified
as necessary, and.approved the examinations prior to admmlstratlon The NRC
"conducted an on-site preparatlon visit during the week of August 30, 1999, to validate
examlnatlon matenals and familiarize themselves with the details of the examlnatlon

(1) 'Wntten Exammatnons Development

The exammatlons were developed in accordance with NUREG 1 021 Rev:swn 8.

>

2 . Operatmg Test Development '

The NRC reviewed two walkthrough examlnatlon sets submitted by the licensee.
The licensee élected to use Revision 8 of NUREG-1021 for their examination.-
Revision 8 removed the requirement for JPM questions. The NRC selected
JPMs from both sets.to make one. This set met the guidelines of NUREG-1021.

The NRC conducted a review and validation of the three simulator scenarios
submitted by the licensee. The scenarios met the guidelines of NUREG-1021.




..

Examination Results.

The NRC and the licensee training department personnel administered the
written examinations on August 30, 1999, in accordance with NUREG-1021,
Revision 8. The examiners reviewed the results of the.written examinations and
found that all seven applicants passed The examiners concluded that no
significant generic training deficiencies existed. The licensee conducted a post-
examination item analysis of the SRO and RO written examinations. This
analysis identified four questions where both SRO and RO applicants exhibited
knowledge deficiencies. The analysis also identified one other SRO specific and
one other RO specific knowledge deficiency. The licensee submitted no post-
examination comments. The table below lists the questions, topics and
subsequent miss rate. .

Question # . Miss Rate *Topic
. . (RO/SRO/Comb)
RO#12/SRO#19 4 /2 /6 Preferred exfmgurshmg agént for .
Lo . ’ . energized electrical without CO2
available . -
RO#31/SRO#36-.2 1 /3 Minimum actions to réestablish feed

flow using the standby Steam

. Generator Feed Pump (SGFP) with -
-no Main Feed (MF) or Auxuhary Feed_
Water (AFW) pumps

RO#52/SRO#56 -1 /12 /3 Effect on steam flow and flow-control
o « < valve if controlling Steam Generator -
< (SG) pressurée transmitter falls low

RO#69/SRO#73 - 2 11" /13- Result or effect seen if dufing
. . o refueling operatlons a cavity seal
« L failure occurred

- RO# 28 3710 /0 Ekpected response of R-15andR-’

Lo .. 19 radiation monitors from a SG tube
' leak after the leaking SG had been -
. .|solated . :
SRO#20 ' , c /2 [0 . Requnred identifi catlon of energlze_d

. 480 volt load centers followmg
control room evacuation -

- The examinérs identified several deficiencies in‘applicant peﬁ'ormance during the
operating examination. Details of the deficiencies are described in each’
individual's examination report, Form ES-303-1, "Operator Licensing Examination
Report." Copies of the evaluations were'forwarded under separate




- - 3.

« =

correspondence to the Site Training Manager. The licensee should evaluate the
deficiencies and provide appropriate remedral training for those operators, as

necessary
In general these defi crencxes included the following:

- Several applicants had difficulty in adjustlng the "Hrgh Flux At Shuddown
alarm associated ‘with the Nuclear Instrumentation system. -

- Several appllcants had difficulty |dent|fy|ng all of the valves necessary fo
establish an acceptable clearance boundary. .

- During a Ioss of heat sink scenario, several appllcants chose to rely on
) the pressurizer Power Operated Relief Valves (PORVs) as the' accepted
bleed path instead of the reactor head vents when PORV/block valve
position was unknown. This was inconsistent with procedure 3-EOP-FR-

H.1, Loss of Secondary Heat Slnk Step 18.

N Several applicants fauled to didgnose the failure of the turbine runback ina
limely manner. Subsequently, the SG levels decreased to. the low level
-setpomt requmng a reactor trip. ’

. ¢. Conclusion

All of the appllcants .passed the ’examlnatron The NRC did not rdentlfy any significant -
generic training deficiencies. However, the NRC did |dentlfy six written and four
Performance det' ciencies during the exam.

" 08 Procedures

. .
- v

’ B 08:1 Qualltv of Procedures and Procedure usage

“The examiner identifi ed lnconsrstent use of procedures Examples uncluded

. < - the early trip of the Reactor Coolant Pump (RCP) while prefon'nlng JPM B 1 d
Ch Respond to Low Pressurizer Pressure. . ‘

= obtalmng a key to the Heating, Ventilating and Air Conditioning ( HVAC) key lock
test switch during JPM B.1.e, Respond to Rrocess Radiation Monitor Alarm, and
trying to manipulate dampers. . This was not in accordance with the
Administration Procedure for- procedure usage.

- the fallure to consistently use Annunciator Response Procedures and Operating
Procedures. When they were used, the use was not always thorough and
detailed. ' This resulted in some missed procedure steps and actions.:.

These issues were _discus'sed with the facility following the examination.




: V..Manaqement'Meetinqs

X1.  Exit Méeting Summary -

At the conclusion of the site visit, the examiners met with representatives of the blaht
staff listed on the following page to discuss the results of the examinations and other
issues. No propnetary material provided was provided. :

I
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" . PARTIAL LIST OF PERSONS CONTACTED )

*R. Bretton Operations Continuing Training Supervisor
B. Burrows, Assistant Training Manager
*P. Finegan, Operations Training Supervisor
J. Ferguson, Nuclear Information Systems
S. Franzone, Licensing Manager
*0. Haneil, Licensing Engineer
.*D. Jemigan, Plant General Manager
*T. Jones, Operations Manager .-
“*M. Lacal, Training Manager -
*G. Laughlin, Supervisor Initial License Training
W. Prevatt, Operations Supervisor
R. Rose, Maintenance Manager
C. Rossi, QA Supervisor .
D. Tomaszewsku Engmeenng Manager
NRC:
*C. Patterson, Senior Resident Inspector, Turkey Point
R. Reyes, Resident Inspector, Turkey Point

* Attended exit interview-

'ITEMS.O_PENED, CLOSED, AND DISCUSSED
Opened: - .

_’ r\.lone
llCIosed:

‘ Nom_a ’
Discussed: -

None



SIMULATION FACILITY REPORT

Faculrty Licensee: Florida Power and Lrght Corporatron Turkey Pomt Nuclear Statlon Units .
3&4 .

Facility Docket Nos.: 50-250 and 50-251

Operating Tests Administerec'i 'on: September 13 - 16, 1999

This form is to be'used only 'to teport observations. These observations do not constitute audit
or inspection findings'and are not, without-further verification and review, indicative of
noncompliance with 10 CFR 55. 45(b). These observations do not affect NRC certification or

approvalof the simulation facrlrty other than to provide information that may be used i in future
evaluations. No Ilcensee action is required in response to these observatrons

While conductlng the srmulator portion of the operatmg tests, no fidelity or confi guratlon control
items were identified.

Enclosure 2
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Florida Power & Light Co." "

. T_ﬁrkey Point Nuclear Plant

1999 NRC Written Examination’

Y

r

Reactdr Operator (RO)_Exam

 Augiist 30, 1999
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U.S. Nuclear Regulatory Commission
Site-Specific
Written Examination

Applicant Information

Name:

Region: ' Il

Date: August 30, 1999

Facility/Unit: FPL/TURKEY POINT/384

Licénse Level: RO

Reactor Type:W

étért Time:

Finish Time:

Instructions

\
. \

Use the answer sheeté provided to document yo.l,.lr aniswers. Staple this cover sheet on top
of the answer sheets. The passing grade requires a final grade of at least 80.00 percent.
Examination papers will be collected five hours after the examination starts.

Applicaht Certification

All work done on this'examipatior_i is my own. | have neither given,nor received aid.

Applicant's Signature

'liesults
Examinétion Value Points
Applicant's Score Points
Applicant's Grade’ ~__Percent




QUESTION: 001
The following conditidns exist on Unit 3:

- The operators are respondmg to a misaligned D Bank, Group 2, control
rod usmg 3-ONOP-28.1 “RCC Mlsahgnment ?

»

- The appropnate lift coil disconnect sthches have been placed to the
) dxsconnect position. u

_ Which ONE of the following Power Cabinets will be the source of the Urgent Failure
alarm that occurs when the operator initiates rod motion?

a.  1AC
“.b. .1BD ‘
c. 2AC

d 28D . S

»
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QUESTION: 002 S
The following-conditions exist on Unit 3.
- fhe “POWER BELOW P-8” status lamp is NOT lit.
- The 3A RCP expexieﬁces a sheared shaft.. - : '
Which ONE of the following cbrrectly describes the app'iicable reactor trip logic?
The reactor will:
a trip duetoa singie I'{CS rloop low flow signal.
b, . t}ip duetoa single RCP break.el.' open signal.

¢. . nottrip because two RCS loops must have low.ﬂQ'w signals.

d. - nottrip because two RCPs must have breaker open signals.




QUESTION: 003
The following: conditions exist on Unit 4
- Operators are perfomung ES-0.2, “Natural Circulation Cooldown
- All systems are operable except the RCPs and Channel A of QSPDS
- The NPS determines a cooldown rate in excess of 25°F/hr is required
. Which ONE of the following descnbes the correct operator actlon?

a. . Increase the cooldown rate to a rate not to exceed 60°F/hr and remam in

ES-0.2.
b. Increase the cooldown rate to a rate not to exceed 100°F/hr and remain m' i
. ES-O 2: :

c. Transmon to ES-0.3, “Natural erculatxon Cooldown w1th Steam Vond in |
Vessel (With RVLMS) ? .

d. Transmon to ES-O 4, “Natural erculatlon Cooldown with Steam Voxd in
" Vessel (Wlthout RVLMS) ™



QUESTION: 004 - I -

" The following event occurs while Unit 4 is in Mone 3:

thch ONE of the followmg is correct for emergency boration tenmnatxon?
Emergency boration maj; be terminated when: ‘
A,
b.
c.

d:

RCS Tavg is 520°F.
Both NIS Sonrce Ranges indicate an unexplained increase in count rate.

The RCO initiates emergency boration pec ONOP-046.] “Emergency T
Boration.” .

!

All equxpment functions as de51gned C L -

Tavg is grcaterthan 525°F.

Source Range count rates are stable or decreasmg

a mlmmum. of 9 minutes has passed since boration initiation.
‘e minimum of 39 minutes has passed §ince'borati.on initiation.-

»

Al




) QUESTION: 005 ’
A total ]o.;,s of CCW occurs on Unit 4 while x;.t 100% power.
Which ONE of th;: following is correct?
Damage will occur quickest to the Ch-arging puml;:
a. oil ptiﬁlp with the Chax:gin'g pump run‘at minimum speed.
b, - oil pum,;a with the Charging pump run at maximum spe'ed.

c. . fluid drive coupling with the Charging pump run a?t minimum speed.'

d.  .fluid drive cdupling with the Charging pump run at maximum speed.




QUESTION: 006

Unit 3 is in Mode 1 when operators responded to PRZ pressure transmitter, PT-445,
failed high.

The following stable conditions now exist:
- Reactor Power 80% .

* - Tavg | 572 °F

d

- PRZ Pressure 2150 psxg
-t PRZ Level 48%

Wlnch ONE of the followmg is the operator response required by Techmcal
Specxﬁcatxons?

a. Restore PRZ level to greater than 48%.
b. Restofe PRZ preés_ure to greater than 2200 psig.

¢. ©  Reduce Tavg to less than 570°F.

- Reduce Reactor Power to less than 75%.



QUESTION: 007 .
. The fo-l.lowing‘ conditions exist on Unit 3:

. The unit is at 2% power.

- AI'MSIVs are closed.

- Asteam line break occurs on the 3A §/G at the safety header.

: WluchONE of.the following describes the plant response given these ponditiong? .
* SIwill occur, when: . ‘ .
a. "I‘Q.vg decreases to 543°F.
b cox_lltain‘mlen't pressure fngreases t'o 4 psig.
. _ B-A'S/Q. pressure decreases to'485 psxg

"d. 3AS/G pressure decreases to 614 psig.




QUESTION 008

Unit 4 operators have just transitioned to FR-P 1, “Response to Imminent Pressurized
Thermal Shock Condmon »

The following conditions exist:
- AFW is not avallable

- The “A” Standby Feedwater Pump is bemg used to maxntam S/IG
. inventory. i i .

Which ONE of the following indications should be used to control feed water flow?’ :

Use changes in: _

a. RCS pressure. '

b.. RCS temperature.
c. PRZ level, -

d. é/G.pressure't

-



QUESTION: 009°

The following conditions e;rist on Unit 3:

Which ONE of the followmg is the reqmred operator action?

a.

The operators have completed the IOAs of ONOP- 014 “Mam Condenser
Loss of Vacuum » ‘ ) .

The unit was 1mt1ally at 750 MWe and.26” vacuum wrth vacuum slowly .
decreasing. .

‘The unit is now at 650 MWe and 23" vacuum with vacuum slowly

decreasing. . : P

Continue reducmg MWe unnl vacuum stabilizes at greater than or equal to*
20. O” vacuum, ; . ‘

Contmue reducmg MWe untxl vacuum stabxlrzes at greater than or equal to
22” vacuum, . ,.

" Stabilize the plant at the present power level and investigate the cause of
the low vacuum condltlon .

Trip the reactor and turbine and’ perform'the actrons of E-0, “Reactor Tnp
or Safety Injecuon ? ‘




QUESTION: 010 .

Unit 3 expenenced a Loss of A]l AC Power simultaneous with a complete loss of

Instrument Alir.
Operators have festored power to and started the 3A Charging pum;;.

Which ONE of the followmg correctly describes the effect on CVCS?

The letdown ﬂowpath
a.  remains open a:1d the charging pump speed‘ goes to minimum.
_‘b. remains open and the charging pump speed goes to maximum.
c. isolates a.nd the charging pump.speed goes to minimurr.l.

d is;)lates and the charging pump speed goes to maximum. .

10
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QUESTION: 011

Uit 3 i in Modle 3 with the following conditions:

- A loss of a 120V Vital Instrument Panel has caused VCT level indicator

LI-3-115 to indicate zero level. i .
- Annunciator A 4/6 “VCT HU/LO LEVEL" is in alarm
Which ONE of the foll-ov.ving is correct for the given conditic;ns?
'VCT Auto Makeup: -
‘ . a initiates and charglng pump suction remains aligned to the VCT.
b. _ initiates and: charging pump suctnon auto swaps to the RWST. |
. s, dl_sablegl and charging pump suctlpn remains ghgned to. the.VC'.I;.

d.  isdisabled and charging pump suction auto swaps to the RWST.

11







QUESTION: 012

The fire team is ﬁghtxng a class C. ﬁre in an energxzed 480 volt Load Center All
avallable CO; extinguishers have been expended and the fire is still not under control.

Which ONE of the following identifies’ the greferred fire ﬁghtmg equipmeént that should
be used in this situation? . .

a, Fire hoses with fog nozzles
b. Portable H,0 extinguishers .
Y 1 Dry Chemical fire extinguishers

d.  Portable Halon fire extinguishers -

12




QUESTION: 013 R

Which ONE of the followi;l'g is an indication or control that is on the Unit 3 Alternate
Shutdown Panel? "

a. 3A EDG voltage indicator
b. RCS Loop Flow indicator_
c. “C” AFW pump T&T valve control switch

L d.  .3A Charging pump control switch R

13







QUESTION: 014
Unit 3 operators are performing step 14 of ELO, “Reactor Trip or Safety Injection” to *

determine if Containment Spray is required. Containment pressure is 22 psig.

Which ONE of the following states th;e reason for verifying Phase B Isolation has
occurred? T . oo .
To ensure: .
a.. Ehe MSIVs are closed due to the high Contginment pressure. .
" b. . the RCP seals an;l motors do not overheat.

c. that potential release paths from the containment are isolated.

d. ° system alignment is correct for containment spray operation.




QUESTION' 015

Operators are respondmg to an madequate core cooling condmon using FR-C.1,
“Response to Inadequate Core Cooling.”

Which ONE of the following is correct regarding RCP operation? -

If an RCP is:

a. mmally runmng, it should be left runmng untxl it trips by itself. .

< b, 'mmally running,- it should be left running until #1 seal delta P trip cntena .

is met,

" not running, it should be left off until 6% [32%)] level is attamed in 1ts ’
associated S/G .

. d. not runmng, it should be left oﬁ‘ until 6% [32%] level is attamed in- any _:
Y c . .
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.QUESTION' 016 . o

Operators are perfomung 3-ONOP-041 .4, “Excessive Reactor Coolant System Activity,”

and have just reduced Tavg to less than 500°F as directed by the procedure,

Whrch ONE of the following describes the basis for reducmg Tavg to'less than S00°F?

a. To block SI in preparatlon for a controlled cooldown
b. To allow closing the MSIVs in preparation for a controlled cooldown.
. . ¢ .To prevent the release of actmty in the event of a main steam line break’
upstream of the MSIVs, -
'd.  -To ensure the saturation pressure of the RCS is below the hﬁ pressure of )

the .atmospheric relief valves

16



. QUESTION: . 017
| The following conditi.ogs exist on U;ﬁt 3:
- The Rod Cor}trol System is iri Manual,
- Control Bank C'is at 225 stéps.
- Control Bank D'is at 97 steﬁs.
The following event occurs:

. ARod Conrol System malfunction causes continuous rod withdrawal for
10 steps. Rod motion then stops.

Which ONE of the following identifies what the RPIs for control banks C and D should

mdxcate?
a:\ Bank C—-225 - BankD-97 -
b. Bankc-'azso, _ BankD =97
c.  BakC- 230 Bank D - 107
d. BankC- 235 . BankD -.107

17




QUESTION: 018
The'following oonditions exist on Unit 3:
- The unit is at 100% power
- A power supply failure in rod control Power Cabinet 1AC results in one .
dropped rod in Control Bank A Group 1 and one dropped rod in Control .
Bank C'Group 1. .
. Which ONE of the following dctions is correct?
a. Mamially runback the turbine,
" b, Ven‘fy automatic turbine runback.

c Enter ONOP-28 3 “Dropped RCC” and retneve both dropped rods

d. Tnp the Reactor and go to E-0 “Reactor Trp or Safety Injection.”




QUESTION: 019
The following conditions exist on Uit 4:
- Low PRZ pressure SI has occurred.
- All 4 HHSI pﬁmp_s are running,
- PRZ’I‘evel is increasingt -
- . . RCS pressure is 1430 psig and decreasing.
3 _HHSI cold leg ﬂc;w indication (FI-943) is zero.
- PRT pressure and level are mcreasmg

thch ONE of the followmg descnbes the events that could have caused these
conditions? .

. & A PRZ 'PORV is open and the HHSI isolation valves MOV-843A" and :

MOV-843B, failed to open.

b. APRZ PORV is open and the HHSI line, downstream of the HHSI -
isolation valves, MOV-843A and MOV-843B, has sheared.

c. APRZ Spray valve is‘open and the HHSI xsolatxon valves, MOV-843A
and MOV-843B, failed to open. .

- d. - APRZ Spray valve is open and the HHSI lme downstream of the HHSI
pumps has sheared ) . .
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QUESTION: 020

Unit 3 operators are respondmg toa small break LOCA.

The following condmons exist:

Il

-RCS pressure is, 1500 psig. .

CET subcooling is 38°F,

'Containment temperature is 160°F.

“Containment pressure.is 10 psig.

Which ONE of the followmg top border (border targets) should be lit on the

SPDS/ERDADS screens?
& TRIPRCPs
b. PA
¢. © MSLISOL

"ADV CNTNMT .




QUES'I'ION' 021

A large break LOCA occurred while Unit 4 was operating at 100% power The operators
are respondmg per E-0, “Reactor Trip or Safety Injectlon”

thch ONE of the following describes why the RCO verifies the Feedwater Isolatxon
signal closed the Main and Bypass FW Control valves in step 5of E-07.

.. . To ensure the subsequent avaxlability of AFW ﬂowpaths' .

b. To ensure the subsequent avaxlablllty of secondary heat sink water .
sources. '

c.. To minihmize the potential for RCS cooldown due to S/G overfill.

d. To minimize the Ppotential for containment overpressunzatxon from
feedwater addition. l




QUESTION' 022

Unit 3 operators are performing Step 16 of EOP-ES-I 2 “Post LOCA Cooldown and
Depressurization.” - -

The following conditions eJ;ist:
- One Unit 3 HHSI pump is‘running.
- One RHR pump is; ronning.
T Two Charging pumps are running at maximum flow. ‘
- Containment temperature is 178°F. | |
- CET .sobéooling is 68°F
" .=+ 'RCS Tliot temperaturos are 320°F.
.- © 7 RCS pressure is 260 psi‘g. ‘
- NoRCPs are available.
- - PRZ level is stable at 30%

Whlch ONE of the followmg describes the operating HHSI/RHR pump conﬁguratlon

- when the operators isolate the accumulators?

T .a. Zero HHSI pumps Zero RHR pumps
b. Zero HHSI pumps; ,One_RHR pump. '
c. One HHSI pump, . Zero REHR pumps.
d. | 'Ohe HHSI pump, One’RHR pump.
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QUESTION 023

Which ONE of the followmg describes a condition that would prevent successful
transition to Cold Leg recirculation? .

a.

Only one of the RHR Pump Suction Stop valves MOV-750 or .
MOV-751 can be energized. . .

Only one of the RHR Suction from RWST valves, MOV-862A or.

MOV-862B can be energized.

Containment Recirculation Sump Isolatlon valves MOV-860A and -
MOV-860B will not open. .

Contamment Recirculation Sunip Isolatxon valves MOV-860A and
MOV-861A will not open. .
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QUESTION: 024
The following conditions exist on Unit 3:
- The operators are performing ES-l 1, “SI Termination.”

- Whlle prepanng 'to re-establish RCP seal return flow they venfy that RCS .
pressure is 100 psx greater than VCT pressure, -

thch ONE of the followmg descnbes the bams for the 100 psi requxrement?

. Less than 100.psi dlﬁ‘erentxal pressure could result in:

.a. damage to the VCT.
"B _ da-mage'to the PRT. - - _ . - _: S 4

¢ cocked RCP seals. : _.

d. giebris'ir‘xt}.leRCP'seals. : . - ' L. = l
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QUESTION: 025
Unit 4 is.in Mode 5 and all loops are filled. |
ﬂe following equipment is out of service:

- RHR Loop A |

- 4C ICW pur'np.

- acccw pump

thch ONE of'the followmg will result in a loss of RHR requxred capabnhty per
3- OP-OSO “Residual Heat Removal System‘7" .

‘ A fallure of the:
a’s, 4A EDG
: b | 4B CCV\.I'H[X.
c. .4A CCw pufnp.

d  4BICWpump - °




QUESTION: 026

With Unit 4 stable at 2% power, the RCO observes that the Reactor Trip Breakers have
no red or green indicating lights lit on the console or on VPB.

Which ONE of the following correctly describes an evént that could have caused this .
condition? ( . . . . ,

a. SR N_IS N-31 Instrument Power fuse has blown.
b.  SRNIS N-32 Control Power fuse has blown.
c. IR NIS N-35 Instrument Power fuse has blown.

El. " PRNIS N-41 Control Power fuse 13as blown.
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_ QUESTION 027 “' . .-

The followmg condmons exrst on Unit 3:
- Reactor power is 22% with operators perfonmng a plant startup.
- NIS Intermedlate range channel N-36 fails }ugh .

Which ONE of the followmg is the correct operator response‘?
a. Enter E-0, “Reactor Tnp or Safety Injection.”

. b . Place the N-36 LEVEL TRIP switch in BYPASS and continue the power,
. ascension.

e Place the N-36 LEVEL TRIP switch in BYPASS and reduce power .below
permissive P-6. .. L

. d. Place the N-36 LEVEL TRIP sthch in BYPASS and reduce power below
- permissive P-10.




QUESTION:- 028

Unit 3 operators have responded to a Steam Generator Tube Leak on the 3A S/G u.::ing’

3-ONOP-067, “Radioactive Effluent Release »

- PRMS R-15, Condenser Air Ejector, readmg was mcreasmg while in
Mode 1 and has alarmed. -

- PRMS R-19, Blowdown Radiation, reading was increasing while in .
-+ 7 Mode 1 buthasnot alarmed.

- The unit is currently in Mode 3 and Attachment 3, “Steam Generator ‘_
Isolation Checklist / Steam: Generator A Isolatnon,” is complete

thch ONE of the followmg descnbes the expected response of R-15 and R-19 after

performmg Attachment 3?
S R-15
a. Decreasing
b. Decreasing
c. Stable i
d.  Stable

R-19
Decreasing”

Stable

'Decreesing

S.tab'le
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QUESTION: 029
Unit 4 experienced a SGTR while at 100% power.

Which ONE of the foliowing Control Room indications does E-3, “Steam Generator
Tube Rupture,” use to identify which S/G is ruptured? ~ * '

a. PRMS R-15, Condenser. Air.Ejector. '
b. PRMS R-19, St.eaxn'Generator Blowdov;m.
e 'Unéxpected incréase in‘any S/GNR level.

- d. Unexpected S/G steam flow mismatch.,
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QUESTION: 030

Which ONE of the followmg describes the basis for verifying AFW flow is greater than
390 gpm following a loss of main feedwater event?

390 gpm is the minimum AFW flow required in the event: -
a. an ATWS occurs. _—_— o

b. only one AFW pump is running.

c. -any S/G level is below 6% NR.

d. . all S/G levels are below 6% NR.
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QUESTION: 031

&

Unit 3 operators have entered FR-H.1 “Response to Loss of Secondary Heat Sink.”

The following conditions exist:

No Main Feedwater Pumps are available.”
No Auxilim:y' Feedwater Purﬁps are available.
The RCPs are oﬁ'

. Annunclator E 2/6 “HI-HI SG LVL TURBINE TRIP/FEEDWATER

ISOLATION is in alarm.

The operators are prepanng to re-estabhsh feedwater usmg a Standby

" Steam Generator Feedwater Pump.

Which ONE of the followmg describes the minimum Control Room actlon(s) reqmred to
re-establish feed flow to the S/Gs? .

. Reset

sI

Phase A

. Feedwater Isolation - -

SI and Ft;ed'water Isolation
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QUESTION: 032

Unit 3 Operators have initiated an RCS cooldown while responding to a faulted/ruptured
S/G per ECA-3.2, “SGTR With Loss of Reactor Coolant-Samrated Recovery Desired.”

Which ONE of the followmg 1dent1ﬁes the limitations on the cooldown rate a.nd the
reason for initiating the cooldown?

_gongOWN RATE REASON/BASIS
Toa 50°F/hr : . ?‘Minimize radioactive relqasq
b.  S50°F/hr o Prevent S/G overfill
i c. 100°F/Hr .ﬂ Minimize radioactive release
4, 100" Prevent SIGoverfil
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QUESTION: 033
Which ONE of the following describes the hnmpdfate Operator Action(s) of
0-ONOP-066, “High Area Radiation Monitoring System Alarm,” in the event
Annunciator X 4/1, ARMS HI RADIATION, alarms?
Identify the alarming chg,nnei(s) at the ARMS panel and then:

a. announce the alarm over the plant page system.

.b. . notify Securityto restrict entry to the affected areas. .
c.  press the ALARM ACK pushbutton on the ARMS control panel, .

d."  cross-check the alarming ARMS channel(s) with PRMS channel(s) in the
affected area. - ' ) .o
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QUESTION 034 " - -

Umt 4isat 100% power with-all systems operating in automatic and all swntches in thexr

normal positions.
PRZ level transmitter LT-4§9 fails low.,

Which' ONE of the following describes the ;;lant response? A

a. Cha}ging flow will decrease.
Letdown will isolate.
b. "Charging flow will decrease. -

Letdown will remain in service. .

C. ‘Charging flow will increase.
Letdown will isolate. .

d (fhzirging flow will increase.
Letdown will remain in service..

< o« ®
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QUESTION: 035 .
The foilowit}g'conditions exist with Unit 3 at 100% power and all system.s operable:
. 3DakVBusis aligned to 3A 4KV Bus.
- 3B and 3C ICW Pumps are mxgnfng.
The following events'occur: ‘
. - | A loss of offsite power (LOOP) occurs on Unit 3. )
- The 3B EDG fails to start. .

Which ONE of the following describes the ICW pump conﬁguratxon when sequencmg is
complete (assume no operator response)?

R Nu ICW pumps will be running.
b. Only tlie 3A ICW pump will-be mnmng
c. _ Only the 3C ICW pump will be running.

d. The3A and 3C ICW pumps will be running.
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QUESTION: 036

-Unit 4 operators have entered 0-ONOP-13, “Loss of Instrument Air” in response to
Annuncxator 16/1, INST AIR SYSTEM HI TEMP/LO PRESS.

The following condmons exist:
- All available air compressors are running.
- Instrument Air pres§ur;$ .imii'cator, PI-4-1444, is 60 psig and stable.l '
Which ONE o_f the foll;ﬁving identifies the equipment that will be aﬁ'qaed? V
" Unit 4: | |
‘ a. MSIVs wxll fail closed
b: .Feedwater Reg Valves.will faxl closed.
A c.. - EDG Fuel 011 Transfer capablhty wxll be lost.

h d. o Tram 1 AFW FCV automatic operation will be lost.
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QUESTION: 037 °
The followmg condmons exist on Umt 3
- Reactor Trip Breaker A has failed in the closed posmon
- Both MG sets input and output breakers have been opened

Which ONE of the following descnbes the effect on the Control Rod System Logic and

' Power cabinets’ control power?

) .Control power has:

a. automatically swapped to the EiB MCC.
b, automatxcally swapped to its backup CVT.
o. been lost. and can be manually swapped to the 3B MCC

~

d. been lost and cannot be restored until the Reactor Tnp Breaker i_,s'openeci.:
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QUESTION: 038 o
Unit 3 is stable at 75% power with all systems in automatic and Tavg matched thh Tref,
The following events occur:
- 3A Steam Generator Feed pump breaker trips open _
- Generator load has stabilized followmg the turbme runback

The RCO observes the followmg mdtcatlons

"o Tavg - 555°F and decreasmg
.‘_ Tref 559°F and stable
- Control Rods’ Ihserting

Which. ONE of the followmg describes the correct 1mmedxate operator actlon?

a. . Maintain rods in AUTO and if rods continue to insert, adjust turbine load a

to match Tavg to Tref

b. Maintain rods in AUTO and.if rods continue to insert, adJust boron
concentrauon to match Tavg to Tref. ,

(2 Plaee rods in MANUAL and if rods continue to msert, adjust turbine load ‘

to match 'I‘avg to, Tref

d. Place rods in MANUAL and if rods continue to insert, adjust boron T
concentratxon to match Tavg to Tref.
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QUESTION 039

Which ONE of the following 1dent1ﬁes the containment isolation s:gnal that requxres
stopping all RCPs and the reason the RCPs are stopped?

a.

Phase “A” MOV-626, RCP Thermal Barrier CCW' Outlet, is closed
resulting in a loss of RCP seal package cooling.

Phase “A” MOV-1417, CCW to Normal Contammen't Coolers, and

+ MOV 1418, CCW from Normal Containment Coolers, are closed resultmg‘

in a loss of RCP stator winding cooling.

Phase “B” MOV-6386 Excess L/D and RCP Seal Return, is closed
resultmg in a loss of RCP seal package ooolmg

Phase “B”" - MOVs 716A and 716B RCP CCW Inlet valves, and MOV-*

730, RCP Bearing CCW Outlet valve are closed resulting in a loss of RCP '
motor bearmg cooling. . .
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QUESTION: 040 -

The followir_lg plant condiﬁens exist: .
- Contain;nent Pt;ase “A” isolation has occurred.
- The isolation s;ignal has not yet been rese't ‘

Which ONE of the followmg describes the eﬁ'ect this condition will have on RCP..

" Number 1 seal leak 'off ﬂow?

) Number 1 seal leak off flow w111
a. decrease because VCT level has increased.

-© b, decrease because the backpressure has increased.

d. go to Zéro because #1 Seal Leakoﬂ' Isolatlon valves 303A, 303B and °
303C are closed

cr go to zero because RCP Seal Retum to VCT valve, MOV—381 is closed., L
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QUESTION' 041 B

Unit 3 is in a water solrd condition when an RCS pressure transient closes Loop 3C RHR
Pump Suction Stop valves, MOV-750 and MOV-751.

MOV-750 and MOV-751 cannot be reopened.

Which ONE of the following describes the effect this event wrll have on the CVCS
system after the operators have performed the Immediate Operator Actions of the
applrcable ONOP?

{

" CVCS letdown line pressure upstream of PCV-145, Low Pressure Letdown Control
valve will:

a. - decrease. PCV-145 will open.
b.  decrease. PCV-145 will close.
c. increase. PCV-145 will open.

d.  increase. PCV-145 will close.
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QUESTION: 042

"A reactor startup is being performed on Unit 3. The following conditions apply:

a.

The ECC estimated critical rod height is D bank at 110 steps.
The initial highest source range count rate was N-31 at 250 cps.
The current N-31 count rate is 1000 cps.

Based on the current N-31 count rate, the l/M plot predxcts crmcahty at

. Dbank, 180 steps.

Integrated rod worth for D-110'is 490 pem.

Integrated rod worth for D-1 8-0 is 160 pcm.

.W}uch ONE of the followmg is the correct operator response?

Do not continue the reactor startup. Obtam pemussxon ﬁ'om the NPS to_'
continue. '

Do not contmue the reactor startup. Obtain pemussnon form the Reactor,
Supervxsor to continue.

" Continue the reactor startuip. If the prediction is still D-180 after the riext
doubling, obtam pemussnon from the NPS to contmue

N Continue the reactor startup If the predxctlon is still D-180 aﬁer the next
doubling,’ obtam perxmssxon from the Reactor Supemsor to contmue '

\
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QUESTION: 043

Which ONE of the following describes the purpose of the mterlocks between CVvCS
Letdown.Isolation valve, LCV-460, and the Letdown Orifice Isolation valves, 2004,
200B, & 200C? )

The interlocks prevent damage to: -
a.  LCV-460 upon depressurization of the letdown line.

b. CV-2004, 200B, 200C upbn depressurization of the letdown line.

c. the Regenerative Heat Exchanger upon subsequent repressunzatxon of the

letdown line.

¥

< d. RV-203, Letdown Relief Valve, upon subsequent repressunzatxon of the
letdown lme Cr
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QUESTION: 044 .

The followmg condmons exist on Unit 3

Operators are respondmg toa LOCA using the EOP Network.
3A Sequencer has failed tq respond to the SI sighal,
SI has been resetl o

Following SI reset, Co'nta.inm'ent pressure exceeds 20 psig .

Which ONE of the following descnbes the response of the Containment Spray Pumps L

(CSPs) and their dlscharge valves, MOV-880A and MOV-880B?

o a.

s

" Neither CSP will automatically start
Only MOV-880B will automatically open.

Neither CSP will automatically start.

. Both MOVs will automatxcally open.
' Only 3B CSP will automatlcally start.

Only MOV—880B will automatically open.,

Only 3B CSP w111 automatically start.
Both MOVs will automatically open.




QUESTION: 045
"The following conditions exist on Unit 3:
- Reactor power is stable at 10 amps. .

- “PRZ Pressure Control Channel” PT-444 fhils high.,

Assuming no operator action, which ONE of the following describes the response of the

_ plant to this condition?

‘ a. The reactor will tﬁb when PRZ pressure incréa:t;es to 2385 psig. -.

b.. PRZ pressure will stabilize at approximately 2000 psig .

"t C. The reactor will trip when'PRZ ‘pressure decreases to 1835 psig. .

ds SI actuation will occur when PRZ pressure decreases to 1730 psig. d
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QUESTION: 046 - o : o

Unit'3 is stable at 9'8% power. Reactor Engineering has performed QPTR calculations

using a full core flux map and core exit thermocouples. Both calculations reveal the
QPTR value is 1.03. '

Which ONE of the following describes 'the required operator re:spbnse?
R?duce NIS power to less than: ‘ :
" a. 97%within 2 hours.
b. 95% within 2 hoi;rs.
' ‘c. 9,1‘7? withir.x‘_z hours.

d. 89% within 2 hours.
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QUESTION: 047

A Xenon oscxllatton caused the Axial Flux Dlﬁ‘erence (AI) meters to drsplay the
following values while: Umt 3 was at 80% power:

N-341 | N342 | N34 | N344
VR BT 20 .| -2

Which ONE of the followmg descnbes the reqmred operator response?

a. Return at least orie AI meter within the Operatlonal Space wrthm )
. 15 minutes. -

b. . Retumn at least one AI meter within the Operatxonal Space within
60 mmutes .

Cet . Return at least two AT meters thhm the Operational Space thhm
- 15 mmutes

d. Retum at least two Al meters within the Operational Space within
60 mmutes : )




QUESTION: 048 :

"~ Unit 3 operators are respondmg to a spurious SI signal and are attempting to determine if
SI termination criteria are met The ANPS d1rects the RCO to check subcooling on

QSPDS.
QSPDS displays the following:

SATURATION MARGIN -
DEGF PSI

. UPPER HEAD V. 48 . 633

RCS(MIN) .36 438 - -

CET : o 28 340 S

‘ Assummg other SI Termination Criteria are satxsﬁed which ONE of the followmg is
correct? . : .

. The RCO.should declare SI Temunatlon Criteria are:

a. not met after obsemng the RCS (MIN) value
b. - not met aﬁer oiaser'ving the CET value.

c. - met aiier-observing the RCS (MIN) value.

"d. " met after observing the.CET value.
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QUESTION: 049 _
A larg;: break_i.OCA occurs on Unit 3 while the 3B Sequqnce'r is inoperable. O
mqh ONE of the following describes.an effect on the Unit 3 cor‘\taipment?
Containment pressure v;ill be higher because px{lx the: |
_a. 3AECC will autostart.
b.  3CECCwill aitostar,
c.  3Aand3CECCs will autostart.

d. 3B and 3C ECCs will autostart.
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QUESTION: 050

n

The following conditions exist on Unit 3 while at 100% power:
- The 3B ECC js out of service,

- A large break LOCA. occurs.

- After verifying two ECCs aré operating, one ECC trips due to overcurrent
and cannot be restarted. ‘ '

.
« N

_ Which ONE of the following identifies the maximum time allowed to restore a sécond
"ECC to operation to ensure equipment environmental qualifications are maintained? " :

-

a. 8 hours .
‘ b.. 10}.10111'2‘_»“. ’.,
. 'c.\ - 12 hours
"d. " 24 hours




QUESTION 051

Unit 3 is operatmg at 70% power with all systems operable except the 3C Condensate
pump which has its breaker racked out ’

The 3A Condensate pump breeker tnpe open.
‘Which ONE of the following descrioes the correct operator.responee?
Perform the actions of: ) ‘ ‘
a8 0NOP-089 “Turbme Runback.” | 7 ‘ R ‘
b.  ONOP-100, “Fast Load Reductlon » '
c. GOP-103, “Power Operanon to Hot Standby ?

d. . E-, “Re_acto_r Trip or Safety In_]ectxon.
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QUES'I"ION- 052 .

Unit 3 is operatmg at 100% power when the controlling S/G pressure transmltter fails low
on the 3A S/G.

Which ONE of tile following describés the effect this will have on the controlling .
indicated steam flow and the-initial 3A FW Control Valve, FCV—478 response?

Indicated steam flow wxll
a. decrease The FCV will open.
b;  decrease. The FCV will close.
“c. ix;,crease. - The FCV will open._

d. . increase. The FCV will close.
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QUESTION 053

Unit 3 is operating at 100% power when valve CV-2011, “LP HEATERS BYPASS ”
fails open.

Which ONE of the following describes.the effect on reactor power and the correct
operator response? .

Reactor power will:
a. increase. Borate the RCS.
"b. increase. Reduce turbine load.

‘e decrease. Dilute the RCS.

d. ° decrease. .Raise turbine'load.
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QUESTION 054

With Unit 3 1mtxally at 100% power and all systems in normal ahgnment the 3C S/G
expenences a main steam line break msxde Containment.

Whlch ONE of the followmg descnbes the eﬁ'ect this accldent will have on'the AFW
system? , .

a. Tram 1 AFW will be lost untxl the operators open AFSS-3-OO7
b. Train 1 AFW will be lost until the operators close AFSS-3- 006
c. Train 2 AFW-will be lost until the operators open A‘FSS-3-007.

d. ©  Train 2 AFW will be lost until the operators close AFSS-3-006.
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 QUESTION: 055 - R _ .
‘Which ONE of the following would result in dual train AFW flow for both.Units?
Bus Stripping on: “ '
2. 3A4KVBusdnd 4A 4KV Bus.
b.  3A4KV Bus and 4B 4KV Bus
c. 3B 4KV Busarid 4A 4KV Bus

.

'3B 4KV Bus and 4B 4KV Bus




QUESTION 056

Unit'3 operators have entered ES- l 1, “SI Termination,”-and dre preparing to start a Mam .
Feedwater pump and secure AFW.

The t:ollowing conditions exist:
- “A” AFW pump i.s mnﬂné.
- “B” and “Cc” AFW pumps are stopped and aligned for auto start.
- The NWE locally starts the 3A Main Feed pump.

- . "The BOP fails to “red ﬂag” the 3A Main Feed pump control: sw:tch
' semaphore

- Which ONE of the followmg descnbes the effect of the BOP’s failure to ted ﬂag the 3A
Main Feed pump control sthch semaphore? . .

a. “B” and “cr AFW pumps will automatxcally start.
- b. AFW pump'automatic start capability will be degraded.
c. | The_BAMai_n Feed pump will not trip ;‘rom an SI signal.
~d. " The 3A Main Feed'pump will automatically trip in 50 seconds. .
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QUESTION: 057

The following conditions exist on Unit 3:

The unit was at 100% power.
A spurious SI occurs.

The operators are respondmg per the EOP network and have just
transitioned to EOP-ES 1.1, “SI Termination.” .

Annunciator A 7/ 1, PRT HI/LO LEVEL HI PRESS/TEMP alarms

Assuming all systems function as designed, which ONE of the followmg descnbes the ‘
probable cause of thxs alarm? ’

A PRZ PORV has lxﬁed
CVCS Low Pressure relief valve, -RV-."’.09, has lifted.

o RHR Header to Loops relief valve, RV-706, has lifted.

RCP #1 Seal Leakoff felief valve, RV-382, has lified. "

’
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_ QUESTION: 058 .

Operators are mvesﬁgauné an abnormal increase in countrate on PRMS radiation
monitor R-14, PLANT VENT, when they discover pressure in Gas Decay Tank (GDT)
#4 is decreasing, .

No planned GDT releases are in progress and the Gas Decay 'I‘ank Drscharge Valve
RCV-014, is closed.

After verifying all valve alignments are correct, which ONE of the following describes
the correct operator response? *

Di_rect the SNPO to: -

‘a. transfer the eontents of GDT #4 to another GDT.

,”

b. verrfy both Auxxhary Building Exhaust fans are runmng

c. stop all runmng Waste Gas compressors

d . sttt an additional Waste Gas compressor.




QUESTION 059

The Control Room Normal Air Intake radlatxon monitor, RAI-6642, alarms.

Which ONE of the following describes the damper response of the Control Bulldmg

Ventilation System?

a.

Ventxlatlon Inlet dampers D-lA and D-1B - CLOSE
East and West Inlet dampers, D-2 and D-3 - OPEN-

Control Room Reclrc dampers, D-11A and D-11B - OPEN.

. Ventxlatlon Inlet dampers, D-1A and D-lB - OPEN. :

East and West Inlet dampers, D-2 and D-3 - CLOSE."

Control Room Recirc. dampers, D-11A and D-11B - OPEN. .

Ventilation Inlet dampers, D-1A and D-1B - CLOSE.

- East and West Inlet dampers, D-2 and D-3 - OPEN,.
Control Room Reclrc dampers, D-1 lA and D-11B - CLOSE.

Ventxlatlon Inlet dampers D-1A and D-IB OPEN.
East and West Inlet dampers, D-2 and D-3 - CLOSE.

Control RoomRecirc. dampers, D-11A and D-11B - CLOSE.

‘
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QUESTION: 060 _
Unit-3 is at(SQ% power with the 3C Cha;ging_ pum;; out of service.
The RCO notes the following Control Room indications:

- Annunciator G 1/2 “CHARGING-PUMP HI Sl"EED” alarms.

- The only running Charging pump (3A) isin Auto with 100% output
.demanded.

- PRZ level is 33% and decreasing,
'thch ONE of the followmg descrxbes the reqmred procedural response?

a. Isolate letdown. If PRZ level continues to decrease then start the 3B R
Chargmg pump and maximize chargmg flow.

b. - ISOIate letdown IfPRZ level contmues to decrease, then frip the reactor ‘
" and turbine and transition to E-O “Reactor Trip or Safety Injection.” *

c. Start the 3B Chargmg pump and maximize charging flow. If PRZ level
' . continues to decrease, then isolate letdown )

d. Start the 3B .Charging purhp and maximize chargmg flow. IfPRZ level -
continues to decrease, then trip the reactor and turbine and transition to-
., E-0, “Reactor Tnp or Safety Injectlon i




QUESTION 061

‘Operators are: respondmg to a large break LOCA. 'I'hey are currently aligning the ECCS
system for Hot Leg recirculation. Step 10 of ES-1.4, “Transfer to Hot Leg
Recirculation,” directs the operators to start the second RHR pump.

Which ONE of the following describes why the operators are directed to start the second
RHR pump?

Startmg the second RHR pump alIows the operators to
“a. ' start asecond HHSI pump to increase hot leg injection ﬂow

b; - direct flow simultaneously to the cold legs and to the suction of the HHSI
pump .

c. allgn altemate hot leg reclrculatlon using RHR Recirculation Isolatlon
valve 7T41A. :

d. . allgn alternate hot leg recxrculatlon usmg Alternate Low Head Injection-
valve, MOV-872 .




-

QUESTION: .062 ) .
"Unit 3 is in Mo;j.e 5 when RCS ioop pres-sure trans;nitter, PT-405, fa.ils hi.gh. ‘
Which ONE of the 'follokvving identifies tfxe effect of t}.ﬁs failure on: |

1) PRZPORV - 455C and PORV ~ 456 |

2) Loop 3C RHR Pump Suction Stop Valves, MOV-750 and MOV-7517

. )
1

 PORV:4SSC . P Q_R‘V-456 'MOV-750 - MOV-75L .,
a  OPENS  NONE NONE  CLOSES'
b OPENS . NONE - CLOSES ~ NONE

. ' NONE OPENS NONE  CLOSES .-,
d. . NONEB "OPENS . - CLOSES - NONE
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QUESTION: 063
Duriné operation at reduced ;;ower tpe following conditions exist: .
I Tavgis 560°F. = - ' . 3
. PRZlevelis4s%. |
- PRZ pressure is 2230 psig. ‘
- Which ONE of the followmg describes the PRZ heatcr status the RCO should venfy?

a. Control Group -~ On.
Backup Groups — On,

b. Control G}oub - On.
Backup Groups - Off.

c. Control Group. — Off,
Backup Groups - On.

d. Contro] Group - Of,
" Backup Groups — Off.
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QUESTION: 064 . T '

» 4

Which ONE of the following would result in the OTAT reactor protectxon trip setpoint
being reduced? Consider each parameter mdependently

a. AT increasing
b. Tavg increasing . -
K c. PRZ pressure increasing

9 . "d.  Reactor Power decreasing .







QUESTION: 065

Unit 3 is at"100% power and Annunciator B 9/3, SHUTDOWN ROD OFF
TOP/DEVIATION is not operational..

Which ONE of the followmg descnbes the actxon that operators must take at least once
every 4 hours?

Verify RPIs and Step Counters agree within: '

' a. 2 steps. i
b. 12 steps.
c. 18 steps.

d, 24 steps.




. QUESTION: 067

Unit 3 ex.perienced a‘large break LOCA. Operators have responded with the EOP
network and have completed the actions of ES-1.3, “Transfer to Cold Leg Recuculatlon ?

Contamment temperature has decreased to 140°F.

Which ONE of the following descnbes the correct Contamment Spray Pump (CSP)
alignment? .

a 1 CSP running with its suction aligned directly to the Contair{ment Recirc.
sump. ' '

_b.‘ 1 CSP running thh its suctxon aligned to the Contamment Recirc. sump
via the RHR pump dxscharge

c. 2 CSPs rumung with their suctions aligned dxrectly to the Contamment
. "Recire sump :

d. 2 CSPs running with their suctions'aligned to the Contamment Recxrc
T sump via the RHR pump dlscharge .
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QUESTION: 069
The: following refueling condi{ions. exist on Unit 4:
- que off-load is in proéress.
- A reactor vessel refuehng cavity seal fallure occurs,

Assummg no operator, action, which ONE of the following describes the’ effect ona fuel
assembly that is upnght in the spent fuel pool upender?

" The fuel assembly in the upender will be: s _ .
a. co'mpletely uncovered.
b.  partially uncovered.

G covered wnh a few mches of water above it.

d. covered with a few feet-of water above 1t.
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QUESTION: 070
. The following initial conditions existed on Unit 3:
- " Reactor power was 80% and stable.
- Tavg was equal to Tref. .
- All sys;ems z;.re in automatic '
A’small steam leak then occurs on the main steam header

\

Which ONE of the following describes the actual reactor power and Tavg (prior to
o operator action), and the proper operator response?

RxPower , .. Tavg -. Operator Response

N Tower . | lower . Reduce Turbine Load .
b. high.ef _ . .lo;;vet.' ' ReAUOe Turbine Load
c.  lower- ~ higher Insert Control Rods

d. 'h_igh"er. " higher Insert Control Rods -
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. QUESTION: 071 Lo

The followmg condmons exxst on Unit 3:
- The unit is in Mode 3 with Tavg at 545°F.

- The Steam Dump to Condenser (SDTC) system Mode Selector switch i is
in the MAN position,

- PT-464, Steam Header Pressure, fails high.

- Which ONE of the followmg descnbes the effect on the SDTC system?

a. ' Only 2 valves will open and will remain open.
b. =Only 2 valves will open and then close when Tavg decreases to 543°F..

S« All4 valves will open and will remaix; open.

d C-Al4 vglves will open and then'close when Tavg decreases to 543°F.. -.




; ~ - QUESTION: 072
| Which ONE of the following identifies the first PRMS detector that should respond to 2
‘SGTR and the effect on the detector?

a. Condenser Air E_]ector Momtor R-15. R-lS wdl be automatlcally
isolated.

b. Condenser Al!' Ejector Monitor, R-lS R-15 will not be automatlcally
. 1solated _
N Steam Generator Blowdown Sample Momtor R-19.'R-19 wﬂl be
automatlcally isolated.

d Steam Generator Blowdown Sample Monitor, R-19. R-19 w111 not be
automatlcally 1solated :




QUESTION: 073

Unit 3 is at 100% power with its Startup Transformer out of service when an automatic
reactor tnp occurs,

- The 3A EDG starts and repowers the 3A 4KV Bus.
- The 3B EDG locks out and cannot be restarted

The Unit 3 ANPS dn'ects the BOP to use 3-ONOP-004 3, “Loss of 3B 4KV Bus "to -

. Testore power to the 3B 4KV Bus

B thch ONE of the following descnbes how power will be restored to the 3B 4KV Bus?: )
Power wxll be restored to the 3B 4KV Bus frorn the: - ‘
a.  3A4KVBus.
_ b Unit 4 Startup Transformer. .
o  3C4KV Bus, o

d. Station Blackout Tie Line.




~ QUESTION: 07{ . . ﬂ
The follc;wing occurs while Unit 3 is in Mode 1
- DC Bus 3D23 loses power.
Which ONE of the followmg operator actions are corrwt?

a, Shutdown the unit usmg GOP-103, “Power Operation to Hot Standby.”
" After the unit is stable.in Mode 3, then perform ONOP-003.5, “Loss of
DC Buses 3D23 and 3D23A(3B) » ,

b. . Shutdown the unit using GOP-103, “Power Operation to Hot Standby and
perform ONOP-003.5, “Loss of DC Buses 3D23 and D23A(3B),” '
. concurrently with the actions of GOP-103.

c. Venfy the reactor is tnpped using E-0, “Reactor Tnp or Safety In_;ectxon n o
*«  When the unit is stable, then perform ONOP-003 5, “Loss of DC Buses
3D23 and D23A(3B) » . .

- d. * . Verify the.reactor is tripped using E-0, “Reactor Trip or Safety Injectxon, >

and perform ONOP-003.5, “Loss of DC Buses 3D23 and D23A(3B) ”
concurrently with-the Immedxate Actions of E-0.
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QUESTION: 075

Unit 3 is operating at 100% power with all systems in normal alignment. 3A EDG is
being run for surveillance purposes and is presently tied to the 3A 4KV Bus. :

The following events occus:
- A main generator lockout occurs.

- Startup transformer breaker 3AA05, farls to close and is mechamcally
"bound, v . .

. 3A Reactor Coolant Pump breaker 3AAQ], fails to automatrcally open.
Wluch ONE of the followmg describes the requrred operator response? |

.a. . Manually open EDG breaker 3AA20, strip the 3A 4KV Bus usmg
. 3-ONOP-004.2, “Loss of 3A 4KV Bus ” and manually close breaker g
3AA20 ' . L

= #

.b. Manually open EDG breaker 3AA20, stnp the 3A 4KV Bus using
3-ONOP-004:2, “Loss of 3A 4KV Bus,” and verify breaker 3AA20
automatxcally closes. e

c. Venfy EDG breaker 3AA20 automatrcally opers, stnp the 3A 4KV Bus
_using 3-ONOP-004.2,“Loss of 3A 4KV Bus " and manually close breaker ’
3AA20

d Venfy BDG breaker 3AA20 automatrcally opens strxp the 3A 4KV Bus "
using 3-ONOP-004.2, “Loss of 3A 4KV Bus,” and verify breaker 3AA20
automatrcally closes. : . .
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QUESTION: 076

Unit 3 i§ at 100% power when PRMS R-3-20, Reactor Coolant Letdowx;, radiation
monitor alarms. HP investigates and surveys the area in the Pipe and Valve Room.

The HP Supemsor reports the presence of a Hot Spot that is readmg 400 mr/hr at 2 feet
from the source. .

Which ONE of the followmg identifies the dxstance from the source at which the

,measured dose rate will be 100 mr/hr?

a. 4 feet -
b 6 feet
c. gfeet : . » ' Co

d: 10 feet :
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QUESTION: 077

Unit 3 was of)era_ting at 100% power when the following events occurred:

- A Loss of Off Site Power (LOOP)

- The 3A1 Circulating Water Pump breaker did not open.

- All other systems responded as designed.

Which ONE of the followmg descnbes the effect on the 3AEDG breaker and 3A

Sequencer?
' 3A EDG Breaker

a.  Remains OPEN

b> . Remains OPEN

c. Autox‘n'aticdlly CL(‘)SES‘
d.  Automatically CLOSES '

3A Sequencer

Sequences

" Does Not Seduence-‘

Sequences

Does Not Sequerice -
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QUESTION: 078 S

Units 3 and 4 are at 100% power when the following events occur:

A loss of instrument air has decurred on both units.

3CM, 3CD, '4'CM, and 4CD instrument air compresso;'s are all inoperable. ‘

The NPO has been directed to open the four inch Service Air Supply to

Umt 3/Unit 4 T1e Valve.
The NPO reports that the four inch Service Axr Supply valve cannot be

‘opened.

Which ONE of the followiné describes the correct operator response?

Open the:

a.

b.

Servwe Air Supply valve from Units 1 & 2.
Instmment A1r Supply valve ﬁ'om Units 1 & 2

Breathmg A1r Supply cross-tie valve

' two inch Service Axr Supply to Unit 3/Umt 4 t:e valve
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QUESTION: 079

.

Both units are at 100% power when a leak occurs in the Main Fire Loop Loop pressure
decreases contmuously

Which ONE of tht; following identifié:e. the ﬁrst-ﬂump to auto start? .
a. The standby Jockey pump L
b The standi)y Se‘rvice. Water puml;
c. The Electric Fire pump

d. The Diesel Engine Driven Fire .pump




QUESTION: 080

The following conditions exist on Unit 3:

- The umt hds been shut down at Begmnmg-Of Life for equipment repalrs
- PRZ level is being mmntamed at 30%.
- RCS temperature is 140°F

The following events occur 10 days after the shutdown:

- . The running RHR pump trips and neither RHR pump can be restarted;” -
- Operators are unable to establish any other method of RCS coolmg

| . . Which ONE o_f the followmg 1dent1ﬁes the txme closest to when the RCS will enter”

| ) Mode 42« |
.. a’- . 12 minutes "
b. 35 minutes
. C. 42 iriiriute.s. '

d . SOmin-utes‘-
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QUESTION: 081 =, °

Unit 4 is operating at 100% power with all systems in automatic and all plant parameters
at their normal values. Pressurizer PORV, PCV-455C, fails partially open.

thch ONE of the following identifies the approximate maxlmum exXpected temperature
of the steam entering the PRT 1f the PRT. -pressure does not exceed 45 psig? .

a  228%F

b.  250°F ’

c. 275°F '. . T -
d 290F - : |




QUESTION: 082

Which ONE c;f the following descﬁl_;es the effect of a loss of instrument air on'the ECC

CCW valves?

A loss of instrument air will cause thé ECC:

a.

outlet valves to fail open.
outlet bypass valves to fail open.

outlet Yélves to-fail open.

. outlet bypass valves to fail closed.

outlet vaives to fail closed.

outlet bypass valves to fail open.

- outlet valves t'o fail closed.
outlet bypass valves to fail closed.

b

82




-

QUESTION 083

The 3A Emergency Containment Fllter fan has been automatxcally started by the
sequencer. .

Which ONE of the following conditions will automatically open the solenoid valves SV- .
3-2905 and SV-3-2906 to supply water to the 3A’ECF charcoal filters?

a. Containment temperature greater than 180°F.
. b Containment pressure greater than 20 p.sig. .
" C. ' Charcoal filter temperature greater than 325°F.

' d. Charcgal ﬁ_lter low air flow.
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QUESTION: 084 °

A reactor and turbme tnp occurs on Unit 3 while at 25% power.

Which ONE of the followmg descnbes the response of the Steam Dump to Condenser .

(SDTC) system?

a. Only 2 SDTCf valves will arm; -
The SDTC system will reduce Tavg to no-load Tavg.

b. Only 2 SDTC valves will arm, - . _
' The SDTC system will reduce Tavg to within 5°F of Tref. .-

c.  All4SDIC valves will arm,
" ' The SDTC system will reduce Tavg to no-load Tavg.

d. All 4 SDTC valves will arm . )
. The SDTC system will reduce Tavg to within 5°F of Tref,
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: QUESTION: 085 o

-

Unit 3 was at 80% mpower'vi'hen the 3B Main Feed Pump breaker trips op

Which ONE of the following describes the plant response?

«

" a. A cyclic gow./émgr runback to 60% power will occur.
b. A cyclic governor runback to 45% power will oceur.
.G

d A continuous load limit and governor runback to 45% power will

-

en.

. A continuous load limit and governor runback to 60% power will occur.

occur.
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QUESTION: 086

Unit 3 was operaﬁné at 100% with all systems in normal alighment. An SI signal occurs.
All systems function as designed.

After sequencing is complete, which ONE of the following describes thé number of CCW"
load(s) attached to the CCW System as it relates to the CCW-“Rule of Five™?

a. One CCW load'
b. T_wo CCW loads
e Three CCW loads

. d:  Four CCW loads
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QUESTION: 087 - . L -

»

Which ONE of the followmg is an interjock that must be satisfied to allow opening the
Containment personnql air lock outside door while in Mode 1?

a.

b.

»

The personnel airlock ins'ide door equalizing-valve must be open:

A 13

The personnel dirlock outsxde door equahzmg valve must be open.

Atmospheric pressure must be greaterthan 1 0 psig above airlock.
pressure.

.
~ . - . ~
-

‘o«

Containment pressure must be greater than 1.0 psig above airlock . °
pressure.




-
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QUESTION: 088 E . AR

Which ONE ofithe following individuals must be notified by the RCO with-
Administrative Duties (3™ RCO) before leaving the Control Room?

a. The RCO with Unit Duty
b. TheNWE ..

c. The ANPS L
i
» . h . ' .
d.  TheNPS S : .
.
" . -
-
L]
-
.
~ «
\ -
[
» “u *
\
'-
.
L)
.
. L
i
\
» »
.
’ ¥
.
.
. .
.
L] P .
.
.
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QUESTION os9

. The following condmons exist on Unit 4

- The operators are perfomung E-3, “Steam Generator Tube Rupture m' -

response to a SGTR in the 4A S/G.

- The 4B 4K_V Bus is de—ener_glzed.

- CcvCs letduwn\hasbeen're-e.stablished.

:", ‘(iontainmen_t conditions are normal.

.. PRZIlevelis30%.

- 4A 8/G level is increasing.. - . . o
Which ONE of the following RCO aefions is correct?

a. Tum OnPRZ Hea.t'ers.

b.  Decrease RCS 'Cha‘rgiug Flow.

c. D_e_prees.urize the RQS using Normal-Spray. '

d. bepressufize the RCS using Auitiliary Spray.
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QUESTION: 090 - i ;o
Which ONE of the follo’wiﬁg describes, the purpose of the CCW Systeni Head Tank?

a, To preclude steam formation in the ECCs followmg a LOOP/ LOCA
inside contamment

b. To preclude m-leakage of radioactive ﬂuxds ﬁ'om the CVCS o {
Non-regenerative heat exchanger. ; ’ |

c. To ensure NPSH when 3 CCW pumps are running followmg sequencer .
automatlc start signals..

- d To ensure NPSH when the Unit 3 and Unit 4 CCW Systems are cross-tied
' ‘and only one CCW pump is operating.
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QUESTION 091

thch ONE of the followmg correctly identifies the locatxon and the valve failure mode,
when isolating instrument air to FCV-3-114A; Primary Water to Blender valve?

LOQATIQN

a. ﬁAST_Room
b.- * BAST Room
: \

Te Charging Pump Room

d. Charging Pump Room

.
. <

AILURE MODE
Opel:r.l
Closed
Open . . .
Closed
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QUESTION‘ 092

" The followmg condmons exist on Unit 4

The umt is in Mode 3.

The reactor-trip breakers are closed..

- RCS Tavg is 548°F. ‘
- RCS pressure is 2235 psig.
- _A dilution to obt;xin the calculated critioal boron cor;confraﬁon is m
-progress.
* . Which ONE of the following is allowed per 4-GOP-301, “Hot Standby to Power

Operatxon"? ‘.

) a Testmg of the AFW pumps

b a Stopping of an operating RCP
c. Wxthdrawal of the Stutdown Rods

-d.

Energxzatlon of the PRZ backup heaters
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QUESTION: 093

Whicti ONE of the following is correct for the Base Continuous Power Ratings for the

Unit 3 and Unit 4 Emergency Diesel Generators?

o Unit 3 EDGs -
a . 2500 KW
b | 2500 KW
c. . 2874 KW

d. 2750 KW

Unit 4 EDGs |
2874 KW

2750 KW

" 2750 KW

2500KW |
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QUES’i'ION' 094

Which ONE of the following exposures excwds an FPL PTN gmdelme per 0-ADM-600
“Radiation Protection Manual?" .

a. 3 rems/yr Total Effective Dose Equ\ivalent
b. 5 rems/yr Lens Dose Equivalent |
3 20 rems/yr Total Organ Dose Eqmvalent
T d ) 20 rems/yr Shallow Dose Eqmvalent to the skin ' . .
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QUESTION' 095

Which ONE of the followmg is correct when using a frisker for determmmg the
radxoactmty of an object? ‘

a. Thie selector switch must 'be on the X1 (txmes one) scale and background
can-be no greater than 300 cpm. :

b. The selector switch must be on the times X100 .(times 10.0) scale and
T background can be no greater than 300 cpm.

3
c. The selector switch must be on the Xl (times one) scale and background
must be no greater-than 500 cpm.

d. The selector switch must be in the X100 (times 100) scale and
background must be no greater than 500 cpm. ‘







QUESTION: 096

" The fo]lowmg condltlons exist on Umt 3 while on RHR:

RCS temperature is 300°F.

RCS pressure momentarily spikes to 550 psig.

The RCO took the followmg actions:

Which ONE of the _followmg descnbes why MOV-750 and MOV-751 contmued to
stroke closed? . .

"a.

b.

Verified the amber and blue lights for MOV-750 and MOV-751 Loop C
RHR Pump Suctron Stop Valves, were lit. ", i

Depressed and released the override pushbuttons to open MOV-750'and .
MOV-751. i .

Determmed that MOV-750 and MOV-751 continued to'stroke closed

The OMS mode selector sthches are in the “Normal” posmon

The MOVs must. stroke to the fully closed posntron before they will

_ reopen

RCS pressure was too hxgh when the ovemde pushbuttons were
depressed..

T-he overnde pushbuttons need o be held in the depressed position untll
the yellow lights 8o out.
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QUESTION: 097

s

SI has occurred on Unit 3. Aﬁer exltmg E-0 “Reactor Trip of Safety Injectnon,” the
following condltlons relative to the Critical Safety Functions are observed

Subcriticality: NIS power ranges are all 2%.
NIS intermediate ranges’ SUR are both +0.2 DPM

Core Cooling: * - Six highest CETs read 720°F. -

Heat Sink: - \ 3A SIG 3B S/G 3CS/G .
NRlevel: 4%  * 5% % .

"AFW flow: 125 gpni ~ 125gpm 125 gpm
Containment: " Containment pressure'xs 10 psig.
. ' Containment Recirculation Sump level'is 450 mches
. Contamment conditions are not adverse.

N

All other status trees indicate only green or yellow paths.
Which _ONE of the following identifies the first procedure'to enter?
a. FR-S.l .“Response to Nuclear Power Generatio/ATWS”
"b. ° FR-C. l “Response to Inadequate Core Coolmg
C. FR-H.1, “Response to Loss of Seoondaxy Heat Sink” -

d. FR-Z. l “Response to High Contamment Pressure







QUESTION: 098" - | . - S
thch ONE of the followmg individuals may authonze de-escalation ﬁom a Site Area
Emergency’E-Plan classification? ] .
. a. Plant Manager - . ' ; ‘
b.  Recovery Manaéer IR . ’ ‘ :
¢. Emergency Coordinator . ‘
d. Emergency Co;ltrol Officer. A L




QUESTION: 099 o

The followmg events occur on Unit 3:
- | The unit experiences a spunous SI s:gnal
- Startup Transformer breaker 3AA05 fails to close.
- All other systems respond'as designed. |

Which ONE of the followmg identifies the Sequencer Trouble annunclator(s) that will _
- alarm When thé operators reset SI? . .

a, Sequencer 3A only.
~ b. ' Sequencer 3A and 3B.only.

Cx, quuenéer 3B, 4A and 4B only.

d. . -Sequencer 3A, 3B, 4A and 4B. -




QUESTION: 100

Unit 3 operators are performing the Immediate Operator'Actions of E-0 “Reactor Trip or
Safety Injection.”

The following conditions exist:

3A 4KV bus is energized.

3B 4KV bus is de-energized.
. 3D 4KV bus s aligned to 3B 4KV bus.

3CICW and 3C CCW pump breakers are open.
Which ONE of the following is the: correct operator action?
Venfy Dus lockout mdrcatmg light is:

©oa. flashing. Align D bus to A bus by bpeniné the B bus supply bre'ak.ers,' )
- . then closing the A bus supply breakers. .

b. ﬂashmg (Align D bus to A bus by closing the A bus breakers, then
openmg the B bus breakers

c. lit (not ﬂashmg) Ahgn D bus to A bus by closing the ‘Abus supply .
breakers, then opemng the B bus supply breakers

d. lit (not ﬂashmg) Ahgn Dbusto A bus by opening the B bus supply
" breakers, then closmg the A bus supply ‘breakers.

100
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QUESTION: 001

- The following conditions exist on Unit 3:

-~ - TheRod Control System is in Manual.
- Control Bank C is at 225 steps
- Control Bank D is at 97 steps

The fotlowing event occurs: '

. A Rod Control System malfunction causes contmuous rod thhdrawal for
_ 10 steps. Rod motion then stops.

Whlch ONE of the followmg identifies what the RPIs for control banks C and D should

. mdxcate? . ‘
Y 'B_mﬂcc-gzs . .’Bank'l_)—97 -'
b.- - Bar.lk;(?—230' | Bank D - 97
¢. BakC-230 . BankD-107

d.  BankC-235  * BankD- 107




QUESTION 002
. The followmg condmons exist on Unit 3
- The unit is at 100% power
- A power supply failure in rod control Power Cabinet 1AC results in one
dropped rod in Control Bank A Group 1 and one dropped rod in Control
Bank C Group 1.
Which ONE of the following dctions is correct?
a. Manually runbacic the turbine,
b.. Venfy automatxc turbine runback

c: Enter ONOP-28 3 “Dropped RCC” and retneve both dropped rods. . %: "

d. Tnp- the Reactor and go to E-O “Reactor Trip Or Safety Injectxon._” .




QUESTION: 003

The following. conditions exist on Unit 3:

- The operators are responding to a misaligned D Bank, Group 2, control
rod using 3-ONOP-28.1 “RCC M1salxgnment ? .

- The appropriate lift coll dlsconnect switches have been pIaced to the
discorinect position.

Wthh ONE of the followmg Power Cabinets will be the source of the Urgent Faxlure
_ alarm that occurs when the operator initiates rod motion? - .

a. 1AC
b. 1BD
e 2AC

d ZBD‘ .




QUES'I’ION 004

A large break LOCA occurred whxle Umt 4 was operating at 100% power. The operators
are respondmg per E-O “Reactor Trip or Safety Injection”.

Which ONE of the followmg describes why the RCO verifies the Feedwater Isolatlon
signal closed the Main and Bypass FW Control valyes in step 5 of E-0?-

a. To ensure the subsequent availability of AFW ﬂowpaths

b. To ensure the subsequent availability of secondary heat sink water
- sources., : : ‘
e _To minimize the potentxal for RCS cooldown due to S/G overfill.
" d. To minimize the potential for containment overpressunzauon from
) feedwater addition.

¥
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QUESTION: 005"

Operators are respondmg to a LOCA outside Containment 1 using ECA—l 2, “LOCA
Outsnde Contamment ” .

If unable to 1solate the break, which ONE of the followmg 1dent1ﬁes the procedure
ECA-1.2 will direct the operators to transition to? . .

a. " E-1, “Loss of Reactor or Secondary Coolant’; )

b.  .ES-1.2, “Post LOCA Cooldown and Depressurization”

c. ES-1.3, “Transfer to Cold Leg Recirculation”

d, ECA-1.1, “Loss of Emergency Coolant Recirculation”




QUESTION: 006
.Unit 4 operators have just eniere;i E-1 “Loss of Reactor or Secoﬁdary Coolant.”

The following conditions exist:

- RCS pressure: ' 1525 ésigl
- RCS CET subcooling: "70°F.
- PRZlevel: - C15%.

‘-: Containment temperature:  165°F.
- S/G NR levels: 4A 4B 4C
S 2% 0% 0%
Which ONE of the following is correct?
SI Termination Criteria is not miet based on:
a  PRZlewel
" b. RCS pressure.
. C. S/G NR-lqv:els.
d - R?S CET ‘Subcooling .
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QUEénON: 007
The following c_on;iitions exist on iJnit 3.

- The“POWER BELOW P-8” status lamp is NOT lit, . .

- The 3A RCP ‘experiences a sheared shaft.
Which ONE of the followfng'correctly describes the applicable reactor trip logic?
The reactor will:

" a ‘ ‘-tn'p duetoa singie RCS loop low flow signal.
h b, tripduetoa single RCP breaker open signal.

c. *  nottrip because two RCS loops must have low ﬂovs;’»signal‘s.

., [}

d. not trip because two RCPs must have breaker open signals. -




QUESTION: 008 _

The following conditions exist on Unit 4:
- Operators are p‘erfomti:ng ES-0.2, “Natural Circulation Cooldown.”
- All sysiems are operable except the RCPs aﬁd Channel A of QSPDS. -
- The NPS determines a cooldown rate in excess of 25°F/hr is reqmred

. Which ONE of the following descnbes the correct operator action? .

a Increase the cooldown rate to a rate not to exceed 60°F/hr and remain in .
ES-0.2. ‘

b Increase the‘cooldown rate to arate not to exceed 100°F/hr and remain in
ES-0.2. )

€.«  Transition to ES-0.3, “Natural Circulation Cooldown with Steam Voxd m ”
Vessel (With RVLMS) ” .

d. Transmon to ES-O 4, “Natural erculatxon Cooldown wnh Steam Voxd in -
Vessel (Without RVLMS).”



QUESTION: 009 .

The following event occurs while Unit 4 is in Mode 3:

RCS Tavg is 520°F.
Both NIS Source Ranges indicate an unexplained increase in count rate.

The RCO initiates emergency boration pet;IONOP-O46.1 “Emergency
Boration.” ' o

-

VAl eqﬁipment functions as designed. - .

Which ONE of'the following is correct for emergency boration terr;lination?

Emergency boration may be terminated when:

. &

LY

b

Tavg is greater than 525°F. -

. Source-Range count rates are stable or decreasing.

a minimum of 9 minutes has passed since boration initiation.

L

a minimium of 39 minutes has passed since boration initiation.



QUESTION: 010
A total loss of: CCW occurs on Unit 4 while at 100% pox;(gr.
Which ONE of the following is correct?
Damage will occur quickest to the Charging. p;xmp:
a. oi'l pump with‘the Charging ptfmp run at minimum speed.
b. oxl pump with the Charging pump run at maximum speed
c ' ﬂmd dnve couplmg thh the Charging pump run at minimum speed

-d. | fluid drive coupling with the Chargmg pump run at maxlmum'speed. '

10




_QUESTION: 011

With Unit 4 stable at 2% power, the RCO observes that the Reactor Tnp Breakers have

no red or green md1cat1ng lights lit on the console or on VPB.

Which ONE of the followmg correctly descnbes an event that could have caused this
condition? :

a.  SRNISN-31 Ixistrument Powgr fuse hds blcwn..'
. b SRNNIS N-32 Control Power fuse has blown. |
' . C. IR NIS N-35 Instmment'Pox;er fuse has blown.
.d. PR NIS N-41 Control Power fuse has blown.

11




. QUESTION: 012 L
The folloxlwing conditions exist on Unit 3:
- The unit is at 2% power.
- AlIMSIVs are closed.

- A steam line break occurs on the 3A S/G at the safety header.

Which ONE of the following describes the plant response given these conditions? .

SI i_vill'occur'\;Jhen'
"a. nTavg decreases to 543°F.
l;. - containment pressure increases to 4 psig.
c. 3A S/G pressure decreases to 485 psig.

d 3A S/G pressure decreases to 614 psrg

12




QUESTION: 013 - . ;

Unit 4 operators have just transntxoned to FR-P.], “Response to Immment Pressunzed
Thermal Shock Condition.” .

The following conditions exist:
- AFW is not available.

-« The “A” Standby Feedwater Pump is bemg used to maintain S/G
mventory :

. thch ONE of the following mdrcatlons should be used to control feed water ﬂow?
Use changes in:
h a. RCS pressure
b. R'CS t_emperature..
c. PRZ 1e§'é1.

d - S/G pressm:e.

13




QUESTION: 014

.The following conditions exist on Unit 3:

The operators have completed the I0OAs of ONOP- 014 “Mam Condenser
Loss of Vacuum.” :

The unit was mmally at'750 MWe and 26" vacuum w1th vacuum slowly
decreasmg

The'unit is now at 650 MWe and 23" vacuum with vacuum slowly
decreasing. ~ * . .

Which ONE of the following is the required operator action?

a.

ba

.Continue reducmg MWe until vacuum stabilizes at greater than or equa! to

20.0” vacuum,

Contmue reducmg MWe until vacuum stabilizes at greater than or equal to '
22", vacuum. . ‘

Stablhze ‘the plant and continue to mvestlgate the cause of the low vacuum
condition.

I

Trip the reactor and turbine and perform the actions of E-0, “Reactor Tnp
.or Safety In_]ectlon » g




QUESTION: 015 - L.

Umt 3 experxenced a Loss of All AC Power s1multaneous wnh a complete loss of
’ Instrumeént Air.

Operetors have restored power to and started the 3A Charging pump.

Which ONE of the following correctly.describes the effect on CVCS?

The letdown flowpath: ,
- \ - .
. “a. remains open and the chargmg pump speed goes to rmmmum -
b. Temains open and the charging pump speed goes to maximum.

c. isdlates and the charging pump speed goes to nnmmum

- dy xsolates and the chargmg pump speed-goes to maximum.

a .
« te




QUESTION: 016 T . L
Unit 3 is in Mode 3 with the following conditions:

- A loss of a 120V Vital Instrument Panel has caused VCT level indicator. -
LI-3- 115 to indicate zero level. .

- Annuncxator A 4/6 “VCT HI/LO LEVEL is in alarm.

Which ONE of the followmg is correct for the given conditions?

\

: VCT Anto Makeup
. a., initiates and chargmg pump | suctlon remains aligned to the VCT.
" b.' initiates and chargmg pump suctlon auto swaps to the RWST.
C» is disabled and charging pump suction remains alxgned to the VCT

| ‘ . o ] : d. is. dlsabled and chargmg pump suction auto swaps to the RWST




QUESTION: 017
- Unit 3 operators have initiated an RCS cooldown while arespondi'ng to a faulted/ruptured
S/G per ECA-3.2, “SGTR With Loss of Reactor Coolant-Saturated Recovery Desired.”

‘Which ONE of the fc;lslowing identifies the limitations on the cooldown rate and the
reason for initiating the cooldown? '

COOLDOWN RATE . . REASON/BASIS

‘a.  S0°FMr . ’ Minimize radioactive release
“b. 50°F/hr . Prevent S/G overfill
c. 100°F/Hr Minimize radioactive release

d. 100°F/Hr . . Prevent S/G overfill







-

QUESTION 018
Unit 3 is at 100% power with the 3C ICW Pump out of service.

Which ONE of the followmg describes a sxtuatxon that would result ina complete loss of
ICW flow to the unit? . .

A grass influx that completely blocks flow.to the:
a. 3Al and 3A2 Intake Wells.
b 3B1 and 3B2 Intake Wells.

c.  3Al and 3B1 Intake Wells.

" d. 3A2 and 3B2 Intake Wells:







» e

QUESTION: 019 -

The fire team is ﬁghtmg a class C fire in an energlzed 480 volt Load Center All
available CO; extinguishers have been expended and the fire is still not under control.

i Whlch ONE of the following 1dent1ﬁes the preferred ﬁre ﬁghtmg equipment that should
, be used in this situation? ; . ]

a. Fire hoses with fog nozzles
‘ b. I_’ortabl.e H:0 extinguishers
€. ' Dry Chemical fire exting;xishers
‘ _ Lo ‘ ' d Portable Halon fire extinguishe.r;

19




QU_ESTION: (;20
The followmg condmons exist:
- Unit 3 is in Mode 5.
- Unit 4 was initially at 10.0% powei'
.= The Control Room has been evacuated duetoa ﬁre in the Cable Spreadmg

*Room.
{

- Safe Shutdown epnditions have been established on Unit 4. -

- Both Units are stable.

Which ONE of the followmg xdentlﬁes the Umt 4 480V Load Centers that wﬂl be
energlzed at thxs tlme‘? . :
a.-_\' Only .{..and C Load Centers
B AC and.H Load Centers
c. -OnlyB and D Load Centers -

d. B, D and H Load éenters

20




QUESTION; 021

.

Which ONE of the following is an mdlcatxon or control that is on the Umt 3 Altemate
Shutdown Panel? . w

a. 3AEDG voltage i;ldicator m
b. RCS Loop Flow indicator . _ o
c. “C” AFW pump T&T valve control ‘switch ' . _ |

d. . 3A Chargmg pump'oontrol switch o _ L ) ‘




QUESTION 022

Unit 3 operators are perfonmng step 14 of E-0, “Reactor Trip or Safety Injectxon to |
determine if Containment Spray is requtred Containment pressure is 22 psig.

Whrch ONE of the followmg states the reason for venfymg Phase B: Isolatron has
occurred?

To ensure: : . . . . . |

b. the RCP seals anct motors.do not overheat.
c. that potential release paths from the containment are isolated.

d.  system alignment is correct for containment spray operation.

I

a. the MSIVs are closed due to the high Containment pressure. o -

22




QUESTION: 023

L4

" Operators are responding an madequate core coolmg condmon usmg FR-C 1, “Response
to Inadequate Core Cooling. »

Which ONE of the followmg 1s correct regarding RCP operatxon?

If an RCP is:

a.

4

n

initially running, it should be left.running until it trips by itself.

mmally running, it should ‘be left running until #1 seal delta P tnp cntena

. is met.

not running; it should be left offuntil 6% [32%] level is attained in its .
- associated S/G.

S/G.

not running, it should be léft off untxl 6% [32%] level is attamed in any

23
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QUESTION' 024

Operators are performing 3- ONOP-041 4, “Excessive Reactor Coolant System Actmty,”
and have just reduced Tavg to less than 500°F as directed by the procedure.

Which ONE of the followin_g describes the basis for reducing Tavg to less than S00°F?
a. To block SIin preparation for a controlled cooldown. |

b. To allow closing the MSIVs in'preparation for a controlled cooldown.

_ c. - To prevent the release of activity in the event of a main steam linébreak .
| upstream of the MSIVs. . .
| - - .
| d. To ensure the saturation pressure of the RCS is below the lift pressure of -

the-atmospheric relief valves.




QUI-ESTIOI;I: 025

The following cond_iti;;ﬁS exist on Unit 3:
- ' The unit was initially at 100% power.
- A reactor trip occurred. -

- All rods fully msert except Control Bank B Group 2 rods whxch remain
. fully withdrawn. .

- Reactor power is 2% and decreasmg

- Intermediate range NIS channels N-35 and N-36 indlcate
a SUR of -0.3 dpm.

- E-0," “Reactor Trip or Safety Injection” step 4 has been completed.

Which ONE of the fpll;w_iné.identi_ﬁes the correqt‘ ﬁroced_ure use;?f
a. ‘. Rémain in E-0 and emergencir‘borage while performing E-0.
b.  Transition to FR-S.2 ,“Response to Loss of Core Shutdown.”
c. | Transition _tb'ES-(‘).'l, “Reactor Trip Response” and then gmergenc); bo;.'éte.

d.,. Transition to FR-S.1, “Response to Nﬁclga} Power Génegatipn/ATWé.”.




QUESTION: 026 ’
" The folluwing coriditions exist on Unit 4:
- Low PRZ pressure SI has occurred.
- All 4 HHSI pumps are rumling,‘
- PRZ level is increasing .
- RCS pressure 1s 1450 psig and decreasing.
- . HHSI ‘cold leg ﬂow indication (FI-943) is zero.

- PRT pressure and level are increasing.

Which ONE of the following descnbes the events that could have caused these .
.condxtlons? ‘ . 3

.

a.  APRZPORV is open and the HHSI isolatioft valves, MOV-843A and
' MOV-843B failed to open. Lt

‘b, APRZPORV is open and the HHSI line downstream of the HHSI_
xsolatlon valves MOV-843A and MOV-843B, has sheared.

c.© APRZ Spray valve is open and the HHSI isolation valves MOV-843A L
and MOV-843B, failed to-open.

d A PRZ Spray valve is open and the HHSI lme downstream of. the HHSI
pumps has’ sheared ' )




QUESTION: " 027 °

+ Unit 3 operators are respondmg to a LOCA and have transitioned to E-1when the STA
reports that RCS Cold Leg temperatures are 310°F.

Whnch ONE of the following describes the correct operator response?

“a. ‘Transition t6 FR-P.1, “Response to Immirient Pressurized Thermal Shock :
Condmon,” and perform the actions of FR-P-1 xf RCS pressure is greater '

than 250 psig.

- b. “Transition to FR-P.1, “Response to Immment Pressurized Thermal Shock -
Condmon,” and perform the actions of FR-P-1 if RCS pressure is- less than

250 psig.

c. Transition to FR-P.2, “Responsé to Anticipated Pressurized Thermal
Shock Condition,” and perfoxm the actions of FR-P-2 if RCS pressure xs "
i greaterthan 250 psig.. .. -

d. Transxtlon to FR-P.2, “Response to Anticipated Pressunzed Thermal .
Shock Condmon,” and perform the actxons of FR-P-2 if RCS pressure is

less than 250 psrg




QUESTION: 028 . S

.Unit 3 operators are perfonmng Step 16 of EOP-ES-I 2 “Post LOCA Cooldown and
Depressunzatxon

The following conditions exist:

- . OneUnit3 HHSI  pump is runmng
- One RHR pump is runmng
- Two Charging pumps are runmng at maximum flow.
- Containment temperature is 178°F.

“ - CET subcoolmg is 68°F
- RCS Thot temperatures are 320°F
- RCS.p_ressure is 260 psig.
- - No RCPs'are avaiiable.
-z level is stable at 30%.

Which ONE of the following descnbes the operatmg HHSI/RHR pump conﬁguratlon
_ when the operators isolate the accuniulators?

.a. ' ZeroHHSIpumps ZeroRHRpumps i _ p. : ‘
b. . Zero HHSI pumps One RHR pump. ' | C
' C One HHSI pump, Zero. RHR pumps.
d.  OneHHSI pump, One RER pump.

x




QUESTION 029

Whlch ONE of the followmg descrlbes a condition that would prevent successful
transition to Cold Leg recxrculatxon?

a.

Only one of the RHR Pump Suction Stop valves, MOV-750 or
MOV-751 can be energized. .

Only one of the RHR Stiction from RWST valves, MOV-862A or

MOV-862B can be energlzed

' Contairiment Recu'culatlon Sump Isolation valves MOV-860A and
‘'MOV-860B will not open. . .

Containment Recirculation Sump Isolation valves MOV-860A and
MOV-861A w:ll not open,
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QUESTION: 030
'Unit 4isin i}{o;i.e 5 and all loops are ﬁllt;d.
The followiné equipmex;t is out of service: -
- RHR L‘o-op A
- 4C ICW pump
.- ‘ 4C CCW pump

. Which ONE of the followirig will result in a loss of RHR required capability per .
3-OP-050, “Residual Heat Removal System?”

A failure of the:
a.  4AEDG.
b. 4B CCWH/X.

c.  4A CCW pump.

d. 4B ICW pump.




QUESTION' 031

Unit 3 is in Mode 1 when operators responded to PRZ pressure transmltter PT-445,
failed high. ‘ .

The following stable conditions now exist:

- Reactor Power 80%
"= Tavg . ST2°F
- "PRZ Pressure _’ : 2150 psig
- PRZ Level 48%

Which ONE of the followmg is the operator response required by’ Techmcal
Specxﬁcatlons? .

.
.

a. Restore PRZ level to greater than 48%
"b.  RestorePRZ pressure to greater than 2200 psig.
c. Reduce  Tavg to less than 570°F

~d. Reduce ReactOr Power to less than 75%




k4

“ * QUESTION: 032

The following conditions exist on Unit 3:

Reactor power is 22% with‘ope}afors performing a plant startup.

NIS Intermediate range channel N-36 fails high. ,

Which ONE of the following is the correct-operator response? '

a.

. b

. d\
PR Y
-
.

Enter E-0, “Reactor Trip or Safety Injection.”

‘Place the N-36 LEVEL TRIP switch in BYPASS and contmue the power ‘ ;

ascension,

Place the N-36 LEVEL TRIP switch in BYPASS and reduce power below -
perrmssxve P-6. . )

Place the N-36 LEVEL TRIP switch in BYPASS and reduce power below .
permissive P-lO . o
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QUESTION: 033

The following conditions exist;

Unit 3 is at 100% power
PRMS Channel R-15 (Condenser Air Ejector monitor) has alarmed.

At 0800, 3C S/G tube leakage is calculated to be 110 GPD.

At 0900, 3C S/G tube leakage is calculated to be 160 GPD.

. ‘Which.ONE of the following is the correct operator response?

"a.

Increase S/G sampling frequency and return to procedure and step in

" effect. -

) Place the unit in Mode 3 within 1 hour.

Place the Umt in Mode 3 within 6 hours

Trip the reactor and enter E-0 “Reactor Tnp or Safety Injectxon
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QUESTION: 034
The following has occurred on Unit 3:
- Operators are respondmg to a SGTR.

- They are performmg a cooldown.in E-3, “Steam Generator Tube
Rupture,” to increase subcooling prior to RCS depressunzatlon

.= . The STA informs the crew that a Red Path exlsts on the Integnty Status® .-
' ‘Tree. :

| o : ‘Which ONE of the following de:scribes the correct operator. r;asponse? , -
If the RCPs are: |
a. runmng then stop the cooldown, and continue perforrmng E-3..
i).\_ runmng, then continue the cooldown, and continue performmg E—3

C. not running, then stop the cooldown, and transmon to FR-P. 1

d not running, then contmue the cooldown and contmue perfonmng E-3.

v




QUESTION:. 035 o - . - L

-

Which ONE of ihe following describes the basis for verifying AFW flow is greater than

390 gpm followirig a loss of main feedwater event?
390 gpm is the minimum AFW flow requir.ed‘in the event:
a. an ATWS océ:u_rs.‘
b. iny'one AFW pump is runmng
"g. - any S)G level is‘bel'ow 6% NR. T . T “

. d. all S/G levels are below 6% NR.

»




QUESTION: 036

‘Unit 3 operators have entered FR-H l “Response to Loss of Secondary Heat Sink.”

The followmg condmons exist:"

Which ONE of the following describes the minimum Control Room acnon(s) requxred to .

No Main Feedwater Pumps are available.
No Auxiliary Feedwater Pumps are avai“lable.
The RCPs are off

Annunmator E 2/6 “HI-HI SG LVL TURBINE TRIP/FEEDWATER L

ISOLATION is in alann '

The operators are preparing to re-establish feedwater usmg a Standby
Steam Generator Feedwater Pump. - .

re-establish feed ﬂow to the S/Gs?

Reset:

SI

. Phase A
Feedwater Isolation

" - SI and Feedwater Isolation

" 36




QUESTION: 037 )
" The following _cor'lditions exist on Unit 3:
- The unit has a normal eléctrical lineup.
- 3C ICW pump is runnir-lg'. _
- A loss of the normal DC _cont;ol power supply to the 3D 4KV Bus occurs. .

" Which ONE of the following descnbes the indications that would now exist on VPA for
: the 3C ICW pump?

a. Red light on - Normal amps .

b.'. - Green hght on - No amps

c. Red and Green lights off - Normal amps '

.
Ay

d Red and Green lights off. - No amps.




QU:ESTION- 038 _ |
Which'ONE of the followmg describes the Immediate Operator Action(s) of
0-ONOP-066, “High Area Radiation Monitoring System ‘Alarm,” in the event
Annunciator X 4/1, ARMS HI RADIATION, alarms?
Identify the alarming channel(s) at the ARMS panel and then:

a. announce the alarm over the plant page system.

b. notify Security to restrict entry to the affected areas.

e - press the ALARM ACK pushbutton on the ARMS control panel. -

- d. ‘cross-check the alarming ARMS channel(s) with PRMS channel(s) in the
aﬁ'ected area,
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QUESTION 039

Unit 4 operators are respondmg toaLOCA and have entered E-1 “Loss of Reactor or
Secondary Coolant.”

- The TSC is not yet operatxonal
- Contamment tcmperature peaked at 200°F and has dropped to 170°F

- Contamment radiation peaked at 1.3 x lOsR/hr and has dropped to
1.2 x 10° R/hr. : (

Which ONE of the following is correct? - o . ‘ g =
Intact S/G levels‘ should l.?é maintained in the NR between: |
s 6%and 32% M . c T
b 15% and 3:2% ' i "
c. - 15% and-S_O%

d.  32%and 50%
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.. QUESTION: 040 e

Unit 4 operators have entered 0-ONOP-13, “Loss of Instrument Air” in response to
Annunciator I 6/1, INST AIR SYSTEM HI TEMP/LO PRESS.

The following conditions exist:
- All available air compressors are running. .

- Instrument Air pressure indicator, PI-4-1444, is 60 psig and stable.

- Which ONE of the followmg 1dent1fies the equipment that wﬂl be aﬁ‘ected?

Unit 4
a.  MSIVswill il closed.
b, ‘ Feedwater Reg Vaives will fail closed.
c. - EDGFuel Oil Transfer capability wiii be lost.

.d.”  Train 1 AFW FCV automatic operation will be lost.




(! 1

QUESTION; " 041

)

. Unit 4 is at 100% power wnh all systems operating in automatic and all sw1tches in thelr
normal positions.

PRZ level transmi_tter LT-459 fails low. ° -

Which ONE of the following describes the plant responsé?

a. Charging flow will decrease.
' * Letdown will isolate.
.b. Charging flow wil.l decrease. ‘

Letdown will remain in service.

c. Charging flow will increase;
" Letdown will.isolate.

d:. Charging flow will i increase,
Letdown will remain in service.




- QUESTION: 042

The following cén&itions exist with Unit 3at 100%; power and all systeri):s operable:!
- 3D4KVBusis aligned to 3A 4KV Bus. |
- 3B and 3C ICW Pumps are rur_uu'ng.
'I’_he following events occur:
- A loss of offsite power ngOP) occurs on Unit 3.
- The 3B EDG-fail; to start.

Which ONE of the followmg describes the ICW pump configuration when sequencmg is
complete (assume no operator response)? .

a,  NoICW bumps will be running.
b.  Onlythe 3A ICW pump will be running..
c. Only the 3C ICW pump will be running.

d.. The3Aand3C ICW pumps will be running, -




QUESTION: 043
- Unit 4 operators ére performing FR-i-I.Z “Responsl; to S/G Overpressure.”
Current conditions are as follows:
- 4A S/G pressure is 1135 psig.
- 4A S/_G level has risento 60%.
- RCS Thot tempera-turef; are 520°F.
. " All thrée RCPsare running. ‘ |
Which ONE of the fdllowin_g describes how to correétly reduce pressure in t.he 4A S/G_’?
"~ a  Stopthe 4ARCP.
b, "Dump steam from the 44 S/G.,
e . Dump steam from the uﬁaﬁ‘ected S/Gs.

_. - d. © Reduce4A é/G inventory using the S/G blowdown system.




QUESTION: 044

.
‘I

+ Unit 3 is stable at 75% power with all systems in automatic and Tavg matched with Tref .

The following events occur:
- 3A Stoam Generator Feed pump breaker trips open.

- Generator Joad has stabilized following the turbine runback.

* The RCO observes the followmg mdxcatxons

- Tavg: - 555°F and decreasmg ) .o
- Tref . 55'9°F and stable
- Control Rods ~ Inserting

Which ONE of the followmg descnbes the correct 1mmedxate operator actlon?

a. Mamtam rods in AUTO and if rods continue to insert, adjust turbme load .
to match Tavg to Tref. . :

b.-. Mamtam rods in AUTO and if rods contmue to insert, adjust boron
concentration to match Tavg to Tref: )

e Place rods in MANUAL and if fods contmue to insert, adjust turbine load
' ‘to match Tavg to Tref

d . _ Place rods in MANUAL and if rods continue to insert, adjust boron ,‘
. concentratxon to match Tavg to Tref :




QU:ESTION: 045 . .

The following ‘plant conditions exist:
- anteinmen‘t‘Phase “A” isolation has occurred.
- The isolation signal has not yet b'een reset.

Which ONE of the following describes.the eﬁ'ect this condmon will have ‘onRCP”
Number 1 seal leak off ﬂow? ' )

" Number 1 seal leak off flow wxl_l: i , .

a. ,decrease because VCT level has increased.,
b. decrease because the backpressure has increased.
c go to Zero because RCP Seal Return to VCT valve MOV-381 is. closed

d. . goto zero because #1 Seal Leakoff Isolatxon valves, 303A, 303B, and
" ' 303C are closed . ”
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QUESTION: 046 |

‘A reactor startup fs_being performed on 'Unit‘ 3. The following cnnditions apply:
- The ECC estimated critical rod height is D bank at 110 steps.
- The initial highest source range count rate was N-31 at 250 cps .
- The current N-31 count raie 1s 1000 cps.

- Based on the current N-31 count rate, the 1/M plot predxcts cntlcahty at
. D bank, 180 steps .

- .Integrated rod worth for D-110 is 490 pcm.
- Integrated i‘od worth for D-180 is 160 pcm.

Whlch ONE of the followmg is the correct operator response?

a. . Do not contmue the reactor startup.. Obtain penmssmn ﬁ-om the NPS to ‘
Coe contmue ‘ :

b. Do not contmue the reactor startup. Obtain permission’ form the Reactor
Supemsor to contmue .

c. Continue the reactor startup If the prediction is ‘still D-180 after the next'
’ doublmg, obtain pemussxon from the NPS to continue.

d.” - Continue the reactor staxtup If the prediction is still D-180 after the next
‘ doublmg, obtain permission ﬁ'om the Reactor Supervisor to contmue




QUESTION: 047 °
Which ONE of the followmg describes the purpose of the mterlocks between CVCS
Letdown Isolation valve, LCV-460, and the Letdown Orifice Isolation valves, 200A,
200B, & 200C?
The interlocks prevent damage'to:

a. LCV-460 upon depressurization of the letdown line..

b. CV-200A, 200B, 200C upon depressunzatlon of the letdown lme )

.c.  the Regenerative Heat Exchanger upon subsequent repressunzatxon ofthe -
letdown line.

d. RV-203, Letdown Relief Valve, upon subsequent repressunzatlon of the
letdown lme . oL
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dI_JESTION: 648 :
The fc;ilowiné'wnditiom exist on Unit 3:
| - Reactor power is stabie at 10% amps.
- “PRZ Pressure Control Channel™ PT-444 faxls high.

Assuming no operator action, which ONE of the followmg descnbes the response of the- )
plant to this condltxon? .

a. The reactor wﬂl tnp when PRZ pressure increases to 2385 psig.
b. ©  PRZ pressure will stabilize at approximately 2000 psig .
-C. The reactor will trip when PRZ pressure decreases to 1835 psig.

"d, SI actuation will occur when PRZ pressure decreases to 1730 psig.
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QUESTION: 049

"Unit 3 is at 100% power and Annunciator B 9/3, SHUTDOWN ROD OFF
TOP/DEVIATION is not operational

Which ONE of the followmg descnbes the actxon that operators must take at least once * |
every 4 hours? .

Verify RPIs and Step Counters agree within:

a. 2 steps. i
" b 12 steps.
. < G ' 18 éteps. -

24 steps..




QUESTION: 050 - f

»

Unit 3 is stable at 98% power Reactor Engineering has performed QPTR calculatxons
using a full core flux map and core exxt thermocouples. Both calculations reveal the

QPTR value is 1.03. . | ,
Which ONE of the following describes the required operator response?
R?duce NIS power to less than:

a. 97% within 2 hours.

b.  "95% within 2 houss,

: '91% within 2 hours.

d.  89% within 2 hours.
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QUESTION: 051

" A Xenon oscillation caused the Axial Flux Dxﬁ'erence (AI) meters to dxsplay the
following values wh:le Unit 3 was at 80% power

N-3-41 N-3-42 - N-3-43 N-3-44
-14 .. -15 -20 =21

Which ONE of the following describes tile required operator response?

a. Return at least o one Al meter thhm the Operational Space w1t}un
- 15 mmutes .

b, Return at ledst one Al meter thhm the Operatlonal Space within
" 60 minutes.

G Return at least two Al meters within the Operatnonal Space w1thm )
15 minutes. . :

d. Return.at least two Al meters thlun the Operatxonal Space within

60 mmutes




QUfESTION' 052

Unit 3° operators are respondmg to a spurious SI sxgnal and are attempting to determme if .
SI termination crlterxa are met. The ANPS dtrects the RCO to check subcooling on
QSPDS: .

QSPDS displays the following:

SATURATION MARGIN |
' - " DEGF - PSI
UPPER HEAD 48 633
RCS (MIN) ; 36 . 438 o
“CET . : 28 340 . - .

Assuming other SI Termination Criteria are satlsﬁed ‘which ONE of the followmg is
correct? . :

. The RCO should declare SI Termination Cntena are:

A Y
-

a. - not met aﬁer observmg the RCS (MIN) value

"' b, notmet aﬁer oobserving the CET value.

o

met after ol_:serving the RCS (MIN) value.

“d. met after observing the CET value.
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QUESTION: 053

A large break,LOC.A occurs on Unit 3 while.the 3B Sequencer is inoper.able.

Which ONE of the following describes an effect on the Unit 3 containment?
Containment pressqrc; will be l_ligher because only the: o
a. 3A ECC will aut'ostart.
b.  3CECC will aitostart,
"o 3Aand3CECCs will sutostart

"d. 3B and 3C ECCs will autostart.”-
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QUESTION: 054

" Unit3 experienced a large. break LOCA. bperatofs have'respondec.i with'the EOP
network and have completed the actions. of ES-1.3, “Transfer to Cold Leg Recirculation.”

Containment temperature has decreased to 140°F

Which ONE of the followmg descrlbes the correct Contamment Spray Pump (CSP)
alignment?

a. 1CSP running with its suction aligned diréctly to the Containment Recirc. ._
sump. :

b. .1 CSP running w1th its suction aligned to the Containment Reclrc sump
via the RHR pump discharge.

e -2 CSPs runmng with their suctions aligned dlrectly to the Contamment
Recirc. sump.. .o

d:. 2.CSPs runmng w1th their suctions aligned to the Contamment Recxrc
sump via the RHR pump dlscharge .




> -

QUESTION' 055

.Umt 3is operatmg at 70% power with all systems operable except the 3C Condensate
pump which has its breaker racked out. .

" The3A Condensate pump breaker trips open.

Which ONE of the followmg describes the correct operator response?
Perform the actions of -
. a. ONQP-089,.“T:rrbine Runback.”
b.  ONOP-100, “Fast Load Reduction.”

c. GOP-103, “Power Operation to Hot Standby.”

d.  E-0, “Reactor Trip or Safety Injection.”




QUESTION: 056

"Unit 3 is operafiné at 100% power when.the.contr.olling S/G pressure transmitter fails low
onthe 3A S/G. °

Which ONE of the following describes ihé effect this will have on the controlling
indicated steam flow and the initial 3A FW Qontrol Valve, FCV-478, response?

Indicated steam flow will:-
a. decrease. The FCV will ;Jpen. ‘ . - ‘ . ‘
b, decrease. The FCV will close. DT
‘ " ¢.  increase. :The FCV will open. " .
d. increase. TheFCV will close.
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QUESTION 057

Wxth Unit 3 mmally at 100% power and all systems in normal alxgnment the 3CS/IG
experierices a main steam lme break inside Containment.

Which ONE of the followmg describes the effect tlus accident will have on the AFW
system? . .

a. Train 1 AFW will be loét until the operators open AFSS-3-007.
b, Train 1 AFW will be lost until the operators close AFSS-3-006. .
c. "Train 2 AFW will be lost until the operators open AFSS-3-007.

d.  Train2 AFW will be lost until the operators close AFSS-3-006.



QUESTION ‘058

- Unit'3 operators have entered ES-1.1, “SI Terxmnatxon,” and are preparing to stan a Mam
Feedwater pump and secure AFW.

The following conditions exist:
- “A” AFW pump 1s running. . ‘
- “B” and “C” AFW pumps are stopped and aligned. for,auto start.
. .- | The NWE locally starts the 3A Main Feed pump.

- The BOP fails to “red flag” the 3A Main Feed pump control switc}; o
. semaphore. .

Which ONE of the following ‘describes the effect of the BOP’s fallure to red flag the 3A
Main Feed pump control switch semaphore? .

a.\ “B*and “C” AFW pumps will automatlcally start
b. AFW pump automatlc start capablhty will be degraded

(
(. Lo c. - The 3A Mam Feed pump will not tnp from an SI signal. ] .
d The 3A Mam Feed pump will automatlcally tnp in 50 seconds.
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QUESTION: 059

_ The following occurs whil;e Uﬁit 3 is in Mode 1

DC Bus 3D23 loses power. .

Which ONE of tixg. following operator actions are correct?

a.

" DC Buses 3D23 and 3D23A(3B).”
A

Shutdown the unit using GOP-103, “Power Operation to !Hot: Standby.” ;

After the unit is stable in Mode 3, then perform ONOP-003.5, “Loss of, -

’

Shutdown the unit using GOP-103, “Power Operation to Hot Stan'db-y and .

perform ONOP-003.5, “Loss of DC Buses 3D23 and- D23A(3B),” .
concurrently with the actions of GOP-103.

Venfy the reactor is tripped using E-0, “Reactor Trip or Safety Injection.” .

When the unit is stable, then perform ONOP-003.5, “Loss of DC-Buses :
3D23 and D23A(3B).” .

., Verify the reactor is tnpped using E-0, “Reactor 'I‘np or Safety Injectxon,” .
-and perform ONOP-003.5, “Loss of DC Buses 3D23 and D23A(3B),”

concurrently with the Inmediate Actions of E-0.
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QUESTION: 060

The following conditions exist on Unit 3:

The ux;it was at 100% power.
A spurious SI occurs.

The of)efators are responding per the EdP network and have just
transitioned to EOP-ES 1.1, “SI Termination.”

i Annunciator A 7/ 1, PRT'HI/LO LEVEL HI PRESS/TEMP alarms .

Assuming all systems function as designed, which ONE of the followmg descrlbes the :

probable cause of this alarm?
a. APRZ PORV has lifted.
b.\ . CVCS Low Pressure relief valve, RV-209 has lifted.

. RHR Header to Loops relief valve, RV-706, has llﬁed

RCP #1 Seal Leakoff relief valve, RV-382, has hﬁed




QUESTION 061

Operators are investigating-an abnonnal increase in ‘countrate on PRMS radiation
monitor R-14, PLANT VENT when they discover pressure in Gas Decay Tank (GDT)

#4 is decreasing.

No planned GDT releases are | xn progress and the Gas Decay Tank Discharge Valve,
RCV-014, is closed. )

-

- After verifying all valve alignments are correct, which ONE of the following describes
the correct operator response? .

' ‘Drrect the SNPO to: - ‘ ' ' Y
_a transfer the contents of GDT #4 to another GDT.
b. verlfy both Auxrlrary Building Exhaust fans are runnmg

¢. stop all mnning Waste Gas compressors.

d. stirt an additional Waste Gas compressor. .




QUESTION: 062

- The Control Room Normal All' Intake radiation mbnitox: M—6642 alarins.

Which ONE of the following descnbes the damper response of the Control Buxldmg

Ventilation System?

a.

Ventilation Inlet dampers D-1A énd D-1B - CLOSE.
East and West Inlet dampers, D-2 and D-3 - OPEN.

. Control Room Recirc. dampers, D-1 lA and D-] lB OPEN.

Venulatlon Inlet dampers, D-1A and D-IB OPEN.
East and West Inlet dampers, D-2 and D-3- - CLOSE.
Control Room Recirc. dampers, D-11A and D-11B - OPEN.

Ventilation Inlet dampers, D-1A and D-1E - CLOSE.
East and West Inlet dampers, D-2 and D-3 - OPEN,.

: Control Room Recirc. dampers, D-11A and D-11B - CLOSE. .

Vennlanon Inlet dampers, D-1A and D-1B - OPEN
East and West Inlet dampers, D-2 and D-3 - CLOSE.

" Control Room Regirc. dampers, D:11A and D-11B - CLOSE. -
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QUES.TION: 663 '
"The following 6enditions exist on I.Jnit 3
- The unit has been shut down at Beginning-Of-Life for eguipment repairs. -
- PRZ level is'heing maintained at 30%. ) . -
- RCS tempe'ratﬁre is 140°F. ’
The followmg events occur 10 days aﬁer the shutdown: . ‘
Tl The running. RHR pump trips and neither RHR pump can be restarted
. - " Operators are unable to establxsh .any other method of RCS coolmg

: Wthh ONE of the followmg 1dent1fies the txme closest to when the RCS will enter

Modedh . . - axy
a. 12 m.ixiu'tes_ L | e
b. 35 minutes
c. .42 r_ninwti‘tes'

d. ‘50 minutes.







QUESTION: 064

A reactor and turbine trip oécurs on Unit 3 while at 25% power.

Which ONE of the following descrxbes the response of the Steam Dump to Condenser
(SDTC) system?

a.  Only2 SDTC valves will arm.
The SDTC system will reduce Tavg to no-load Tavg.

b. Only 2 SDTC valves will arm. : '
The SDTC system wxll reduce Tavg to within 5°F of Tref,

< All 4 SDTC valves w111 arm:.
) The SDTC system will reduce Tavg to no-load Tavg.

d.  All4 SDTC valves will arm. . T
: The SDTC system will reduce Tavg to within 5°F of Tref,




QUESTION 065 o

Unit 3 was operating at 100% with all systems in normal alignment. An SI signal occurs.
All systems'function as designed.

After sequencing is complete, which ONE of the following desc'rlb'es the number of CCW
load(s) attached to the CCW System as it relates to the CCW “Rule of Five?

a. One CCW load
b. Two CCW loads
c. . Three CCW loads

d: . Four CCW loads




QUESTION: 066
The following conditions exist on Unit 3:

- The unit is in Mode 1.

- The operators have entered 0-ONOP-013 “Loss of Instrument Air.” -

- Instrument au‘ pressure is 70'psig and élowly decreasing.
= Allavailable instrument air compressors a@ running.
" Which ONE‘of 'the following wc;uld require the unit to be tripped? - "
Isol’agin.g Instrument Air to the: .
a- Intz.xke area.' '
b . ébntrol Room.
e Contaiﬁ‘xnenf Building.

d. Unit 3 Main Steam Plétform:
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QUESTION: 067 ‘
Unit 3 is at 50% powex: with the 3C Cl'm'rginé pump out of.‘ s;ervice:
The RCO noies the following Control i{éote indications:
- Annunciator G 1/2 “CI-fARGING PUMP HI SPEEIj”‘alarms :

- The only runmng Chargmg pump (BA)isin Auto w:th 100% output
_ demanded.

- PRZ level is 33% and decreasmg
thch ONE of the followmg descnbes the required procedural response?

“-a. -Isolate legdown. If PRZ level continues to decrease, then start the 3B
Charging pump and maximize charging flow. .

b. Isolate letdewn If PRZ level continites to decrease, then. trip the reactor
and turbine and transition to E-0, “Reactor Tnp or.Safety Injectlon ? .

c . Start the 3B Charging pump ‘and maximize charging flow. IfPRZ level )
continues to decrease then isolate letdown.

d: Start the 3B Chargmg pump and maximize charging flow. If PRZ level
continues to decrease, then trip the reactor and turbme and transition to |
E-0, “Reactor Tnp or Safety Injectxon ” <




QUESTION 068

Operators are responding.to a large break LOCA They are currently ahgnmg the ECCS .
system for Hot Leg recirculation. Step.10 of ES-1.4, “Transfér to Hot Leg
Recirculation,” directs the operators to start the second RHR pump.

Which ONE of the followmg descnbes why the operators are dlrected to start the second .
RHR pump?

Starting the second RHR ptimp allows the operators to: .

a. start a second HHSI pump to increase hot leg injection flow.

b, direct flow simultaneously to the cold legs and to the suctlon of the HHSI
pump.

c. align alternate hot leg recirculation using RHR Recxrculatxon Isolatxon
valve, 74 lA. . :

d. ahgn alternate hot leg recxrculatxon using Altemate Low Head Injectxon ‘
) valve; MOV-872 . )
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'QUESTION: 069 R o L \
.Unit 3isin Mode 5 when RCS loop pres’su‘re transmitter, PT-405,0fails high. ‘
Which ONE of the following identifies the effect of this failure on: o . \
1) PRZPORV -455C and PORV — 4'56 . e

2) Loop 3C RHR Pump Suction Stop Valves, MOV-750 and Mév-751‘ ?

PORV-455C - PORV-456 -~ MOV-750° MOV-751
a.  OPENS | NONE o ~ NONE CLOSES .
" b OPENS - NONE CLOSES NONE
¢,  NONE OPENS NONE . CLOSES -

d. NONE, OBENS .* ' CLOSES = NONE®




QUESTION: 070

During operatioh at reduced power the foilowing conditions exist: ”
- Ta-vg is ‘560°F .
- PRZ! level is 45%.

- PRZ pressure is 2230 psxg

’Wluch ONE of the following descnbes the PRZ heater status the RCO should venfy?

a. Control Group - On
Backup Groups — On.

b. - Control Group —=On. .
Backup Groups - Off.

c. Control Group - Off.
Backup Groups — On.

d. Control Group - Off.
Backup Groups — Off.
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QUESTION: 071 : ;

Which ONE of the following would result in the OTAT reactor protection trip setpoint
being reduced? Consider each parameterindependently. )

a. AT increasing _ 3

b. Tavg increasing . .

c. PRZ pressure increasing .
1 .

I d.  Reactor Power decreasing : ,

~







QUESTION: 072

Unit 3 is operating at 100% power with all systems in their normal configuration, when
the Tavg Médian Slgnal Selector, TM-408 falls low.

thch ONE of the followmg descnbes the plant response?

a.

b.-

.C.

d,

Control rods wxll not move. Chargmg pump speed,will increase.

Control rods will not move Charging pump speed wxll decrease

‘

Control Rods will step in. Charging pump speed will i increase.

Control rods will step in. Chargmg pump speed will decrease.
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QUESTION: 073 ." . | o .

-

. The fol!owiné refueling conditions exist on Unit 4: . S . .
- Core off-load is in progress. , '
- A reactor vessel refueling cavity seal failure occurs.

Assuming no operator action, which ONE of the following dégcribes the effect on a fuel- -
assembly that is upright in the spent fuel pool upender?

. The filel assembly in the upender will be:
a. ‘completely uncovered.
'b. p;irﬁally'uncovered. X

.¢t.  covered with a few inches of water ahove it. .

d.." . covered with a few feet of water abgve it.







QUESTION: 074
- The following ihitigl conditions existed on Ijnit 3

- Reactor power was 80% and stable.

- Tavg was equal to Trcf

- All systems are in automatlc
A-small steam leak then occurs on n the main steam header '

Wluch ONE of the following descrlbes the actual reactor power and Tavg (pnor to-
operator action), and the proper operator response? - <t

Rx ng&er : Tavg erator R nse

‘ a.  lower - . lowe{: " Reduce T.urbine Load
; b - higher - lower Zfledt.x’ce Turbine Load
‘ e lower . }.ﬁgher, Insert Control Rods
T o .d higiu;.r _. ' l;ighe; o Insert Control Rods




QUESTION: 075
* . The following conditions exist on Unit 3:
- The unit is in Mode 3 with Tavg at 545°F.

- The Steam Dunip to Condenser (SDTC) system Mode Selector switch is
in the MAN posmon

. - ' PT-464 Steam Header Pressure, fails high.
" Which ONE of the followmg descnbes the effect on the SDTC system? -
. a_. Only 2 valves will open and wﬂl remain open.
b. Only 2 valves will open and then close when Tavg decreases to 543°F

C.\ All4 valves will open and will remain open.

d. All'4 valves will open and then close when Tavg decreases to 543°F
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QUESTION 076 .

Which ONE of the following 1dent1ﬁes the first PRMS detector that should respond toa
SGTR and the eﬁ‘ect on the detector?-

a. Condenser Air Ejector-Monitor, R-lS R-15 will be automatlcally
isolated.

b. Condenser Air Ejector Monitor, R—lS R-15 wxll not be automatxcally
™ visolated. .

c. Steam Generat_or Blowdown Sample Monitof, R-19. R-19 will be
automatically isolated.

d. Steam Generator Blowdown Sample Moniior, R-19. R-19 will not be
automatically isolated, .
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QUESTION: 077

Unit 3 is at 100% power with its Startup Transformer out-of service when an automatic
reactor trip occurs.

- The 3A EDG starts and repowers the 3A 4KV Bus.
- The 3B EDG locks out and cannot be restarted 4

The Unit 3 ANPS dlrects the BOP to use’ 3-ONOP-004 3, “Loss of 3B 4KV Bus,” to
restore power tb the 3B 4KV Bus .

Which ONE of the following descnbes how power will be restored to the 3B 4KV Bus‘7 .

Power wﬂl be restored to the 3B 4KV Bus from the:
a ° 3A4KVBus.

b. Unit 4 Startup Transformer.
.. 3C4KVBus.

-d. Station'ﬁlackout Tie Line,
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QUESTION: 078

‘Unit 3 is operating at 100% power with all systems in normal alignment, 3AEDG is -
being run for, survelllance purposes and is presently tied to the 3A 4KV Bus.

The followmg events occur:
- A main generator lockout ocaurs..

- Startup transformer breaker 3AAOS, fails to close and is mechanically
bound

- :_3A Reactor Coolant Pump breaker, BAAOI, fails to automatically oben.’ T
. Which ONE of the follbwing_ describes the'required operator response?

" a Manually open EDG breaker 3AA20, strip the 3A 4KV Bus using .
) 3-ONOP-004.2, “Loss of 3A 4KV Bus ” and manually close breaker
. 3AA20. :

b.  Manually open EDG breaker 3AA20 strip the 3A 4KV Bus using
3-ONOP-004.2, “Loss of 3A 4KV Bus ” and verify breaker 3AA20 ,
automatically closes.

. C Venfy EDG breaker 3AA20 automatically opens strip the 3A 4KV Bus.
* using 3-ONOP-004.2, “Loss of 3A 4KV Bus,” and manually close breaker
3AA20. .

d. - Venfy EDG breaker 3AA20 automatrcally opens, stnp the 3A.4KV Bus
" - using 3-ONOP-004.2, “Loss of 3A 4KV Bus,” and venfy breaker 3AA20
: automatxcally closes ) )

.




_ QUESTION: 079 L

Unit 3 is at 100% power v«;hen PRMS R-3-20, Reactor Coolant Letdown, radiation
monitor alarms. HP investigates and surveys the area in the Pipe and Valve Room.

The HP Supervisor reports the presence of a Hot Spot that is readmg 400 mr/hr at 2 feet
from the source.

Which ONE of the i‘ollowing identifies the distaflce from the source at which the

* measured-dose rate will be 100 mr/hr?

a. . 4feet .o IEER
b, 6 feet
c. 8 feet

d. 10 feet







QUESTION: 080

Unit 3 was eperating at 100% power when the followiﬁg events occurred:

- A Loss of Off Site Power (LOOP)

- The 3A1 Circulating Water Pump breaker did not open.

- All other systems responded as designed.

Which ONE of the followmg descnbes the effect on the 3A EDG breaker and 3A

Sequencer?
.3A EDG Breaker
. a. Remains OPEN
b.’ Remains dPEN |
o Automanca.lly CLOSES
‘.. Automaticilly CLOSES

3A Sequencer-

Sequences

Does Not Sequence’

" Sequences

Does Not Sequence
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QUESTION: 081
Units 3 and 4 are at 100% power wherr the following events occur:
- Aloss of instrument air has occurred on both units,

- 3CM,3CD, 4CM, and 4CD instrument air compressors are all inoperable.

- The NPO has been drrected to open the four. mch Servrce Arr Supply to
Unit 3/Unit 4 Tie Valve. )

- The NPO reports that the four inch Service A1r Supply valve cannot be
opened. i

Which ONE of the following describes the correct operator response?
Open t.he: ’ ‘ | !

d. Service Air Suppiy valve from Units 1 & 2,

b. Ingr"ﬁmenf Air supply valve from Units 1 & 2.

c. Breathiné Air quply cross-tie valve.

d.- twoinch Se'.r'yice A1r Supply to Unit 3/Unit 4 tie valve.
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. QUESTION: 082 o

Both umts are at 100% power when a leak occurs in the Main Fire Loop. Loop pressure
decreases continuously., ,

Which ONE of the followmg xdenufies the first pump to auto start?.
a. The standby Jockey pump
b. The standby Service Water pump

.
[1 .
.
» . .

c. . The Electric Fire pump ' .-

d. The Diesel Engine Driven Fire pump




QUESTION: 083 L

Unit 4 is at 100% power.

.
»

Which ONE of the following condmons per Tech. Specs., would requxre action to be '

taken within one hour to prevent a plant shutdown?

»

a. RCS Tavg is 543°F,

b. 'RCS pressure boundary leakage is 1 gpm.

c. . Containment pressure is 3.1 psig.

d.. Containment temperature is 122°F.
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QUESTION: 084
A large break LOCA occurred on Unit 4

In accordance with ODI-CO 028, “Conduct of Crew Briefs,” Which ONE of the
following describes when a crew bnef should be held durmg performance of the’ EOPs?

a. After Stcp 4 of E-Ois complete
b. After Step 16 of E-Ois complete
. ¢ Upon transntxonmg from E-0.

d.  Upon making the Emergency Classification.
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QUESTION: 085

W}uch ONE of the following identifies the minimum shift manning requirements with
one unit in Mode 1 and the other unit in Mode 57

NPS _SRO RO . A0 °  STA
a1 2 . . 3 3 IR
b1 .1 TN o

e 1 e 3 3 0 -
d 1 1 2 3 1




QUESTION: 086 L. ‘ “ .
Unit 4 is m Mode 3 and PRZ pressure is 2235 psig.

Which ONE of the following conditions results in HHSI Loop B hot leg check valve
4-874B, having acceptable 1eakage in accordance with Tech Specs.?

a. The currently measured leakage is 5.5 gpm.

b: The prekusly measured leakage was 0.5 gpm and the currently measured
leakage is 3.0 gpm : .

c. - The previously measured Jeakage was 2.0 gpm and the currently megfsured
leakage is 3.7 gpm.

d. The prevxously measured leakage was 4.0 gpm and the currently measured_

_leakage is 4.4 gpm.
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QUESTION: 087

En'gineering is, analyzling épénf Fuel Pool Heat Exéhang‘eti performance and requests the
Operations Department to swap to the low SFP pump suction, from the currently
configured high SFP pump suction as described in the FSAR.

Which ONE of the followirllg describes the required action(s) to cog;q')ly with
Engineering’s request? . )

& A “One Time Only” approved OTSC is required.
b. Stationing an operator as 8 Human Clearance is required.

c. An hpproved S‘a.fety Evaluation and Te;npoi'axy Procedure are required. . .

d. Operations Manager approval is required and the NRC Resident must be-
: onsite. - | _ : . .
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QUESTION 088
A Safety Evaluation has been performed on a proposed plant change and the results

reveal that the margin of safety, as defined in the basis of Tech. Specs, will be reduced.

Which ONE of the following is correct regarding 1mp1ementatxon of the proposed
change? .. '

a. An Unreviewed Safety Question exists.
NRC authoriz.ation is required prior to implementation.

‘ w “b.  An Unrevxewed Safety Question:exists.
'NRC authorization is NOT required prior to xmplementatlon

.C. An Unreviewed Safety Question does NOT exist.
NRC authorization is requu'ed prior to implementation.

An Unrewewed Safety Questxon does NOT exist.
‘ NRC authonzatlon is NOT required prior to 1mplementatxon
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QUESTION: 089
Unit 3 is at:100% power.

Mechanical Mamtenance is planmng to erect a scaffold over Redundant Safety Rclated
Equipment to perfoxm trouble shootmg actmtxes .

Which ONE of the followmg xdentxﬁes the hxghest level of approval required for the

erectxon of this scaffolding?
a. ANPS §
‘b, NPS ' '
‘ ' c (5perations Supervisor

d - Operation_s Ma}xager




QUESTION: 090 *

The following.eonditlons existf
- Unit 3 isinMode 1.
- U;ilt 4 is in Mode 3.

Which ONE of the following correctly states the Condensate Storage Ta})ks system '
minimum indicated volume required by Technical Specifications and its basis?

VOLUME BASIS
a. 210?000 gal. s Provides sufficient volume to cooldown the RCS to
below 350°F w1thm 15 hours. .
b. - 2l0,000 gal. Provides sufficient volume to maintain the RCS,

at Hot Standby for approximately-23 houfs.

c. 4§6;000 gal. - Provides sufficient volume to cooldown the RCS to,
below 350°F w1tlun 15 hours. .
d. 2120,000 gal. Provides sufﬁcnent volume to mamtam the RCS

=

at Hot Staudby for approximately 23 hours.




-

QUESTION: 091

-

‘A spent fuel assembly is suspended from the mampulator crane when a Refueling Cavnty )
seal failure occurs.

Which ONE of the following describes the correct manipulator operator response?
a. Insert the ass;mbly into the upender and unlatch it.

b. Insert the assembly into the upender and leave it latched.

c. . ~ Return the assembly to the reactor core arid unlatch it. .

d.  ‘Return the assembly to the reactor core and leave it latched..
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QUESTION: 092°

Rod Control is in automati¢ with reactor and turbine power stable.

Which ONE of the following rod control inputs will result in control rod speed of 40
steps per minute? . . . .

Tavg greater thaﬁ Tref by:
a. 2.75°F ,
b. 3.0 ° N , ' .
-c.  325F | e .
d.  4.0°F ,' , , ' ‘
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 QUESTION: 03 o
As the NPS you have been asked to approve the attached Liquid Release Permit.
Which ONE of the following xdenuf ies why you should not approve the penmt? |

a. The specxﬁc activity of the tank is too high.

b. The 'specific activity‘is for the wrong tank.

c.  TheZ.C/EC limit has been exceeded.

d.  The Administraﬁ;re l‘lelease limit has been exceeded.

.
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QUESTION' 094 : ' .

Which ONE of the following condmons would prevent the use of the Post Accident

Containment Vent system to purge Containment atmosphere to the in-service Gas Decay

Tank (GDT), following a LOCA? :
a. Containment pressure is 15 psig.
b.  Containinent temperature'is 120°F.

[ In-service GDT Oxygen concentration is 1%.

d. In-service GDT Hydrogen concentration is 3%.

N
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QUESTION: 095 *. e : . ‘
The following conditions exist on Unit 3:

- The ANPS is reading ECA-2.1, “Uncontrolled Depressurization of All
Steam Generators,” step 3, “Control Feed Flow to Minimize RCS
Cooldown.” IR S .‘
- The operator observes 3B S/G pressure is now increasing.
' Which ONE of the following is the correct operator action?
a Return to step 1 of ECA-2.1. 3

b, Continue in ECA-2.1 from the present step.

‘0

Trz.msigion to E-2; “Faulted Steam Gerierator.”

d. 'I:rangition,to ];‘.-1, ‘Loss of Reactor or Secondary Coolant.”
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, QUfSSTION' 096

:

" Unit 4 is. operatmg at 100% power thh the 4A EDG out of service when the followmg
sequence of events occur: ] .

The operators respond to an ATWS using FR-S.1, “Response to Nuclear
Power Generahon/ATWS »

The reactor tnps due to a loss of off-site power.

The 4B EDG locks out and cannot be restarted.

* Which ONE of the followmg descnbes the correct operator response?

.a.

b
« N\
.

Complete the actions of FR-S.1 and then go to ECA-0.0, “Loss of All AC

- Power.” Power will be restored to a 4KV bus usmg the appropnate ONOP

upon complenon of ECA-0.0.

Complete the actions of FR-S.1 and ‘then goto ECA-O 0, “Loss of AllAC

Power.” Power will be restored to a 4KV bus using the appropnate ONOP

" while perforrmng the actions of ECA-O 0.

Stop performance of FR-S.1 and immediately go to ECA-0.0, “Loss of All
AC Power.” Power will be restored to.a 4KV bus using the appropnate
ONOP 1 upon the completion of ECA-0.0. :

Stop performance of FR-S.1 and unmednately go to ECA-0.0, “Loss of All
ACPower.” Power will be restored to a 4KV bus usmg the appropnate
ONOP whlle perforrmng the actions of ECA-O 0. . :
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" QUESTION 097

" Unit3isat 100 % power when all Umt 3 annunciators are suddenly blacked out.
No reactor trip signals are generated and the plant remains at full power.

Which ONE of the followmg describes the correct operator response?

a.

-b.

Maintain the plant stable and dispatch an operator to DC Bus 3DOl
. Mamtam the plant stable and dispatch an operator to DC Bus 3D23.
Trip the reactor and turbine and dxspatch an Operator to DC Bus 3DO01. -

Trip the reactor and turbine and dispatch an operator to DC Bus 3D23.
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QUESTION: 098

‘Which ONE of the following would re.quire the Emergency Coordinator to direct
Chemistry personnel to perform 0-EPIP-20126, “Off-site Dose Calculations™?

a. A Site Area Emergency has been declared.
b. An Owner Cc;qtrolled Area Evacuation has-been implemented.
c. PRMS R-14, Plant Vent, has increased by a factor of 20..

.d. Airbomne radioécti‘{ity !e‘;els outside of plant buildings are 10% <.>f DAC. .
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QUESTION: 099

~Which ONE of the followmg is the minimum PARs that shall be issued for a declared
General Emergency? .

a.

Shelter all people within a 2 mile radius from the plant and S miles in the
down wind sectors.

Shelter all people within a 2 mile radius ﬁ'om the plant and 10 mxles in the
down'wind sectors. )

. Evacuate all people within a 2 mile radius from the plant and shelter all

people between 2 and 5 miles in the down wind sectors:

"Evacuate all people within a 2 mile radius from the plant and shelter all

people between 2 and 10 miles in the down wind sectors.

¢
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QUESTION: -100

. Unit 3 was operating at 100% power when the reactor tripped. The RCO observes the
following Intermedlate Range trace on NIS recorder NR-45: °

N-35Treco on KR-45 '
. \

w10 w0 et T et ot ot
" Amps

Which ONE of the followmg statements is correct?

a. N-35 is under compensated.
The NIS Source Ranges will automatically energxze

b. N-35 is under compensated. '
.*The NIS Source Ranges will not mxtomatncally energxze;

‘ C. N-35 is over compensated
.. The NIS Source Ranges will automatxcally energlze

d . ~ N-35 is over compensated.
* The NIS Source Ranges will not automatically energize.
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